B.A. ll[;lmmﬂa ﬁ

AHITIMUCKUAN 2

93bI K s cryentos

ABTOMOBILTE-
CTPOUTEJIBHBIX
v CIIELHATIBHOCTE




B.A. lllasxoBa

AHIJINUCKHH SA3bBIK

JJISl CTY/IEHTOB AaBTOMOOMJIECTPOUTEILHBIX
crnenuaJabHOCTER
cpeaHuX NPo(decCHOHATBHBIX YUeOHbIX 3aBeleHUil

YueOHOE mOCOOHE

Homyiieno

MunuctepcTBOM 00pa30BaHUsI U HAYKH
Poccuiickoi ®enepanuu

B Ka4ecTBE y4eOHOro 1mocoous

JUISL CTYICHTOB, 00yJalomuxcst

o cnenuansHocta 1705

«TexHnueckoe 00CTy)KUBaHUE I PEMOHT
ABTOMOOMIIEHOT'O TPAHCTIOPTA»

MockBa «Beicmas mikona» 2008



VIK 811.111
BBK 81.2 Aurn
1 70

PemeunseHTsH:

o-p TexdH. Hayk, mnpod. SA.C. Areiikun (MoCKOBCKHIA
roCylapCTBEHHbBIN UHAYCTPUAIbHBIA YHUBEPCUTET);

KaHa. TexH. Hayk, jgoin. H.A. boapoB (I'OY «MockoBckuii
aBTOMOOWIBHBIN KoJIemk» mpu AMO 31JI)

IInsixoBa A.B.

AHTTIMICKMIA  S3bIK  JUIA  CTYAEHTOB aBTOMOOMJIECTPOHUTEIbHBIX
CIELUAIBHOCTEH CpeAHUX MpOo(eCcCHOHANBHBIX YYEOHBIX 3aBEACHUIL:
Vueb. mocodue/B.A. Ilnsaxosa. — M.: Breicmas mkoia, 2008. — 120 c.:
NIIJI.

ISBN 978-5-06-005076-9

OcHoBHas 11eJIb TOCOOUS — Pa3BUTHE HABBIKOB YCTHOM PEeUM U YTEHUS
TEXHUYECKOH JMUTEepaTypbl JAaHHOTO NPOQHIS HA AHTIMICKOM S3bIKE.
TekcTel mocoOust 0ObEAMHEHBI TEMATHUECKU U JAIOT MpejcTaBieHne 00
YCTPOHCTBE aBTOMOOMJIS, €M0 OCHOBHBIX y3J1aX M MEXaHHU3MaX.

B kHury Ttakxke BKJIIOYEHBI TI'PAaMMATHYECKUM CIPABOYHHUK B
TabIMIaxX, CIUCOK HauboJsiee yHOTPeOUTENbHBIX COI030B, MPEJIOTOB M
Hapeuuii, CIHUCOK HECTaHJApTHBIX IJIArOJIOB W aHIJIO-PYCCKUH
TEPMHUHOJIOTHYECKUH CIIOBAPb-MUHUMYM.

ITocobue npeaHa3HayYeHo AJIS CTY/IEHTOB aBTOMOOMIIECTPOUTEIBLHBIX
CHeLUATbHOCTEH CpPeAHUX MPO(EeCCHOHATBHBIX Y4EOHBIX 3aBEJICHUM.
Kuura Ttaxke MoXeT OBITh pEKOMEHJOBaHAa CTyAEHTaM BY30B,
CIeUaIMCTaM,  TOJYy4YaloUMM  BTOpOE  BhICIIee  OOpazoBaHHE,
CIIyLIaTeJsIM KypCcOB MOBBIIIEHUS KBUTM(UKAIIMHN U UHKEHEepaMm.

© OAO «M3nmarenscTtBO «BrIcmag mxkonay», 2008



IIpenucaosue

Hacrosimmee ydeOHOe mocoOme mpeaHazHA4eHO UIsl CTynaeHToB I
sTana OOy4YeHUs aBTOMOOWJIECTPOMTENbHBIX (PaKyJIbTETOB CPEIHUX
npoeccuoHaIbHBIX Y4eOHBIX 3aBeACHUl M paccuuTaHo Ha 90 uacoB
ayIMTOpHBIX 3aHATHH. Llenpio mocobus sBisiercs (HOpMUpOBaHHE
HJIEMEHTAPHBIX HABBIKOB YCTHOW pEYU MO CHELUATBHOCTU CTYJIEHTOB U
YTEHUS JUTEPATyphl 1O JAHHON CHENMATIbHOCTH HA aHTJIMHCKOM S3BIKE
JUTSL U3BJICUEHUST HEOOXO0AUMOUN MH(POPMAITUH.

[TocoOue cocTouT W3 TPEX pa3feioB, MNPUIOKECHUS, HUMEIOIIETO

CIPaBOYHBIA XapakTep, U TEPMUHOJIOTMYECKOTO CIOBapsI-MUHHUMYyMa I10
aBTOMOOMIIECTPOCHHUIO.
Paznen I (Part I) mpenHasHaueH A 4TEHUS U PA3BUTHUSA DJIEMEHTapHBIX
HaBBIKOB YCTHOM peud MO CIEHUATBbHOCTH CTyJAeHTOB. OH BKIIOYAeT B
ceOst 10 6mokoB (Unit). B xaxxaplii OJI0K BXOJAT: OJHMH TEKCT, OJUH HIIH
JiBa IMAJIOTa, a TaK)Ke MPEATEKCTOBBIC M MOCIETEKCTOBBIEC YIPAKHEHUS,
KOTOpbIE COJEpKaT MHUHMMYM TEPMHMHOB IO CHEHHMATBHOCTH U
HaNpaBjCHbl Ha CHATHE TPYAHOCTEH MNPH IMOHUMAHUHM TEXHUYECKHX
TEeKCTOB. Bce ympakHeHHs M 3aJaHUsl TOCTPOCHbI HAa 3HAKOMOM
rpaMMaTH4ecKOM MaTepuane sl aKTUBHOTO OBJIAJICHUS JIEKCHUECKUM
MUHHUMYMOM Tpo(ecCHOHAIBbHOM HampaBieHHOCTH. IlocieTekcToBbie
YIOPKHEHHUsS CIOY)KaT I 3aKperjieHus HW3y4eHHOro Mmarepuaia u
ABIISIIOTCSL KOHTPOJIbHO-00y4aromuMu. B KoHIle Kakjaoro Oioka JaH
CIIOBapb.

Paznen II (Part II) mpennHa3zHaueH AJsl caMOCTOSITENBbHOM pabOThI
CTY/IEHTOB U BKJIIOYAET MPOMEKYTOUHbIE TPEHUPOBOYHbIE KOHTPOJIbHBIE
3aJlaHus JUIs Pa3BUTHUSL HABBIKOB YCTHOM pedu U JUIs IepeBo/a.

Paznmen III (Part III) cocrout u3 15 vacreit (Sections), BKIIIOYAIOITUX
3aJjaHds AN YTeHHS U LEJIOCTHOTO BOCHPUATHS TEKCTa, Pa3BUTHS
CIOCOOHOCTH a/IeKBaTHOI'O TIEpeBOJia M COCTaBIEeHUs aHHoTanuil. B
JAHHBIM pa3lieN BKIIOYEHbl MaTepualibl U3 Pa3IUYHBIX HCTOYHHKOB B
COKpAaIlEHHOM, HO HE aJaNTHUpPOBAaHHOM BapuaHTe O0e3 HapylIeHUs
0COOEHHOCTEH CTUIIA SI3bIKa HAYYHO-TEXHUYECKON CTaThH.

TemaTuka TEKCTOB BKJIIOYAET:

- HCTOpHIO aBTOMOOUIecTpoeHus B Poccuu 1 3a pydexom;

- ONMCAaHUWE HEKOTOPBIX CHCTEM OTEYECTBEHHBIX U 3apyOekHBIX
aBTOMOOMIICH;



- HEUCHPAaBHOCTU B aBTOMOOMJIBHBIX MEXaHH3Max M CHCTEMax, a
TaKXe CIOCOObI UX YCTPaHEHUS;

- aBTOMOOWJIM U OKPYKAIOIIas cpenia;

- BOIIPOCHI 0€30TMaCHOCTH HA JOPOTaX.

Uérkas 1mOCIEAOBATEIbHOCTh  BBINOJHEHUS  3aJaHUM  YPOKOB
MO3BOJIUT  OOY4YalOUIMMCS  OBJQJETh TEPMHUHOJOTHEH  HM3ydyaeMou
TEMaTUKH, NpUOOPECTH HAaBBIKM BeICHHA Oeceqpl M IEPEeroBOpOB,
HAyYUTHCS  COCTABJIICHUIO AHHOTAUMH M  KPAaTKOMY  H3JI0KECHHUIO
COJIEPKAHUS CTATEM.

B npunoxeHuH npeacTaBiCHBI: CIMCOK HECTAHIAPTHBIX TJIAr0JIOB;
rpaMMaTUYecKuii  CIpPaBOYHMK B  TaONUIAX; CHOHCOK  Haubojee
YIOTPEOUTENBHBIX MPEAJIOrOB, COI030B, HAPEUNH, COCTaBHBIX MIPEJIOrOB;
eIMHUIBI M3MEpeHMs, a Takke Haubojiee YacTO UCIOJIb3yeMble
COKpAILlEHHSI.

AHTII0-pYCCKHI TEPMUHOJIOTMYECKHH CIIOBApb-MUHUMYM I103BOJISIET
HaiTH TOYHOE 3HAYEHHWE TEPMHMHA, YCTpaHsIs HE0O0XOAWMOCTb
MI0JIb30BaThCs OOJIBIIMMU CIICIIUATN3UPOBAHHBIME CJIOBApsMH, 00Jerdas
MOHUMaHHUE TEKCTA U YCKOPsis Mpoliecc 00ydeHusl.

B KoHIle KHUTH ITpeICTaBIEHbI KIIOUU K YIPaXXHEHUAM U3 pasjena l.

MeToauuyeckue PEeKOMEHIAIIUHU IIPENoAaBaTECIAM

Paboty Hag kaxxaeiM OJIOKOM pasfnena | pekoMeHIyeTcss HaunHaATh C
BBEJICHHUS M TMOCJIEAYIOUIETO 3aKpEeIUICHHsS JIEKCUYECKOTO MaTepuana,
JAHHOTO B HAayYajie ypoKa U MMEIOLIEr0 HEMOCPEICTBEHHOE OTHOLLICHUE K
TEKCTY ypoKa.

[Tocne paGoThl HajJ TEXHHMYECKUM TEKCTOM U BBITIOJIHEHUS BCEX
MOCJIETEKCTOBBIX YIPaXXHEHUH 11 oOecriedeHus paboThl HA/J TUATIOTOM
MPEIO/IaBaATENb MOXKET MPOBECTU KOHTPOJIb JIEKCHYECKOTO MUHUMYMA 110
Teme. UToroM Kakaoro OJI0Ka sSIBISIETCS yMEHUE yUYalIuXcsl BECTH Oeceny
Ha 3JIEMEHTApPHOM YPOBHE U YMEHHE COCTAaBUTh KPATKHW paccka3s o
JTAaHHOU TeMeE.

Paznen Il mpennazHavaetcs i CAaMOCTOSITETIbHONM pabOThI U MOXKET
OBITH BBITIOJTHEH 01 PYKOBOACTBOM TIPETIOIaBaTEIs.

Pazgen Il mpenHa3sHayeH IS YTEHHS C OOIIMM  OXBaToM
COJIepKaHusl, MOMCKa MHPOPMAIINH, a TaKKe JUIs aeKBAaTHOTO MEPeBoa



TekcToB. [Ipu pabore Haj TEeKCTaMU ClEAyeT YACTSITh BHUMAaHUE UX
LETIOCTHOMY BOCIIPUSATHIO.

[IpounTaB TEKCT, ydaluiicss OOJKEH CKas3aTh, O YEM HJIET pPEUb.
[Tonnmanue conepkaHusl TEKCTAa MPOBEPAETCS MPU MOMOLIM 3aJIaHHMH,
pPa3MEILEHHBIX 0 U II0CJIE TEKCTa, OTBETOB HA BOIIPOCHI IO-PYCCKU WIH
MO-aHTJMICKY, B 3aBUCHMOCTH OT TMOJTOTOBKHM OOyJalomuXcs U
aJIeKBaTHOCTH TIepeBOJa OTIENIbHBIX maparpadoB Tekcta. [Ipu nepeBone
TEKCTOB MOXKHO OOpamarbCsi K TpaMMaTHYeCKuM Tabnumam u
TEPMHUHOJIOTUYECKOMY CIIOBAPIO.

Becby marepman HOCUT MH(OPMATHUBHBIN XapakTep, YTO IMOBBIIIACT
MOTHBAIIMIO  HM3Y4YEHHUS  AHIJIMHCKOTO  fA3bIKa  MPO(ECCHOHATBHOM
HAaIPABJIEHHOCTH.



PART 1
Unit One

Text: Automobile Production
Dialogue A Dialogue B

IIpearexcroBble ynpaKHeHUs
The exercises to be done before reading the text

Yupaxnenue 1. [Ipoumume cnosa
3aNOMHUME UX PYCCKUE IKEUBANECHINbI.

technician — TexHuk

deal with manufacturing cars -
HMMETH JIEIO C TPOU3BOJCTBOM
aBTOMOOMIICH

work out the technology of
manufacturing processes —
pa3pabaTeiBaTh TEXHOJIOTHIO
MMPOU3BOACTBCHHLIX ITPOICCCOB
put into mass production —
3aIlyCTUTh B MaCCOBOC
MIPOU3BOJICTBO

subject to tests — noaBeprathb
HUCIIBITAHUAM

dependable brakes - HanexHbIe
TOpMO3a

u ciosocouemaHus u

driving safety —
0€301aCHOCTh YIpaBJICHUS
aBTOMOOMIIEM

long service life - nosruii cpox
CITY>KOBI

rapid acceleration —
IIPUEMUCTOCTh

ease of maintenance —
IIPOCTOTA TEXOOCTY)KUBAHUS
meet up-to-date demands
(requirements) — oTBeuaTh
COBPEMEHHBIM TPeOOBaHUSAM
be stable on the road — ObITh
YCTOMYHMBBIM Ha J10pOTe
ignition system — cucrema
3a)KUTaHUS

fuel consumption — pacxon
TOTLIUBA

car — JICTKOBOI aBTOMOOUITh
truck - rpy30Boii aBTOMOOHITL

Ynpaxknenne 2. [lepeBeaurte npeaio:KeHUusi HA PyCCKHUil A3bIK,
o0pamasi BHUMaHMe HA TEPMHUHBIL.
1. After graduating from the college I shall become a

technician.
2. I shall deal with manufacturing cars.
3. The production of the automobile comprises five phases,

such as: designing, working out the technology of manufacturing
processes, laboratory tests, road tests, mass production.



4. The automobile of today must have high efficiency, long service
life, driving safety, ease of maintenance and be stable on the road.
5.The automobile must meet up-to-date demands, that is, it must
have rapid acceleration, smooth-acting clutch, silent gearbox,
dependable braking and steering systems, dependable ignition
system.

6.Before the car is put into mass-production it must be subjected to
laboratory and road tests.

7.Technicians should know the technology of manufacturing
processes.

Ynpaxknenne 3. [Ipoutute U nepeBeIuTe HHTEPHANHMOHAIbHBIE
CJIOBA.

Specialist, automobile, industry, production, phase, technology,
process, test, mass, fact, service, comfortable, ecological, method,
type, corrosion, material, optimal, problem, mechanism, control,
system.

Ynpaxuenue 4%, IlepeBeaure cjioBa, odpamasi BHUMaHUe HA
3HayeHHe cyddurcos.
Industry — industrial; to produce — production — producer; to

design — designer; technology — technological —
technologically; to require — requirement; efficient — efficiency
— efficiently; safe — safely — safety; to maintain —
maintenance; comfort — comfortable; ecology — ecological; to
resist — resistance — resistant; to operate — operation —
operational; to accelerate — acceleration; to construct —
construction.

IIpoutuTe W mnepeBeIUTE TEKCT, a 3aTeM BbINOJHUTE
cJey0IIUe 32 HUM YIPaKHEeHHS.
TEXT
Automobile Production

I study at the college, at the automobile-construction department.
When I graduate from the college I shall become a technician. All
specialists in automobile industry dealing with manufacturing
automobiles (cars or trucks) must know that the production of the
automobile comprises the following phases:

-designing;

-working out the technology of manufacturing processes;

-laboratory tests;



-road tests;
-mass manufacturing (production).

Why is it necessary to know all these facts? It is important to
know them, as before the automobile is put into mass production it
should be properly designed and the car must meet up-to-date
requirements. What are these requirements?

The automobile must have high efficiency, long service life,
driving safety, ease of handling and maintenance, pleasant
apperance. Also it must be comfortable and ecological. In order to
obtain these qualities the specialists should develop up-to-date
methods of designing cars using new types of resistant to corrosion
light materials. Also it is important to know computer sciences
because computers offer quick and optimal solutions of the
problems. Besides they are used for better operation of
mechanisms in cars.

Before the car is put into mass production the units of the car are
subjected to tests in the Works laboratory and then the car
undergoes a rigid quality control in road tests. Why are these tests
required? What qualities are required of the automobile? They are
needed because the modern automobile must be rapid in
acceleration, have smooth acting clutch, silent gearbox, dependable
braking and steering systems, dependable ignition system, low fuel
consumption and be stable on the road.
IMocaerekcToBbIe yHPaKHEHHS

The exercises to be done after reading the text
Yupaxuenue S. Haliiure v BBIIUIIUTE U3 TEKCTA CIIOBA,
OTHOCSILITECS:

a) K IIPOU3BOJICTBY aBTOMOOWIIS;
0) K XapaKkTepucTUKaM aBToMoOmis. Jlaiite ux pycckue
SKBUBAJICHTHI.

Ynpaxknenue 6. Haiiiute B TEKCTE OTBETHI HA BOIIPOCHI:
1.What department do you study at?

2.What will you become after graduating from the college?
3.What should automobile specialists know?

4.What phases does the production of the automobile comprise?
5.What requirements must modern automobiles meet?



6.Why are automobile units and mechanisms subjected to labo-
ratory and road tests?

7.What qualities are required of the automobile?

8.Why are computers used in cars?

Ynpaxaenue 7. 3a110JHUTE NPOITYCKH NPEIJIOTAMHU U [IEPEBEUTE
MIPEIIOKEHUS HA PYCCKUM SI3BIK.

1.After graduating ... the college I shall deal ... manufacturing cars.
2.The production ... the automobile comrises five phases.
3.Specialists ... automobile industry should develop up-to-date
methods... designing cars.

4.In producing automobiles new types ... resistant... corrosion light
materials should be used.

5.All cars udergo a rigid quality control... tests.

6.The car is put... mass production after laboratory and road tests.
7.Technicians must know the technology... manufacturing proc -
€sses... cars.

YupaxHenue 8. 3akoHUNTE MPEATOKEHUS, BHIOpaB
COOTBETCTBYIOLIMI BapUAHT OKOHYAHUSL.

1. An automobile specialist deals with ....

a.working out technological processes;

b.constructing and manufacturing cars;

c.producing new resistant to corrosion light materials.

2. The production of the automobile comprises ...

a.designing and mass production;

b.manufacturing and tests;

c.designing and working out technological processes, laboratory
and road tests and mass production.

3.The cars are subjected to tests in order....

a.to work out new technological processes;

b.to meet up-to-date requirements;

c.to shorten the time between designing and manufacturing.
4.The qualities required of the automobile are ....

a.high efficiency, long service life, driving safety and pleasant
appearance;



b.smooth acting clutch, silent gearbox, dependable braking and
steering systems;
c.new types of resistant to corrosion materials.

a.high efficiency, long service life, driving safety and pleasant
appearance;
b.smooth-acting clutch, silent gearbox, dependable braking and
steering systems;
c.new types of resistant to corrosion materials.
Yupaxnaenue 9. [Ipouture nuanor «A».

DIALOGUE A
Nick: Hullo, Boris!
Boris: Hullo, Nick. How are things?
N.: Perfectly well, thank you. I entered the automobile construction
college.
B.: That's nice, what will you become after graduating from the
college?
N.: I'll become a technician and deal with manufacturing new cars.
B.: Why did you choose this profession?
N.: I enjoy learning about a car. I enjoy working with metal. And
most of all I enjoy being able to construct cars. B.: Do you enjoy
the course? N.: Yes, of course.
B.: Tell me about your profession in detail, please?
N.: With great pleasure. As you know an automobile must be safe,
have smooth acting clutch, silent gears, excellent brakes and
steering system. And in order to achieve these qualities a lot of
work must be done.
B.: Thank you very much for your information. I believe you like
your profession very much.
N.: Oh, yes, very much, indeed.
Ynpaxaenue 10. 3anummre peruinku Huka Ha ayauokacceTy, a B
naysax rnoBropsiire permku bopuca (MoxxHO paboTaTh B mape).
Ynpaxaenue 11. 3anumure peruku bopuca Ha ayanokaccery, a
B [1ay3ax NOBTOpsiTe pernku Huka.
Ynpaxknenue 12. Paspirpaiite 1uanor B napax.



! Ipumeuanue: Beimonnss ynpaxxuenus 10 u 11, mocrapaiitech
yIOKHUTH Baly BeICKa3bIBaHUS B OTBEJCHHYIO Tay3Yy.
Ynpaxunenne 13. [Ipouture nuanor «By.
DIALOGUE B
Anton: Where do you study?
Boris: I study at the automobile construction college.
A: Whom does the college train?

B: It trains specialists for the automobile industry.

A: Why did you decide to become a technician?

B: I enjoy working with machines. I enjoy learning about a
car. | understand every part of it.

A: What can you tell me about the car?

B: Well, the car of today must be rapid in acceleration, it must

have dependable clutch, brakes, and steering system, be stable on
the road and have pleasant appearance.

A: Do you enjoy the course?

B: Yes, very much. [ have learned a lot of things. For example,
I know that the production of the car comprises five phases.

A: What are they?

B: They are designing, working out the technology, laboratory
tests, road tests, mass production.

A: And why are laboratory and road tests needed?

B: The cars are subjected to tests in order to meet up-to-date
demands.

A: And what are these demands?

B: They are high efficiency, long service life, driving safety,
ease of maintenance and so on.

A: I think you will become an expert in automobile
engineering.
B: I'll try. The cooperative plan of an academic program with

practice at a plant will help me to become a good specialist.
Ynpaxunenune 14. Haiinure B Tekcre auaora aHIJIMACKHE
AKBUBAJCHTBI CJICAYIONIUX PYCCKHX CJIOB M BBIPOKCHHH |
3AIUIIUTE UX:

Y4ych B aBTOMOOMIICCTPOUTEIIBHOM KOJUICIKE, TEXHHK, JIFOOIIIO
paboTaTh ¢ MallMHAMH, COBPEMEHHBIH aBTOMOOWIIb, HaJC)KHBIC
TOpMO3a, IUIABHOE CIIEIJICHUE, NPHUSITHBIA BHEIIHUN BU]I,
MaccoBOE€ IIPOM3BOJICTBO aBTOMOOMJICH, CTCHIOBBIC HCIIBITAHUS,
OTBEUaTh COBPEMEHHBIM TPEOOBAHHSM, JOJITHUH CPOK CIYXKOBHI,
JIETKOCTh TEXOOCTy)KUBaHUs, HAJCKHOCTh, OBICTPO PA3TOHATHCS



(mpu€MHUCTOCTD), JKECTKUM
UCIIBITAaHUSIM
Ynpaxuaenne 15. 3anumnre peruinku AHTOHA Ha ayIMOKACCETY, a

B Iay3ax MoBTopsiiTe perunku bopuca (MoxxHO paboTaTh B mape).

noABCPIraThbCs JAOPOKHBIM

Ynpaxunenne 16. 3anumute peruku bopurca Ha aynuokaccery, a

B I1ay3aXx MOBTOPSANTE PENIUKA AHTOHA.

Ynpaxuenne 17. Paspirpaiite auanor B nape.

Ynpaxnenue 18. Brimummre n3 npaBoil KOJOHKH PYCCKHE CIIOBa U
CJIOBOCOYETAHUS, COOTBETCTBYIOIINE aHTIMACKUM U3 JIEBOM KOJIOHKH.

1.automobile construction college
2.to graduate from the college
3.low fuel consumption

4.to deal with
5.designing cars
6.mass production

7.long service life

8.driving safety

9.to work out

10.ease of maintenance

11.the technology of manufacturing
processes

12.to put into mass production
13.to subject to tests

14.a rigid quality control

15.to meet up-to-date demands
(requirements)

16.rapid acceleration
17.smooth-acting clutch

118. silent gearbox
119.dependable brakes

a. JIOJTHUI CPOK CITY)KOBbI

b. mpocroe Texo0cmyKUBaHHE
C. 3aIlyCTUTh B MaccoBOE TPO-
U3BOJICTBO

d. mogBepraTh UCIIBITAHUSM
€. TUTaBHOE CIICIJICHUE

f. oTBe4aTh COBpEMEHHBIM Tpe-
OOBaHUSM

g. IMETb JIeNO

h. HaneXHBIE TOPMO32

1. yaeOHas mporpaMma

j. pa3pabaThiBaTh

k. cucrema 3axxuranus

1. 6e30macHOCTD BOXKIEHHUSA

m. aBTOMOOHJICCTPOUTENbHBIN
KOJUIEIK

N. MKECTKUHM KOHTPOJIb KauecTBa

0. OeciryMHas KOpoOKka mepenayd
P. KOHCTPYMPOBAHUE ABTOMO-
ouei

J. OKOHYHUTH KOJUTCIDK

r. TEXHOJIOTHSI TPOM3BOJCTBEHHBIX
MPOIIECCOB

S. CIIELIUAIUCTEI



t. MaccoBO€ MPOU3BOJICTBO

20.steering system U. CHCTeMa pyJEeBOro yNpaBiIeHUs
21.an academic program V. MaJblil pacxoJ TOILINBA
22.experts W.IIPUEMUCTOCTD

23.ignition system

Yupaxnenue 19. 3akoHUUTE MpEIOKEHUS, 10100paB COOTBETCTBYIOIIHNE
M0 CMBICITY CJI0Ba (WJIK CIIOBOCOYETAHUS ), TPUBEICHHBIC HIKE.

4. Istudyat...........

5. After graduating from the college I shall become.......

6. I shall deal with......

7. All specialists must know that the production of the automobile
COMPIISES ...evvvvvvrrrereannnnn.

8. It is necessary to know these facts because the automobile of today
must meet........cooeeeieinnnnii,

0. The modern automobile must have ......

10.  Inroad tests the automobile undergoes .....

A technician, a specialist in automobile industry, the production of the
automobile, designing, working out the technology of manufacturing
processes, laboratory tests, road tests, mass production, high efficiency,
long service life, driving safety, ease of maintenance, rigid quality control,
rapid acceleration, smooth-acting clutch, silent gearbox, dependable brakes,
dependable steering system, the automobile construction college,
up-to-date demands (requirements).

Ynpaxunenne 20. OTBETbTE HA BONPOCHI.

1.What college do you study at?

2.What will you become after graduating from the college?
3.What will you deal with?

4.What phases does the production of the automobile comprise?
5.Why are the cars subjected to laboratory and road tests?
6.What qualities must the car have?

7.What units must the car have?

Ynpaxuaenne 21. 3agaiite BOnpocs! K MPeII0KEHUIM.

1. I study at the automobile construction college.
2.After graduating from the college I'll become a specialist in automobile
construction.



3.I'll deal with manufacturing automobiles.

4.The production of the automobiles comprises the following phases:
designing, working out technological processes, laboratory and road tests
and mass manufacturing.

5.The automobile must meet up-to-date requirements.

6.The car must have high efficiency, long service life, pleasant appearance
and driving safety.

7. The car must have smooth-acting clutch, silent gearbox, dependable
braking and steering systems, dependable ignition system.

Ynpaxxaenue 22. [lepeBeaure npeyioxKeH!sl Ha aHTJIMNCKUN S3bIK.
1.4 yaych Ha aBTOMOOMIIEHOM (DaKyIbTeTe TEXHUUECKOTO KOJLISIKA.
2.Ilocne okOHYaHMSI KOJUIEIXKA S CTaHy CHEIMAIMCTOM aBTOMOOMIBLHOM
MPOMBIIIJICHHOCTH.

3.Ilo MoeMy MHEHUIO, KaKIbIi CIEUAINCT JI0JKEH 3HATh, YTO
aBTOMOOWIIb JIOJKEH MPOUTH CTEHIOBBIC U JTOPOKHBIC UCIIBITAHUSI.
4.9TH UCIIBITaHUS HCOOXOAUMBI, YTOOBI aBBTOMOOMIIb OTBEYAIT
COBPEMEHHBIM TPEOOBAHUSIM.

5.CoBpeMeHHBII aBTOMOOWIIb JOJDKEH 0071aaTh CIeyIOIIUMA
KauecTBaMH: OBITh MPUEMHUCTHIM, UMETH IIJIABHOE CIEIUICHHE, OSCITyMHYIO
KOpOOKY Iepenad, HaJe)KHbIe TOPMO3HYIO U PYJIEBYIO CUCTEMBI, OBITh
JIETKUM B YIIPABJICHUHU.

6./lBuratens aBTOMOOWIISI TAKXKe JIOJDKEH HMETh HEOOIBIION pacxo]]
TOILIMBA U OBITh YKOJIOTUYHBIM.

Yupaxuenue 23. CocTaBbTe pacckas o Baiei Oyayeit npodeccun,
UCIO0JIb3YS ynpakHeHne 20 B KauecTBE IJIaHa.



CJIOBAPH YPOKA
construct — KOHCTPYHUPOBAThH
construction — KOHCTPYKIIUS
constructor — KOHCTPYKTOP
deal with - umeTs €m0
demand - TpeGoBaTb,
TpeboBaHMe

dependable brakes —
HaJEKHbIE TOPMO3a

design - NpPOEKTUPOBATh, IPOEKT
designer - NpOEKTUPOBLIYK,
KOHCTPYKTOP

develop - pazpabateiBaTh
development — pazpaboTka
driving safety — 6e3omacHoCTb
€3/1bl

efficiency - s3¢dexTHBHOCTS,
KILJ

engineer — HMHXEHED

fuel consumption - pacxon
TOIUIMBA

handling - sxcrimyaTanus, yxon
ignition system — cucrema
3a)KUTaHUS

maintenance —
Tex00CTy)KUBaHNE
manufacture — Ipou3BoIUTH
manufacturer —
IIPOMBIIIJIEHHUK, U3TOTOBUTEIIb
manufacturing —
IIPOU3BOJICTBO

mechanics - MmexaHuk
mechanism — MexaHusm
produce — pOU3BOIUTH

producer — NPOMBIIUIEHHUK
(TOT, KTO MIPOU3BOAMT)
production - mpou3BOJACTBO
put into mass production -
3aIlyCTUTh B MacCOBOE
IIPOU3BOJICTBO

quality — kauecTBO

rapid acceleration — ObICTpBIit
pas3roH (MpUEMUCTOCTD)
require - TpeGOBaTh, MPOCUTH
requirement - TpeboBaHue,
3aIpoc

rigid quality control —
KECTKUI KOHTPOJIb KauecTBa
science - Hayka

scientist - y4eHbIit

service life - cpok ciryx0b1
silent gearbox — OecirymHas
KOopoOKka nepeaay
smooth-acting clutch - ninaBHOe
CLIeTIJICHHE

solution — pemenne

steering system - cucrema
PYJIEBOTO yIPaBICHUS
subject to tests — nmoaBeprathb
UCTIBITAHUSIM

technician — TexHHK
technologist — TexHosOT
technology — TexHosorus
undergo tests — MpoxoauTh
UCTIBITAHUS

unit — y3en, arperar
up-to-date — cOBpeMEHHBIN



Unit Two

Text: Components of the Automobile

Dialogue

The exercises to be done before reading the text
IIpeaTexcToBble yNpa:KHEeHUS

Ynpaxuenue 1. [Ipouture cioBa v CI0BOCOUETAHUS U 3alIOMHHUNt UX

pYyCCKHE SKBUBAJICHTHI.

engine (power plant) —
JIBUTATENb(CUIIOBast YCTAHOBKA)
chassis — maccu

body — ky30B

power train — cusoBas
nepegayda

running gear — Xo0/10Basl 4acTb
steering system - pyieBoe
yIIpaBJICHHUE

brakes — Topmo3a

clutch - cuenenue

gearbox — xopoOxka nepenau
propeller shaft — xapnannblit
BaJl

final drive - rnaBHas nepenaua
differential - muddepenunan
rear axle — 3agHui MoCT

axle shafts — nonyocu

frame with axles — pama c
OCSIMU
wheels and springs — xoiieca ¢
peccopamu

hood — xanot

fenders — xpbLibs

heater - oTonurens
windshield wiper —
CTEKJIOOYUCTUTEIIb
include — BxiIrO4aTH B ce0s
consist of — cocTosaTh U3

as well — Taxoke

in turn — B cBOIO ouepeb
source of power — HCTOYHUK
SHEPruu

fuel — TonmBO

cooling — oxuaxxieHue
lubricating — cmaska

Ynpaxuaenne 2. [Ipourure u nepeBeauTe HHTEPHALMOHAIBHBIE CIIOBA.

Automobile, chassis, electric, system, control, differential, ventilator,

cylinder.

Hpoumume u nepe@edume meKkcm, a 3amem 6blnojHume Cﬂec)yiou;ue 3a

HUM YNPANCHEHRUAL.



TEXT

Components of the Automobile

The automobile is made up of three basic parts: the power plant, or the
engine, the chassis and the body.

The engine is the source of power that makes the wheels rotate and the car
move. It includes fuel, cooling, lubricating and electric systems. Most
automobile engines have six or eight cylinders

The chassis includes a power train (power transmission), a running gear,
steering and braking systems as well.

The power train carries the power from the engine to the car wheels.

The power transmission, in turn, contains the clutch, gearbox, propeller or
cardan shaft, final drive, differential, rear axle and axle shafts. The running
gear consists of a frame with axles, wheels and springs.

The body has a hood, fenders and accessories: the heater, stereo tape
recorder, windshield wipers, conditioner, speedometer and so on.

The exercises to be done after reading the text
(ITocnerexcToBbIEC yIpaXKHEHNUS)

YnpaxHenue 3. Boibepute u 3anuinre TEpMUHBL, JaHHbIE HUKE,
KOTOPBIE OTHOCATCS K:
the engine (aBuraresio); the chassis (maccu); the body (xy3oBy).

Fuel system, axle shaft, accessories, cooling system, frame with axles,
running gear, lubricating system, steering system, heater, propeller shaft,
power transmission, final drive, windshield wiper, clutch, wheels and axle
shafts, gearbox, electric system, differential.

JlaiiTe pyccKue 3KBUBAJICHTHI IIPUBEJACHHBIX BbIIIE TEPMUHOB.

Ynpaxunenue 4. Halitute B TeKCT€ OTBETHI HA BONPOCHI:
1.What main parts is the automobile made up of?
2.What is the function of the engine?

3.What systems does the engine include?

4. What does the chassis consist of?



5.What units does the power transmission comprise?
6.What assemblies does the running gear consist of?
7.What has the body?

YupaskHeHnue 5. 3aKOHUUTE TPETIOKEHHSI, BEIOPaB COOTBETCTBYIOIIEE
10 CMBICIIy OKOHYAHHE.

1. The automobile is made up  [1. a power transmission, running

of... gear, steering and braking
systems.

2. The engine is ... 2. the clutch, gearbox, propeller
shaft, final drive, differential and
axle shafts.

3. The engine includes ... 3. a hood, fenders and accesso-
ries.

4. The chassis consists of... 4. the engine, the chassis and the
body.

5. The power transmission com- |5. a frame with axles, wheels and

prises ... springs.

6. The running gear consists of.. J6. the source of power.

7. The body has ... 7. fuel, cooling, electric and lu-
bricating systems.

Ynpaxknenne 6. Haiinure B TekCTe aHTTTUNHCKHE SKBUBAJICHTHI
NPEIOKEHUN U 3AIULLNATE UX.

1.ABTOMOOMIIb COCTOUT U3 TPEX OCHOBHBIX YacTEi: IBUTATEIS, IIACCH
Ky30Ba.

2.JlBuratenp — 3TO UCTOYHMK SHEPTUH.

3.lBuraTens BKIIOYAET B ce€0s TOIIMBHYIO, OXJIAXKJAIOIYIO,
CMa3bIBAIOLIYIO U DJICKTPUYECKYIO CUCTEMBI.



4.1Taccu BKIIIOYAET B ceOsl CUIIOBYIO Iepeiady, X0A0BYIO YacTh, PYJIEBYIO
Y TOPMO3HYIO CUCTEMBI.

5.CunoBas nepenaya (TpaHCMHCCHS), B CBOIO OU€pelb, COCTOUT U3
CIIeTIJIeHU s, KOpOoOKHM mepesiad, KapAaHHOTO Bala, TJIaBHOH Mepeay,
muddepennana, 3a/HEr0 MOCTa U MOIYOCEH.

6.Xo0/10Bast 4acTh BKJIIOYAET B ce0sl paMy € OCSIMHU, KOJIECA U PECCOPBHI.
7.Ky30B BKiIIOUYaeT B ceds KanoT, KpbUIbs U BCIIOMOTaTeJIbHbIE
aKceccyapbl: OTOIUTENb, CTEKJIO0YUCTUTENN, MATHUTOJTY, KOHTUIIMOHEP U
T. IL.

Ynpaxunenue 7. [Ipoutute quamor HECKOIBKO pa3, a 3aT€M BBITIOJHUTE
CIEAYIOLIME 3a HUM YIIPAKHEHUS.

DIALOGUE

A: Do you know what parts the automobile is made up of?

B.: Certainly. It is made up of the engine, the chassis and the body,

A: What is the source of power?

B:The source of power is the engine. It includes fuel, cooling, lubricating
and electric systems.

A:And what does the chassis consist of?

B:It consists of a power transmission, running gear, steering and braking
systems. By the way, the power transmission, in turn, comprises the
clutch, gearbox, propeller shaft, final drive, differential, rear axle and axle
shafts.

A:And what has the body?

B:The body has a hood, fenders and accessories, such as: the heater, stereo
tape recorder, windshield wipers, conditioner and so on.

A:Thank you very much for your information.

B:Don't mention it. I am glad to help you.

Ynpaxnenne 8. Hailimute B uamore cjaoBa U CJIOBOCOYETAHMS,
SKBUBAJICHTHBIC PYCCKUM CJIOBAM M CJIOBOCOYCTAHHUSAM, NPHBEIACHHBIM
HIDKE.

CrenaH u3; acCH; Ky30B; BKJIIOYATh B C€0s; TOILUIMBHAS, OXJIAXKJAIOIIAs,
CMa3bIBaIOIIas ¥ AJICKTPHUECKAsk CHCTEMBbI; TPAHCMHCCHS; XO0Bas 4acTh;
pyJieBast 1 TOPMO3HAasi CHCTEMBbI; KapJIaHHbIN Bajl; TJIaBHAs Tepe/ayda;
muddepeHnnan; 3aJHII MOCT; TIOTYOCH; KalloT; KPBLIbS;
BCIIOMOTATENbHBIE YCTPOICTBA; CTEKIIOOYUCTUTEIH.



YupaxkHenue 9. 3anummre Ha ayJJMOKACCETY PEIIMKU COOECeHUKA A U
MOBTOPSNTE B Tay3aX peIuiuku cobecenHunka B (Bo3moxHa paborta B
napax).

Ynpaxuenue 10. 3anumure Ha ayTHOKACCETy PEIUTHKU cobeceannka B
Y TIOBTOPSIITE B May3ax PeIIMKU coOeceHUKa A.

Yupaxknenue 11. 3akoHuMTEe MPEUIOKEHUS, UCTIONB3YsI HEOOXOAUMBIE
CJIOBA WJIM CJIOBOCOUYETAHUS, ITAHHBIE HUXKE.

A:What parts does the automobile ... ?
B:It is made up of...

A: What is...?

B: The source of power is the ...
A:What systems does the engine ...?
B.:It includes ...

A: What does the chassis ... ?

B.:The chassis ....

A: What does the power train include?
B:The power train includes ...

A:What units does the body comprise?
B:It comprises ... and accessories such as ...
A.:Thank you for your ....

Engine, chassis, body, power train, running gear, steering system, brakes,
clutch, gearbox, propeller shaft, final drive, differential, rear axle, axle
shafts, hood and fenders, heater, windshield wipers, information,
conditioner, consist(s) of, the source of power, include, fuel, cooling,
lubricating, electric systems.

Ynpaxaenue 12. Paspirpaiite nuanor B napax.

Ynpaxuaenne 13. Beinummre u3 npaBoil KOJIOHKH PyCCKHE CI0BA U
CJIOBOCOYETAHMS, COOTBETCTBYIOIINE aHTITMICKUM U3 JIEBOI KOJOHKHU.
1. power plant a. CLEIJIEHUE
2. chassis b. cCUJIOBas mepeaaya
3. body C. rJaBHas repegaya



4. power train d. KoJeca
5. running gear e. CHCTEMa PYJICBOTO
yIpaBJICHUS

6. steering system f. KaroT

7. brakes g. MOJIyOCH

8. clutch h. X0JI0Basl 4acCTh

9. gearbox 1. TOTUTMBHASI CUCTEMA
10. propeller shaft I CTEKJIOOUUCTUTENU
11. final drive k. KOopoOka nepeaay
12. rear axle 1. CUCTEMA CMa3KHu
13. axle shafts m. CWJIOBasl yCTAaHOBKA
14. frame n. pama

15. wheels 0. B CBOIO OYepe.lb

16. springs p. TOpMO3a

17. hood q. peccopsl

18. fenders r. TaKkKe

19. windshield wipers S. maccu

20. fuel system t. KapJlaHHbBIN BaJl
21.cooling system U.  3aJHUIA MOCT

22. lubricating system  |v.  HCTOYHHK dHEPTUU
23.in turn W.  CHCTEMA OXJIaXKICHUS
24.as well X.  KpbUIbs

25.source of power y.  Ky30B

Ynpaxknenue 14. OTBeTbTE Ha BOIPOCHI.

1.What main parts is the automobile made up of?
2.What is the function of the engine?

3.What systems does the engine include?

4.What does the chassis consist of?

5.What units does the power transmission comprise?

6.What assemblies does the running gear consist of?
7.What has the body?

VYnpaxnenue 15. BriGepure ¥ 3anumuTe COOTBETCTBYIOIIUI
OIIMCAHUIO MEXAHU3M.

1.Mechanism which is used to stop the car.



a) clutch; b) brakes; c) gearbox; d) steering system.

2.Mechanism which is used to guide the car.
a) clutch; b) brakes; c) gearbox; d) steering system.

3.Mechanism which engages or disengages the engine and the car wheels.
a) clutch; b) brakes; c) gearbox; d) steering system.

4 Mechanism which is used to change the speed of the car.
a) clutch; b) brakes; c) gearbox; d) accelerator.

5.Mechanism which is used to guide the car in one or the other directions.
a) clutch; b) brakes; c) gearbox; d) steering system.

6.Device which is designed to measure the speed of the car.

a) heater; b) windscreen; c) speedometer; d) tachometer.

CJIOBAPH YPOKA

accessories —
BCIIOMOTaTENIbHBIEC YCTPOUCTBA
cooling — oxnaxaeHue

as well — taxxe

axle shafts — nosnyocu

body — ky30B

conditioner - KOHIULIMOHEP
consist of — cocTosTh U3

device — ycTpoiicTBO
disengage — oTKiIIOUaTH,
OTCOCOANHATH

engage — BKJIIOYaTh, COCAUHATH
engine — /BUraTellb

fenders — xpbuibs

final drive — rnaBnas nepenaya

fix — xpenurs

flywheel — maxoBuk

frame — pama

fuel - TonuBo

gearbox — xopoOxka nepenau

heater - oTonuTenn

hood — xarot

in turn - B cBOIO ouepeb
include — Bxiro4yaThH B ceOS

lubricating (lubrication) —
cMa3ka

measure — U3MEpPSThH
pedal — nenans

power train (transmission) —
CWJIOBas Iepeaaya
(Tpancmuccus)

power plant — cunoBas
YCTaHOBKA

propeller (cardan) shaft -
KapJIaHHbIN Ball

rear axle - 3aqHUI MOCT
release the engine —
OTCOEAMHUTH JABUTaTENb
running gear — X0/10Basl 4acTb



source of power — HCTOYHUK
SHEPruu

speed — cKOpOCTH
speedometer - ciuiOMeTp
springs — peccopsbl
tachometer — Taxomerp
wheel — koneco

windshield wipers -
CTCKJIIOOYHUCTUTCIN






Unit Three
Text: Principle of Operation of the
Four-Stroke Petrol Engine
Dialogue A: Tracing a Fault
Dialogue B: At the Repairing Shop
The exercises to be done before reading the text
IIpearexcroBbie ynpakHeHHUA

Ynpaxuenune 1. [Ipoutute cioBa M CIOBOCOYETAHHS M 3alIOMHUTE HUX
PYCCKHE SKBUBAJICHTHI.

bottom dead center - HIXHSAS MEpTBast TOUKA

charge of fuel — 3apsix Tonusa

combustion — cropanue

combustion chamber — xamepa cropanus

compression stroke — TakT cxxaTusi(CMeCH)

connecting rod - maTyH

crankshaft — xonenuaTslii Ban

cylinder - nununap

diesel engine — nu3enbHbBIN ABUTATENb

engine — /BUraTellb

exhaust stroke — Takr BblTycKa

four-stroke cycle — ueTbIpexTaKTHBIN LUK

fuel injection — BpbICK TOIINBA

ignite — BocIIaMeHATh

ignition — BocrulamMmeHeHue

intake (inlet) stroke — TakT Bycka

internal combustion engine — 1BUraTesb BHyTPEHHETO CTOPAHUS
mixture — cMech

operating cycle - paGounii 1K

petrol engine — GeH3MHOBHIN IBUTATEINb

piston — nop1ieHb

power stroke — paGouuii xoJ

pressure - JaBJI€HUE

reciprocating movement — BO3BpaTHO-IIOCTYATEJILHOE IBH)KEHUE
residual gas — ocrarouHslii ra3



rotary movement — BpalaTeIbHOE ABIKECHAE
spark plug — cBeya 3axuranus

stroke — xoj (opHs);

top dead center — BepxHssa MepTBasl TOUKa
valve - kianax

Ynpaxuenne 2. [IepeBeaure cioBa Ha pyCCKHA SI3bIK, 0Opaliasi BHUMaHUE
Ha Cy(hPUKCHL.

to combust — combustion; to operate — operation; to ignite — ignition; to
reciprocate — reciprocation; to connect — connection; to compress —
compression; to describe — description.

Ynpaxuaenne 3. [Ipourure u nepeBeauTe HHTEPHALMOHAIIBHBIE CIIOBA.
Principle, cycle, piston, center, cylinder, atmosphere.

Ynpaxknaenne 4. [lepeBenure npeayioxKeHus: Ha PYCCKHUM S3bIK, UCTIONB3YS
TEPMHUHOJIOTUIO YIPAKHEHHUS 1.

I. During the inlet (intake) stroke the inlet valve opens and a charge of
fuel (mixture) flows into the cylinder.

2. During the compression stroke the inlet valve is closed and the fuel
is compressed by the rising piston.

3. During the power stroke both valves are closed, pressure rises in the
combustion chamber, and the spark ignites the mixture.

4. During the exhaust stroke the exhaust valve is opened, pressure is

released and the residual gases flow into the atmosphere through the exhaust
valve.

IIpoutuTe U nEPEBEAUTE TEKCT, a 3aTEM BBIIOJHUTE CICAYIOIIME 32 HUM
YIPA)KHECHUS.

TEXT
Principle of Operation of the Four-Stroke Petrol Engine

The internal combustion engine is called so because fuel is burned
directly inside the engine itself. Most automobile engines work on a
4-stroke cycle. A cycle is one complete sequence of 4 strokes of the piston
in the cylinder. The operating cycle of the four-stroke petrol engine
includes: inlet stroke (intake valve opens), compression stroke (both valves
closed), power stroke (both valves closed), exhaust stroke (exhaust valve is
opened).



To describe the complete cycle, let's assume that the piston is at the top of
the stroke (top dead center) and the inlet and the exhaust valves are closed.
When the piston moves down the inlet valve opens to intake a charge of fuel
into the cylinder. This is called the inlet (intake) stroke. On reaching the
lowest position (bottom dead center) the piston begins to move upward into
the closed upper part on the cylinder, (he inlet valve is closed and the
mixture is compressed by the rising piston. This is called the compression
stroke. As the piston again reaches the top dead center the spark plugs ignite
the mixture, both valves being closed during its combustion. As a result of
burning mixtures the both valves being closed during its combustion. As a
result of burning mixtures the gases expand and great pressure makes the
piston move back down the cylinder. This stroke is called the power stroke.
When the piston reaches the bottom of its stroke, the exhaust valve is
opened, pressure is released, and the piston again rises. It lets the burnt gas
flow through the exhaust valve into the atmosphere. This is called the
exhaust stroke which completes the cycle. So the piston moves in the
cylinder down (intake stroke), up (compression stroke), down (power
stroke), up (exhaust stroke).

The heat released by the fuel is transformed into work so that the
reciprocating movement of the pistons is converted into rotary movement
of a crankshaft by means of connecting rods.

1 - intake 2 - compression 3 - power 4 - exhaust
Puc. 1. Principle of Operation of the Four-Stroke Petrol Engine

l.intake - TakT BIycka 3. power — pabouuii TaKT

2.compression — TakT cxarus 4. exhaust — TakT BeIXJIONA



The exercises to be done after reading the text

ITocieTexkcToBBIC YIPasKHEHUSI

Ynpaxuenue 5. Haiiqute B TeKCTe a03allbl, TJ€ UCT PeUb O TAKTE BITYCKa,
0 TaKkTe CXKaTHs, 0 pabodeM XOJe, O TaKTe BBITYCKA M MEPEeBEIUTEe UX Ha
PYCCKHUH SA3BIK.

Yupa:knenue 6. Boioepute npaBuibHbIE 10 CMBICTY OTBETHI Ha BOIPOCHI.

1. Why is the engine called the internal combustion engine?

2. What stroke is called the inlet one?

3. What is a compression stroke?

4. What takes place in the cylinder on power stroke?

5. What takes place on the exhaust stroke?

6. By means of what is the reciprocating movement of the pistons converted
into rotary movement of a crankshaft?

1.1t is called so because the fuel (the mixture) is burned...
a)directly inside the engine;
b)outside the engine.
2. The inlet stroke is called so because during moving down the
piston...
a) the inlet valve opens to intake a charge of fuel into the cylinder;
b)the inlet valve is closed and the mixture is compressed.
3.The compression stroke is a stroke.
a) when the inlet valve opens to intake a charge of fuel into the
cylinder;
b) when the inlet valve is closed and the mixture is compressed.
4. On power stroke..
a)the spark plugs ignite the mixture, both valves are closed during
its combustion;
b)the exhaust valve is opened and the residual gas flows through
the exhaust valve into the atmosphere.
5.0n the exhaust stroke....
a)the spark plugs ignite the mixture, both valves are closed during
its combustion;
b)the exhaust valve is opened and the residual gas flows through
the exhaust valve into the atmosphere.



6. It is done....
a)by means of pistons;
b)by means of the connecting rods.

YupaxkHenue 7. 3aKOHUMTE MPEUIOKEHUS, BHIOpAB MPAaBUJIBHBIN 110
CMBICJIYy BApUAaHT OKOHYAHMUS.

1.The internal combustion engine is called so because fuel is burned...
a)outside the engine;
b)inside the engine.
2.0n the inlet stroke..............
a)the intake valve opens;
b)the intake valve is closed;
c)the intake and the exhaust valves are closed.
3. On the compression stroke ..........
a). the intake valve opens;
b).the intake valve is closed;
c).the intake and the exhaust valves are closed.
4. On the power stroke......
a).the intake valve opens;
b)the intake valve is closed;
c)the intake and the exhaust valves are closed.
5. On the exhaust stroke.........
a).the exhaust valve opens;
b).the intake valve is closed;
c).the intake and the exhaust valves are closed.

Ynpaxuaenne 8. [Ipouture Auanor HECKOJIBKO pas3, a 3aTEM pas3bIrpanTe
€ro B Iapax.

DIALOGUE A
Tracing a Fault

Nick: Peter, I know you are a good driver. I would like you to have a
look at my car.

Peter: What's wrong with your car?

N.: I don't know.

P.: Let me have a look. When did you have your plugs checked?

N.: Three days ago. I thought I had run out of fuel but the tank is half full.
P.: The carburettor is in order but the engine is misfiring. I guess

the battery has run down. It needs recharging.



N.: Too bad.

P.: Don't get upset about it. It won't take you long to have your
battery recharged.

N.: Do you really think so?

P.: I am sure of it. [ advise you to have the engine greased.

N.: I'll follow your advice. Thank you, Peter.

P.: Don't mention it, Nick. I'm very sorry I couldn't help you.

N.: Well, you helped me to find the fault. Thanks a lot. Good-bye.
P.: See you later.

Ynpaxnaenue 9. [lepesenure pycckue NpeanoKeHNs Ha aHITIMHCKUN S3BIK,
a 3aTeM pasblI'paiiTe IUaJIOry B rapax.

1. -He 3Har0, 4TO CIIly4ymJIOCh ¢ MOEH MaIIMHOM.

-Let me trace the fault.

-IToxainyiicra. Tl ONBITHBIN BOAUTEND?

-Yes, I am. [ have been driving a car for fifteen years now. May be you have
run out of fuel?

-bak moyTH NoJHLINM.

-When did you have your plugs checked?

-Buepa. KapOroparop Toxe B nopsxe.

-B takom cnydae gaBaii moenem 1o Onvkaiied peMOHTHOM CTaHLIMU.
-Good idea. They will have the car fixed.

2.- Korya Tebe mounHMIN MaInHy?

-Last month. The engine is in good condition now. It was well

greased.

-Xopoio. MHe Toke Haio YMHUTH Maiuny. Ocnabnu Topmo3sa (The brakes
are slack.) Akkymynsatop paspsinuica (The battery has run down.)

-It can be easily done.

-51 pax 3TO CiBIIIATS.

3.- Kakyro MalmHy Tbl XO4€llb KYIUTh?

-I want a second-hand car. Could you help me?
-C OO0JIBIINM YIOBOJIBCTBUEM.

-I hear there are good cars on sale 42nd Street.
-51 3naro0 aTOT MarasuH. /laBaii moexgem Tyna.



-Good idea. If I choose a car there, I won't have to bother any more.
-CoBepIIeHHO BEPHO.

Ynpaxuaenne 10. [Ipoutute quanor u pacckaKuTe, 0 4EM B HEM UJIET PEUb.
DIALOGUE B
At the Repairing Shop
Client: Good afternoon! Can you help me? There is something wrong with
the engine.
Master: Hi! What is wrong with it?
C.: I don't know. It wouldn't start. Maybe the pistons and valves are in
disorder.
M.: Let's have a look! Well, they are quite right.
C.: And what about the crankshaft, or electric spark plugs. I know
absolutely nothing about the operating cycle of the engine.
Just a moment. Don't worry! We shall check up all units and how they work
together.
Some time later
M.: My God! There is no petrol in the tank. How can you move drive?
C.: Really? Oh, I have forgotten to fill in the tank! I beg your pardon to
trouble you!
M.: No trouble, at all. You are welcome!
CJIOBAPH YPOKA
1.as a result - B pe3ynbrare
2.assume — npeAnoiaraTh

11.convert — npeoOpa3oBEIBaTH
12.crankshaft — konenvarslii Ban

3.bottom dead center — HuKHA
MepTBasi TOUKa

4. burn — ropethb

5.by means of — nocpenctsom
6.charge of fuel - 3apsn Tonnuea
7.combustion — cropanue
8.combustion chamber — xamepa
CTOpaHHS

9.compression stroke — Takt
CHKATHSI(CMECH)

10.connecting rod — maTtyH

13.cylinder — munusap

14. descend - crryckaThbces,
OITyCKaThCs (OTOpIIHE)
15.describe — onuceiBaTh
16.diesel engine — nu3enbHBIN
JIBUTaTEIb

17.directly - HETOCpEACTBEHHO
18.don't get upset — He
paccTpauBaiTech

19.engine — aBuraTens
20.exhaust stroke — TakT BbITycKa
22 follow sb's advice - mocrnenoBaTh
9Ybe-My-JI. COBETY



23. four-stroke cycle —
YeTHIPEXTAKTHBIH ITHKII

24 fuel injection — BIPBICK TOTLJIMBA
25.have a look — B3rIsHYTH
26.heat — Teruio

27.1 guess — s monararo

28.ignite — BOCIUIAMEHSATH
29.ignition — BOCIJIaMEHEHHUE
30.in order — B nopsinke (B
WCTIPABHOM COCTOSIHUH)

31.intake (inlet) stroke — TakT
BITyCKa

32.internal combustion
33.engine—aBHUraTenb BHyTPEHHETO
CrOpaHus

34.mixture — cmech

35.operating cycle — pabouwnii nukI
36. petrol engine — OeH3UHOBBIN
JBHUTATENb

37.piston - mopuIieHb

38.power stroke - pabounii xox
39.pressure — naBICHUE

40.reach — mocturathb
41.recharge — mom3apsauTh
(akxymymsITOp)

42 reciprocating movement -
BO3BPATHO-TIOCTYNAaTENBHOE
JBIDKEHHE

43.residual gas - ocratouHsIii ra3
44 rise — NOAHUMATHCS

45.rotary movement —
BpalllaTeIbHOEBIKCHHE

46.run down - cectb (00
AKKyMYJISITOPaXx)

47.run out of fuel — 3akoHUYHIIOCH
TOILITMBO

48.spark plug — cBeua 3axuranus
49 .stroke — xon (TopIIHs)

50.tank — ToruMBHBIN Oak

51.top dead center - BepxHsis MepTBas
TOYKa

52.trace the fault - uckatp
(mpocnennTs)HencIpaBHOCT
53.valve — knanan



Unit Four
Text: Chassis
Dialogue: Transmission Mechanism
IIpearexkcToBBIE YNIPAKHEHUS
The exercises to be done before reading the text
Ynpaxunenue 1. [Ipouture cia0Ba 1 CIIOBOCOUETAHUS U BBIYUUTE UX

pyCCKHE DKBUBAJIEHTEIL.
unit - yzen, 6110k, arperar
gear — ILLECTEpPHs

power transmission -

CUIIOBast
gearbox - kopoOka nepenauy
nepeaayda

tractive effort — tsirosoe
yCcUue

running gear — XxoJ10Bas
4acCTb

driving wheels — Benymue
KoJieca

steering system — cucrtema
pYJEBOTO  yIpaBJIEHUS
brakes - Topmo3sa

shaft — Ban

car springs — peccopbl
aBTOMOOHMIIS

flywheel — maxoBuk
rear axle — 3agHMiII MOCT
clutch — cuennenue
final drive — riaBHas
nepeaaya

friction device —
(pPUKLIHOHHOE YCTPOMCTBO
axle shafts - moinyocu

crankshaft — xoixeHuaToIii
Ball

Yupa:xuenue 2. [lepeBequte cnoBa Ha pPyCCKUil sI3bIK, oOparas

BHHUMaHUE Ha CyP(UKCHI.

to transmit - transmission; to connect — connection;
to found — foundation; to move — movement.
Yupa:xknenue 3. [lepeBennre Ha pyCCKUI S3bIK HHTEPHAIIMOHATBHBIC

CJIoBa.

Transmission, system, mechanism, radiator, friction, automobile,
cardan, portion, final, accelerator, pedal, position.

Yupa:xuenue 4. [lepeBeute npeanokeHus: Ha pyCCKHi A3BbIK,
UCIIOJIb3YS TPUBEJICHHBIC B YIIPpaXKHEHUH | ciioBa.

1. The chassis includes the running gear, the power transmission and

the steering mechanism.



2.The power transmission consists of the clutch, gearbox, cardan
shaft, rear axle, final drive, differential and axle shafts.
3.The clutch connects the engine with the driving wheels.
4.The gearbox changes the speed of the car movement.
5.The steering mechanism changes the direction of the car.
*[IpouTrTe U IEpeBEAUTE TEKCT, a 3aTEM BBIIIOJHHUTE CICAYIOIINE 32
HUM YIPaXKHEHUS.

TEXT

Chassis
The main units of the chassis are: the power transmission, the running
gear and the steering mechanism. The power transmission includes
the whole mechanism between the engine and the rear wheels. This
entire mechanism consists of the clutch, gearbox, propeller (cardan)
shaft, rear axle, final drive, differential and axle shafts.
At the front end of the car is the engine. On the back of it is the
flywheel. Behind the flywheel is the clutch. The clutch is a friction de-
vice connecting the engine with the gears of the gearbox. The main
function of the gearbox is to change the speed of the car.
The power is always transmitted by the cardan shaft to the live back
axle. The final drive reduces the high speed of the engine to the low
speed of the driving wheels. The differential enables the driving
wheels to turn at different speeds which is necessary when turning the
car. The foundation of the automobile is the frame to which different
chassis units are attached.
The rear axle is capable of moving up and down about the frame. The
rear axle is an important part of the transmission. It carries the greater
portion of the weight of the car.
The steering mechanism is designed for changing the direction of the
car.
The brakes are used for stopping the car, for decreasing its speed and
for holding the car position.
[TocnerekcToBbIE YIpaKHEHUS
The exercises to be done after reading the text
Ynpaxuenue S. Haiiaure B TEKCTE€ OTBETHI HA CIEAYIOLIUE BOIIPOCHI.
1.What main units does the chassis consist of?



2.Where is the engine located?

3.Where is the flywheel fixed?

4.Where is the clutch placed?

5.What is the gearbox designed for?

6.By what shaft is the power transmitted to the back axle?

7.What does the rear axle do?

8.. What is the function of the differential?

9. What purpose is the steering system designed for?

10. What is the function of the brakes?

Ynpaxknenue 6*. [lepeBenure npeuioKeHNUs Ha PyCCKUM S3bIK,
oOpamrast BHuManue Ha Complex Subject.

1. Transmission, running gear and steering mechanism are known to
be the main units of the chassis.

2.The clutch is known to connect the engine with the driving wheels
of the car.

3.The gearbox is known to change the speed of the car.

4.The steering mechanism is known to change the direction of the car.
5.Brakes are considered to be one of the most important mechanisms
of the car.

Yupaxuenue 7. [lepesenure Ha aHTITMHACKUH SA3BIK CIEAYIOLIUE
NpeUI0KeHuUs (IIPU BBIMOJIHEHUH 33JaHHsI BBl MOKETE 00paIaThCs K
TEKCTY).

1.OCHOBHBIMHM y3JIaMH IIIACCHU SIBJISIFOTCS: TPAHCMHUCCHS, X0/10Bast
YacTh U PYJIEBON MEXaHU3M.

2.Paguarop pacnosoxeH B epeaHel 4acTH aBTOMOOUIIS.
3.MaxoBHK KpenuTcs Ha 3a/IHeil yacTu ABUraTels.

4.CueruieHne coeIMHseT JIBUTATENb C KOPOOKOi nepenad.
5.Kopobka nepenau npepaHazHadeHa Al U3MEHEHUs] CKOPOCTH
JBY>KEHUS! aBTOMOOMIIS.

6.Ycunue nepegaeTcss KapJaHHbIM BaJIOM.

7.I'maBHast mepesaya CHUXKaeT BEICOKUE 0OOPOTHI ABUTATENS JI0
HEBBICOKMX 000OPOTOB BEIYIINX KOJIEC.

8. uddepeniman mo3BosseT BeAyIUM KOJIECaM BpaIlaThCsl ¢ pa3HOM
CKOPOCTBIO IIPU ITOBOPOTE aBTOMOOHIIS.



9.PyneBoit MexaHU3M MpeTHA3HAUEH JJIs1 U3BMEHEHUS HalPaBJICHUS
JBUYKEHUS aBTOMOOMIIA.

10.Topmo3a UCHIONB3YIOTCS AJIs1 OCTAHOBKH MJIM CHUKEHUS CKOPOCTH
aBTOMOOWIIS.

Yupaxnenue 8. [TonGepute U3 mpaBoil KOJOHKHA COOTBETCTBYIOIIEE
OTIMICaHUE y3JIa WIK MEXaHW3Ma aBTOMOOWIIS, HA3BaHUsI, KOTOPBIX
IIPEJICTaBJICHBI B JIEBOW KOJIOHKE.

1.differential a).mechanism used to increase the

2.steering wheel speed of the car

3.clutch b).wheel used to turn the direction of

4.rear axle the car

5.steering system c).mechanism used to transmit power to

6.speedometer the back axle

7.brakes d).instrument used to measure the speed

8.gearbox of the car

9.cardan shaft e).mechanism that slows or stops the
car

f).mechanism used to guide the car
g).mechanism used to engage or disen-
gage the engine with gearbox
h).mechanism used to carry the greater
portion of the car weight
¢).mechanism used to turn the wheels at
different speeds

Yupaxnenue 9. [Ipoutute 1uanor u paspirpaiite ero B napax.

DIALOGUE

Transmission Mechanism

Teacher: Let's speak about the transmission mechanism. What main

units does the transmission include?

Student:The transmission is the entire mechanism between the engine

and the rear wheels. It includes the clutch, gearbox, cardan shaft, rear

axle, final drive and differential.

T.:What does the clutch connect?

S.:The clutch connects the engine with the gearbox.

T.:And what does the gearbox do?



S.:The gearbox changes the speed of the car.

T.:What does the differential enable?

S.:The differential enables the driving wheels to move at different speeds
when turning the car.

T.: For what purpose is the steering system used?

S.: The steering system is used for changing the direction of the

car movement.

T.: And what is the function of the brakes?

S.: Brakes are used to slow or stop the car.

T.: That's right. You know the subject very well.

Yupaxnenue 10. [lepeBennure TEKCT Ha PYCCKUH SA3bIK, [10JIb3YSICh
CIIOBapeM.

Basic Troubles of Transmission Mechanism

The transmission of the engine torque to the driving wheels of the
mitomobile must be smooth. There should be no vibration in the op- c rat
ion of transmission mechanism within the range of travelling speeds.
The indications of malfunctions in the transmission mechanism
components are as follows:

l.incomplete disengagement of the clutch;

2.difficult engagement or self-demeshing of gears;

3.run out and vibration of the cardan-drive shatft.

What to do in these cases:

1.Check the free travel of the clutch pedal and adjust it.

2.Check the oil level in the gearbox housing and wash breather channel.
3.Check to see that all the fastening bolts are securely tightened and that
the trunnion crosses fit properly the bearings, and the bearings, in turn,
the universal-joint forks.

CJIOBAPH YPOKA



1.unjust - perynupoBatb

2.attach - mpUKperIATH

3.be capable - ObITH CTOCOOHBIM
4.breather channel - xkanan canyna
5.check - mpoBepka

6.decrease the speed — cHmKaTh
CKOPOCTh

7.driven wheels — Beomble
KoJseca

8.driving wheels - Bexymmue koneca
9.engine crankshaft —
KOJICHYATBIH BaJI JIBUTATEIS

10. fastening bolts — kpemnexHbie
00aTHI

11.fit properly - noaroHsTH
JOJDKHBIM 00pazom

12.flywheel — maxoBuk

13.frame - pama

14.free travel - cBOOOIHBIN X0
15.gear lever — pbryar KopoOKu

nepeaay

16.greater portion of the car weight
-0oJIbIIast YacTh Beca aBTOMOOWMIIS
17.hold the car position —

yIEpKUBATh aBTOMOOHIIb B

HY)KHOM HaTpaBJICHHN

18.housing — xaprep, Kopmyc
19.in turn — B CBOIO ouepeab

20.incomplete disengagement —

HEMOJHOE OTKIIOYCHHE
(cuernneHus)

21.level — ypoBeHb

22 fastening bolts-kpenéxHeie
O0NTHI

23 fit properly- moaAroHsATH
JOJDKHBIM 00pa3omM

24 malfunction — HemoJaanKu,
HeHcrpaBHas pabora

25.mount - ycTaHaBIMBATh
26.move up and down —
JIBUTaThCsI BBEPX U BHU3
(moamphIruBaTh HA HEPOBHOM OpOre)
27.power transmission - CHJIOBast
nepeaaya

28.rear wheels — 3agHue kKoneca
29.run out - u3HOC

30.running gear — X0/J10Bast 4aCTh
31.self-demeshing of gears -
caMopa3beAMHEHHUE 1IECTEPEH
(camopacriernieHue)

32.springs — peccopsl

33. steering system - pyneBas
cucremMa

32.steering wheel - pyneBoe komneco
(pya)

32.support — MoAJIep>KUBaTh,
(omupatbcs Ha)

36.tighten — 3akperuiArs,
3aTATUBaTh

37.torque - KpyTSILIUA MOMEHT
38.tractive effort — tsrosoe ycusume
39.travelling speed — ckopocTb
€371bl

40.trouble — HeucnpaBHOCTH
41.trunnion Cross - KPeCTOBHHA
KapJaHa

42 universal-joint forks - Bunku
KapJiaHa

43.wash — npombIBaTh

within the range — B npezaenax



Unit Five

Text: Frame
Dialogue

IIpearexcroBble ynpakHeHHUS
The exercises to be done before reading the text
Ynpaxuenue 1. [Ipoutute ci0Ba v CIOBOCOUETAHUS U BHIYUUTE

UX PYCCKHE DKBUBAJICHTHI.

frame — pama

twist - kpyueHue
support — oropa
suspension - ojBecka

reinforce — ycuinBarb
insulate — u3onupoBarth
rigid — xecTkuit

rubber pad - pe3nHOBas

body - xy30B HPOKJIaJKa
channel section — nonas mining - NpoO4YHBIN
CEKIIHS unibody construction —
longitudinal members - KOHCTPYKINA
nomKepoHsl weld — withstand strains —
CBapuBaTh BBIJACPKUBATh c
cross members — HECYIIIMM KY30BOM
IIOTICPCUHHBI Harpysku

rivet — 3aKJICIIBIBATh strengthen — yKkpenarh

Ynpaxnenue 2. [lepeseure Ha pycCKUM SA3bIK
WHTEPHAIIMOHAIIBHBIE CIIOBA.
Chassis, structure, system, integral, construction, steel, vibration,
passenger, metal, contact.
Yupa:xkuenue 3*. [lepeBeaure cioBa, oOpaias BHUMaHHE Ha
cyhdukcel.
To found - foundation; frame - frameless; to construct - con-
struction; structure — structural — structurally; to attach —
attachment; to vibrate — vibration; to insulate - insulation; usual
— usually.
IIpoumume u nepegedume mexcm, a 3amem 8bINOJIHUME
creoyoujue 3a HUM YRPariCHeHUs.

TEXT

Frame



The foundation of the automobile chassis is the frame which
provides support for the engine, body and power-train members.
Cross

members reinforce the frame. The frame is rigid and strong so
that it can withstand the shocks, vibrations, twists and other strains
to which it is put on the road.

The frame provides a firm structure for the body, as well as a
good point for the suspension system. There are two types of
frames, namely: conventional frames and integral (unibody) frames
(frameless constructions).

Conventional frames are usually made of heavy steel channel
sections welded or riveted together. All other parts of the car are
attached to the frame.

In order to prevent noise and vibrations from passing to the
frame and from there to the passengers of the car, the frame is
insulated from these parts by rubber pads.

It is also important to insulate the frame in order to prevent
metal- to-metal contacts.

Frameless (unibody) constructions are called so because they
are made integral with the body. The body parts are used to
structurally strengthen the entire car. Some unibody frames have
partial front and rear frames for attaching the engine and
suspension members.

[TocnerekcroBsle ynpaxxueHnus: The exercises to be done after
reading the text

Ynpaxuenue 4. Haiiiure B TEeKCTE U BHIUIINTE aHTJIMICKUE
HKBHUBAJICHTBI PYCCKUM TEPMHHAM.

JloHXepOHBI, TOTIEPEUHHBI, )KECTKUMN, TIPOYHBIH, BRIACPKUBATH
Harpy3Ku, oJiBecka, 00bI4Hast (oOuienpuHsTas) pama, 6e3paMHas
KOHCTPYKIIUSI, TIOJIbI€ CEKIIMH, CBAPCHHBIE UITU 3aKJICTIaHHbIE,
MPUKPEIUISATH K paMe, Pe3UNHOBBIC POKIAAKH, YKPETLUISATh.

Yupaxuenue S. Haliqure B TEKCTE OTBETHI HA BOIIPOCHI.
1.What does the frame provide?



2.Why is the frame rigid and strong?

3.What types of frames are there?

4.What is the conventional frame made of?

5.By what is the frame insulated from the other car parts? For what
purpose?

6.What do you know about unibody frames?

YupaxHenue 6. [Tonbepure u3 npaBoii KOJIOHKU
COOTBETCTBYIOIIME OKOHYAHUS JUIS IIPEIIOKEHUM U3 JIEBOU
KOJIOHKH.

1.The frame provides a. channel sections welded to-
support for.... gether.

2.Conventional frames are |b. prevent noise and vibrations
made of.... from passing to the passengers.

3. Tameless constructions [c. cross members.
are made....
4.The frame is insulated d.. the engine, body and power
from other parts in order to [train members.

5.The frame is reinforced . integral with the body.
by....

Ynpaxunenne 7*. [lepeBeaure npeyiokKeHst Ha PyCCKUM SA3bIK.
O6parute Banmanue Ha Complex Object.

1.We know the frame to be the structural centre of any car.

2.Car special ists consider the conventional frame to be extremely
rigid and strong.

3.We know the frame to be insulated from the other parts by rubber
pads to prevent metal-to-metal contacts.

4.Many specialists consider the body parts to be used to structurally
strengthen the entire car.



5.The manufacturers beUeve the unibody constructions to be called
so because they are made integral with the body.
Ynpaxunenne 8. [lepeBeure TEKCT, HE MOJIB3YSICH CIIOBAPEM.

The frame is a structural centre of any car as it provides support
lor the engine, body, wheels and power-train members.

Cross members reinforce the frame and provide support for the
engine and wheels. The frame is extremely rigid and strong. The
engine is attached to the frame in three or four points and insulated
in I liese points by some rubber pads to prevent vibration and noise
from passing to the frame and thus to the passengers. There are two
types of frames: conventional construction and unibody one.
Ynpaxnenue 9. [lepeBenure npennoXeHuss Ha aHTJTUHACKUI
S3BIK.

1. Pama oGecnieunBaeT onopy [Uist Ky30Ba, JBUTATENs U Y3JI0B
CUJIOBOM IlepefjauH.
2.0Ha COCTOUT U3 JIOH)KEPOHOB U MOIMEPEYHH, KOTOPbIE YCHU-
JIMBAIOT pamy.
3.Pama nomkHa BbLACPKUBATH BUOPAIMIO, KPYYCHHS U PYTHE
Harpy3ku (HanpspKeHHs).
4.PaMbl OBIBAIOT IBYX THIIOB: OOBIYHbIE (CTAHJAPTHHIC) U
BBITNIOJTHEHHBIE BOEMHO C Ky30BOM.
5.CraHIapTHBIC paMbl H3TOTOBIICHBI U3 CTAIBHBIX MOJIBIX CEKIIUH,
CBApEHHBIX WJIM 3aKJICIAHHBIX BMECTE.
6.be3pamMHbIe KOHCTPYKIIMU BBIMOJIHEHBI BOSTUHO C KY30BOM.
7.Pama n3onmpyeTcs OT Ky30Ba pe3MHOBBIMU MPOKJIAJAKAMH, YTOOBI
IIyMBI 1 BUOPALIUU HE MTPOXOIUIIN K MACCAKUPAM aBTOMOOWIIS.
Ynpaxunenne 10. [Ipoutute quanor, a 3aTeM pasblrpaiiTe €ro B
napax.

DIALOGUE
Stas: Hi! Seen you for ages! How are you?
Vlad: Hi! I'm perfectly well! I am working at a repairing shop.
Very interesting I can tell you.
S.: What are you doing there?
V.: Now, we are testing the frame. You see, the driver has got into
trouble. Something is wrong with his car. He thinks it is the frame.



S.: Has the car a conventional frame or a unibody frame?

V.: Unibody frame.

S.: I think you have to do a lot of work as body parts strengthen the
entire car.

V.: Sure. We are testing all parts in order to find out the damage.
S.: I think you will cope with the problem.

Notes:

seen you for ages — He Buen T€0s CTO JIET;

perfectly well — npexpacHo;

get into trouble — nonacte B 6exy;

be wrong with — urto-T0 He Tak;

sure — KoHEYHO (0e3 COMHEHHS);

find out the damage — oTbIcKaTh NOBPEXKICHUE;

cope with — cnipaButbcs (¢ mpobiemMoit).

CJIOBAPH YPOKA
aligment - BrlpaBHUBaHuE rivert — 3aKJensiBaTh
attach — npukperarTs rubber insulator —
conventional frame - pEe3UHOBas MPOKIIAIKa
oOmienpuHsATas pama strengthen — ycuiuBath
extremely rigid — oueHs suspension system - cucrema
KeCTKast IIOABECKHU
fasten — cxpemiATs, weld — cBapusars
3aKpEILIATh
firm structure — kpenkas
(mpouHas)
KOHCTPYKLUS

frame — pama

heavy steel — npoynas craib
integral frame — pama,
BBIIIOJIHEHHASI BOEJUHO

pad — noxymka

provide — oGecreunBaTh
reinforce — ykperiirs,
YCUJIMBaTh



Unit Six

Text: Clutch
Dialogue

IIpeaTrexkcToBBIC YIIPAKHEHUSA
The exercises to be done before reading the text
Ynpaxuenue 1. [Ipouture ciioBa v CI0BOCOUYETAHUSI U IOCTAPANUTECH
3alIOMHUTb UX PYCCKUE SKBUBAJICHTBHI.

friction device — (pukunonHoe
pressure disc — Ha)XUMHOU JTUCK
YCTPOMCTBO

hard-wearing material - u3Hoco-
connect — COCIUHATH

CTOMKHU MaTepuan

gearbox — xopoOka nepenau
frictional force - cuia TpeHus
start the car - 3aBectu aBTOMOOUJIH
clutch pedal — nenans cieruenns
release the engine —
OTCOEANHUTH

at rest — B oxoe
JIBUTATEIh

is engaged — srimoueno(noxcoenn-

fix — xpenuTsh (ycTaHaBIMBATH)
HEHO)

flywheel - maxoBuk

is disengaged - oTkiII0UE€HO

friction disc (plate) —

(bpPUKIIMOHHBII

run idly - paboTars BX0JIOCTYIO

JTUCK

Yupa:xuenue 2*. [lepeBeaure cioBa, oOpaias BHUMaHUE HA

cy(hdukce 1 npeuKCHI.

Connect — disconnect — connection — disconnection; operate —
operation; friction — frictional; engage — engagement —

disengagement.

Ynpaxuaenne 3. [Ipourure u nepeBeanTEe HHTEPHALMOHAIIBHBIE

CJIoBa.

Start, disc, friction, frictional, material, base, principal, control, pedal.
Ilpoumume u nepegedume mexcm, a 3amem 8blNOJIHUME CLEOVIOUjUEe

34 HUM YnpasiCHEHUA.

TEXT
Clutch
The clutch is a friction device. It connects the engine to the gears in
the gearbox. It is used for disconnecting the engine from the gearbox, for
starting the car and for releasing the engine from the car wheels.



Fue, 2 Cluich

| Mywheel — smaxonsx 5. cover — KpRImK:

3. Mriction disc — dpakumonni auck 6. thrust bearing — ynopruii moa-
3. presure dise — nammmioi mcx HIMTHHE

i, wpring — npyscnna 7. lever — pawar

8. pedal — meaane.



The clutch is fixed between the flywheel of the engine and the gearbox
und consists of two plates (discs): the friction disc and the pressure disc.
The friction disc is situated between the flywheel and the pressure plate
and has a hard-wearing material on each side.

The basic principal operation of the clutch is a frictional force acting
between two discs. The clutch is controlled by the clutch pedal. When the
pedal is at rest the clutch is engaged and the running engine is connected to
the gearbox. When the pedal is pressed down the clutch is disengaged and
the engine runs idly.

IMociieTekcToBBIE YIPAKHEHUS
The exercises to be done after reading the text

Ynpaxunenue 4. Haliqute B TeKCTE JaHHBIE HUXKE CJIOBA U HAMMILIUTE
UX PYCCKUE SKBUBAJICHTHI.

Friction device, clutch, gearbox, to free, to start, to release, flywheel,
pressure plate, basic principle of operation, to fix, hard-wearing material,
to consist of, to be controlled by, running engine, to run idly, to engage, to
disengage, to press down, to be at rest.

Yupaxuenue S. Haliure B TEKCTE OTBETHI HA CJIEAYIOLIUE BOIIPOCHI:
1.What device is the clutch?

2.What units does it connect?

3.What is the clutch used for?

4.Where is the clutch placed?

5.What plates does the clutch consist of?

6.What is the basic principal operation of the clutch?

7.What is the clutch controlled by?

8.What takes place when the clutch pedal is at rest?

9.When does the engine run idly?

Yupa:xknenue 6. 3aKOHUHMTE MPEATIOKEHUS, BBIOpPAB COOTBETCTBYIOILEE
JIOTMKE OKOHYaHHE.

1. The clutch is a device connecting ....

a).the rear axle and axle shafts.

b).the gearbox and differential.

c).the engine and the gearbox.

2.The clutch is situated between ....

a).the gearbox and cardan shaft.

b).the flywheel and the gearbox.

c).the gearbox and rear axle.



3.The clutch is controlled by ....
a). the brake pedal
b). the clutch pedal.
c).the gearbox and rear axle.
4.The clutch is engaged ....
a).when the clutch pedal is pressed down.
b).when the clutch pedal is at rest.
5.The clutch is disengaged ....
a).when the clutch pedal is at rest.
b).when the clutch pedal is pressed down.
Yupaxuenue 7. [Ipouture 11aior ¥ BBITOJIHUTE CIAEAYIOLIME 38 HUM
YIPaKHEHHUSL.
DIALOGUE
A.: What is the function of the clutch?
B.: You see, it serves three functions. It is used for freeing the engine
from the gearbox, for starting the car and for freeing the engine from car
wheels.
A.: Is it a friction device?
B.: Yes, of course. It is fixed between the flywheel of the engine and
the gearbox and usually consists of two discs.
A.: What discs?
B.: The friction disc (driven disc) and the pressure disc.
A.: I suppose the principle of operation of clutches is a frictional
force between discs. Am I right?
B.: Yes, you are. When the clutch is fully engaged the frictional force
makes discs rotate at the same speed.
A.: And by what is the clutch controlled?
B:.By the clutch pedal. When it is at rest the clutch is engaged and when
it is pressed down the clutch is disengaged and the engine is disconnected
from the car wheels.
A.: Thank you. And what types of clutches do you know?
B.: Positive clutches and gradual engagement clutches.
A.: Thank you very much for your information.
B.: Not at all. Glad to help you.
Ynpaxuenue 8. Hailinute B quanore aHTIUNACKIE SKBUBAJIEHTHI
CIIETYIOLINM PYCCKUM TEPMUHAM U BBITUIIUTE UX.



OyHKIMS CHETIICHUS], 1711 OTKIIIOYESHHUS IBUTATEINS OT KOPOOKH nepeiad,
KPEMUTCS MEXJy MaxOBUKOM U KOpPOOKOW mnepenad, (HpUKIMOHHBIN
(BemOMBIi) TUCK, HAXKUMHOM AMCK, (DPUKIMOHHAS Cuia, CLEIJICHUE
BKJIFOUEHO, II€Jajlb B MCXOJHOM IIOJIOXKEHHM, IEAadb CLEMICHUS]
HaXkaTa.

Yupaxksenue 9. 3anuimnTe Ha ayIUOKacCceTy PEIUTUKU coOeceTHuKa A
U TIOBTOPSIITE B May3ax peruiuKu cobeceanuka B.

Yupaxuenue 10. 3anuimuTe Ha ayJMOKACCETy PeIUIMKU cobeceiHnKa B
U TIOBTOPSIITE B May3ax PeIIiuKu coOeceHuKa A.

Ynpaxkuenue 11. Pa3sirpaiite quanor B nape.

Yupaxnenune 12. IloxbGepure w©3 mpaBoi KOJOHKH PYCCKHE
HKBUBAJICHTHI aHIJIMICKUM CJIOBAM U3 JIEBOW KOJIOHKU U MPOBEPHTE CeOs

0 KITIOUY.
1. a friction device 3aBECTH aBTOMOOMIIb
2. gearbox (PUKIMOHHBIN TUCK
3. to start the car MaxOBUK
4. to release the engine MU3HOCOCTOMKHUI MaTepuanl
5. is fixed paboTaTh BXOJIOCTYIO
6. flywheel COCIIUHSTHCS
7. the friction disc CHJIa TPEHHUS
8. the pressure disc pa3beTuHATHCA
9. hard-wearing material (pPUKIMOHHOE YCTPOHCTBO

10. frictional force

11. the clutch pedal

12.to be engaged

13.to be at rest

14.to be disengaged

15.to press down on the pedal
16.to run idly

HaXOJUTHCS B TIOKOE
3aKperieH

realib CIETICHUS
Ha)kaTh Ha Ieaaib
OTCOEUHUTD JIBUTATEIh
Ha)XKUMHOU JUCK
KOopoOka nepeaay

SSCBETFT PR O a0 oP

Yupaxknenue 13. 3akoHUNTE MPEIOKEHUS, HCIIONB3Ys HEOOX0AUMBIE
CJIOBA WJIU CIIOBOCOYCTAHHMS, JIaHHBIC HIDKE.

A.:What three functions does the clutch ... ?

B.:It is used for ....

A.:Where is it... ?

B.:It is ... between the flywheel of the engine and the ....



A.:By what is the clutch ... ?

B.:1t is ...by the....

A.:What takes place when the pedal is ... ?

B.: The clutch is ....

A.: And when the driver pushes down on the pedal?
B.: The clutch is ....

freeing the engine from the gearbox, serve, fixed, gearbox, controlled,
starting the car, freeing the engine from the car wheels, pedal, at rest,
engaged, disengaged, do, located.

Ynpaxuenue 14. [lepeBeaure Ha aHTTTUNUCKUI S3bIK CIEAYIOLINE
MIPEUI0KEHUSL.

1. Cueruienue — 3T0 PPUKLHUOHHOE YCTPOHCTBO.

2. CueruieHue COeIMHAET JBUTaTellb M KOPOOKY repead.

3. CuenieHre pacoioKeHO MEXKIY MaXOBUKOM JIBUTATENSI U KOPOOKOM
nepesad.

4. Kak npaBuiio, CUEIUIEHUE COCTOUT U3 JIBYX AUCKOB: BEOMOIO U
Ha)XKMMHOTO.

5. CuenuieHue yrpaBJisieTcsl MeAaIbIo CIETUICHUS.

6. Korga nexanpb cueruieHust HaX0JUTCs B TIOKOE, TUCKU CLCTICHUS
COEIMHEHBI U paboTaIOUIHii ABUraTeIb COSIUHEH C KOPOOKOH nepenay u
KOJIECaMH.

7. Korga BoauTenb HA)KMMAeET Ha Mealb CLEIUICHUs, TUCKU OTXO/ST,
CLIETIJICHUE OTCOEAMHATCS M JBUTaTeNlb pPab0TaeT BXOJIOCTYIO.
CJIOBAPH YPOKA

be at rest — OBITb B ICXOTHOM fix — ¢uxcuponars,

MIOJIOXKE- yCTaHaBJIUBAaTh

HUH (B ITOKOE) flywheel — maxoBuk

car wheels - xoneca aBromo6uns  friction plate (disc) -

clutch - cuennenue (GPUKIMOHHBIHN (BEJOMBIN) TUCK
clutch pedal — nenans (cuerutenus) frictional force —
CLIETUICHUS CHJIa TPEHHUS

connect — COCIUHATH gear — LIECTEpHS; Ilepeaayda
control — ympaBisaTh gearbox — xopoOka nepenau
disconnect — oTcoeqUHATH hard-wearing material —
disengage - oTKJII0O4aThH HM3HOCOCTOMKHI MaTepuall

engage — BKJIIOYATh



press down the pedal - Haxxumatb
Ha neaaib

pressure plate (disc) - HaxxuMHOU
JUCK(CUETIIICHUS )

principle of operation —
MIPUHIUIT JEACTBUS

release — oTIyckarb

run idly- paboTath BX0JIOCTYIO
running engine — paboTaromuii
JBUTaTeNhb



Unit Seven

Text: Gearbox
Dialogue

IIpeaTexcroBbIe yIIpakHEHU
Exercises to be done before reading the text
Ynpaxunenue 1. [Ipoutute coBa U CIOBOCOYETAHUS U 3aIOMHUTE UX

PYCCKHE SKBHBAJICHTHI

gear — ILIECTEPHSI, Iepeaaya
gearbox - kopoOka nepenauy
gearing - 3ybuaToe coeluHEHUE
road conditions — 10po>xHbIE
yCIOBUS

forward speed — nepenusisa
CKOpOCTh

reverse drive - oOpaTHbII
(3amHui)  XOn

low gear - nepBas nepenaya

top gear — uerBepras (mpsmast)
nepeaaya

sliding-mesh gearbox - kopoOka
nepeaay co CKOJIb3AIIMMHU
HIECTEPHAMHU

constant-mesh gearbox- xopoOka
nepesiad ¢ MOCTOSIHHBIM 3allerlie-
HUEM ILeCTepeH

epicyclic (planetary) gearbox -
SMULMKINYECKas (TUIaHeTapHast)
KOopoOka nepeaay

ordinary gearing — cTaHiapTHoOe
3yOuaToe CoeAMHEHNE
characteristic feature —
XapakTepHast 0COOEHHOCTb

fixed axes - 3aukcupoBaHHbIE
(HermoIBMXKHBIE) OCH

rotate bodyly — Bpamarscs
KOPILyCOM

axis - ocb

axle — Ban

secure — o0ecle4YnuTh

shifting — nepexmouenue

in direct line-BaxxHo

Ynpaxnaenue 2. [Ipouture u nepeBeauTe Ha PYyCCKUH A3bIK HHTEPHA-

OUOHAJIbHBIC CJIOBA.

Principal, function, construction, constructional, class, classify, type,

planet, planetary, history, historical.

Yupa:xkuenue 3*. [lepeBeaure cinoBa, oOpaiias BHUMaHHE HA

cyddukcer.

Move — movement, construct — construction — constructional,
arrange — arrangement, history — historical — historically, wide —
widely, vary — various, simple — simply, body — bodily.

Hpoqmume meKkcm, a 3amem 6blnojinume CJleoonuﬂle 34 HUM YRPANHCHEHUA.



TEXT
Gearbox

The gearbox is placed between the clutch and the propeller shaft. I lie
principal function of the gearbox is to vary the speed of the car
movement to meet the road conditions. The gearbox provides four for-
ward speeds and one reverse, as follows:

1. First or low gear;

2.Second gear;

3.Third gear;

4.Fourth or top gear;

5.Reverse gear.

There are many constructional arrangements of gearboxes, which can
be classified as follows:

1.Sliding-mesh type;

2.Constant-mesh type;

3.Epicyclic (planetary) type.

The sliding-mesh type is the simplest one and is the oldest historically.
The constant-mesh type is the most widely used type. They are termed
"ordinary" gearing, the characteristic feature of which is that I lie axes of
the various gears are fixed axes. The gears simply rotate about their own
axes.

The characteristic feature of epicyclic (planetary) gearing is that one
gear rotates about its own axis and also rotates bodily about some other
axis.

To secure the several speeds of the car the clutch shaft is mounted In
direct line with the gearbox shaft. The gearbox shaft carries on it the
sliding gears which are used for shifting to secure the forward speeds and
the reverse drive.

IMocieTekcToBBIE YIPAKHEHUS

The exercises to be done after reading the text
Ynpaxaenue 4. Haiiiute B TEKCTE OTBETHI HA BOIIPOCHI.
1.Where is the gearbox situated?
2.What is the function of the gearbox?
3.What speeds does the gearbox provide?
4.What types of gearboxes do you know?
5.Why is the clutch shaft mouned in direct line with the gearbox shaft?



Yupaxknenue 5. [TonGepute n3 npaBoil KOJOHKU COOTBETCTBYIOIIHE
OKOHYAHUS IPEATI0KEHUHN U3 JIEBOU KOJIOHKH.

1.The principal function a).sliding-mesh type, constant

of the gearbox is.... mesh type and planetary type

2.The gearbox provides .... b). the simplest one and histori-
cally oldest

3.Gearbox can be .... c).to vary the speed of the car

4.The sliding-mesh gearbox is d). four forward speeds and one

reverse

5.The constant-mesh gearbox e). the most widely used.

is....

Ynpaxaenue 6. [lepeBenure npeanoxeHuss Ha AHINIMUCKUI A3BIK.
1.Kopobka nepenau npeaHasHadeHa sl U3MEHEHUS] CKOPOCTH
JBYKEHUS aBTOMOOMIIA.

2.KopoOka nepenau oOecrieynBaeT 4eThIpe NMepeJHIe CKOPOCTH U
3aJHUN XOJI.

3.KopoOku nepenad MOTyT OBbITh: CO CKOJIB3SIIIMMU [IECTEPHIMH, C
MOCTOSIHHBIM 3aLIeTUIEHUEM LIECTEPEH U IJIaHETApHOTO THUIA.
4.CaMbIMH ITPOCTBIMH SBIISIIOTCSI KOPOOKH Tepeiad CO CKOJB3AIIIMHU
IIECTEPHSIMHU.

5.Kopobku nepeay ¢ MOCTOSIHHBIM 3alleTUIEHUEM [IeCTEPeH
UCTIOJIb3YIOTCSl HanboJiee 4acTo.

6.CKoJp3s11re ecTepHU Ha Baly KOPOOKH Mepeiad UCTIOIb3YIOTCS IS
oOecrieyeHus NMePeHUX CKOPOCTENH U 0OPAaTHOTO X0/1a.

Ynpaxuenue 7. [IepeBenure TEKCT, MOJIB3YACh CIOBAPEM.
Gearboxes are assembled and disassembled on special stands using
special mechanisms. In case of trouble in change-speed gearbox it can be
repaired only in the workshop. But in order not to get into trouble you
should do the followings steps:

a).check the oil level in the gearbox casing;

b).wash the breather channel;

c).change the oil in accordance with the lubrication schedule;

d).wash the gearbox with a thin mineral oil;

e).drain the used oil through the drain hole.

Yupaxaenue 8. [Ipoutute quanor u passirpaiiTe ero B napax.



DIALOGUE
Mike: Peter, do you remember what our teacher told us last time?

What do you know about gearboxes?

Peter: I know that the gearbox is used to change the speed of the car.
M.: And how many speeds does the gearbox provide?

P.: It can provide four forward speeds and one reverse.

M.: Into what types are the gearboxes divided according to their

arrangements?

P.: They are divided into sliding-mesh type, constant-mesh type

and epicyclic type.
M.: What type is the simplest?
P.: The sliding-mesh one.

M.: Thank you very much for you help.
P.: You are welcome. Glad to help you.

CJIOBAPB YPOKA

assemble — coOupatb

axis - ocb

axle — Ban

breather channel — xanan
camyHa

constant-mesh gearbox —
KOpoOKa nepezay ¢ MOoCTOSTHHBIM
3alleMJIEHUEM LLIECTEPEH
disassemble - pa3bupats

drain hole - ciiuBHOe oTBepcTHE
epicyclic (planetary) gearbox —
SMULMKIINYECKas (IUIaHeTapHas)
KopoOKa mepenad

forward speed — nepennsist
CKOPOCTh

gearbox — xopoOxka nepenau
gearbox casing — kaptep
KOpOOKH repenay

gearing - 3y0uaToe CoeIMHECHUE
get into trouble — nmonacts B
oemy

lubrication - cma3zka

oil level — yposenb macna

repair — peMOHTHUPOBAaTh
repairing shop (workshop) —
PEMOHTHAsI MacTepCcKast

reverse drive - 3agHUN X0
shifting — nepexmouenue
sliding-mesh gearbox — xopobka
nepeaay co CKOJIb3AIIMMHU
LIECTEPHAMU

stand — crenpg

thin oil — nerxoe (>kuaKoe) Maco



Unit Eight
Text: Brakes
Dialogue
IIpeaTexkcToBbIE YNIPAKHEHUS
Exercises to be done before reading the text
Ynpaxunenue 1. [Ipourute c10Ba U CJI0BOCOYETAHUS U 3ATIOMHHUTE
HX PyCCKHe 3KBMBAJICHTHI.

brakes — Topmo3a band brake — nenTo4HBIN TOPMO3
force the fluid — noxasats disk brakes - nuckoBbie TOpMO3a
KHUIKOCTb

performance - pa6ora shoe brake — xonoaouHbIN
under pressure - MOj AaBJeHHEM  TOPMO3

safety — Oe3zomacHoCTh hydraulic assisted brakes —
brakes are applied — Topmo3a TOPMO3a C TUIAPABINYECKUM
cpabaThIBalOT IIPUBOJIOM

depend — 3aBucer brake shoes — xonoaxu ropmo3sa
slow — 3ameATH brake fluid — Topmo3Has
braking effort - Topmo3Hoe ycunue XUIKOCTh

divide - paznensars brake pedal - Topmo3Has nenanb
push down on the brake pedal -

Ha)XaTh HA TOPMO3HYIO II€1AJIb master cylinder - rinaBHbI
namely - UMEHHO LWIHHJD

drum brakes — GapabanHbie

TOpMO3a

YupaxHenue 2. [Ipoutute 1 nepeBenTe MHTEPHAIIMOHAIIBHBIE CIIOBA.
Mechanism, passenger, type, hydraulic, cylinder, vacuum, function,
classify, classification, mechanical, electric, electromagnet.
YnpaxHenue 3*. [lepeBenute cioBa, oOpaiias BHUIMaHUE Ha
cyhdukcsr.

Safe — safety; to improve — improvement; to move — movement; to
drive - driver; to apply - application; to attach - attachment; to arrange -
arrangement; to perform - performance; name - namely; to operate —
operation; to equip — equipment.

Ilpoumume mexcm, a 3amem 8blnOJIHUME CIEOYIOULUE 30 HUM
YRpax@cuenus.



TEXT

Brakes
Brakes are used to slow or stop the car where it is necessary. It is one of
the most important mechanisms of the car as upon its proper
performance the safety of passengers depends. Car brakes can be divided
into two types, namely: drum brakes and disc brakes. The drum type may
be either a band brake or a shoe brake. Depending on their functions, the
automobile has foot brakes and hand brakes (parking brakes). According
to their mode of operation, the brakes are classified as: mechanical
brakes, hydraulic brakes, airbrakes, electric brakes. Brakes are controlled
by the brake pedal.
Most braking systems in use today are hydraulic. This system consists of
a master cylinder mounted on the car frame and wheel cylinders. When
the driver pushes down on the brake pedal, it forces the piston to move in
the master cylinder and brake fluid is delivered from 11 to the wheel
cylinders. The piston movement causes brake shoes to move and the
brakes are applied (the brake shoes are pressed against the brake drums).
The air brake uses compressed air to apply the braking force to the brake
shoes.
Electric brakes use electromagnets to provide the braking effort against
the brake shoes.
Formerly brakes were applied only to the two rear wheels, but now all
cars are equipped with all-wheels brakes. Today many improvements are
being made in brakes.

piston
B
brake shoe

wheel



Puc. 3. Brake System

IMociieTekcToBBIE YIPAKHEHUS
The exercises to be done after reading the text

Ynpaxknenne 4. Haligute B TeKCTe aHIIHIICKHE YKBUBAJIECHTBI
CJIeYIOIHX PYCCKHX TEPMUHOB U BBINMIIATE HX.
Topmo3a, 6e30MacHOCTh TACCAKUPOB 3aBUCHT OT MPABUIILHON PabOTHI
TOPMO30B, 6apabaHHBIE TOPMO3a, JUCKOBBIE TOPMO3a, TOPMO3a C
YCUIIUTEIIEM, TUAPABIMYECKUI IIPUBOJ TOPMO30B, KUJKOCTD 0]
JaBJICHUEM, TOPMO3a CpabaTHIBAIOT, TOPMO3HOE YCHIINE, HAXKATh Ha
TOPMO3HYIO TTEealh.
Yupaxuenue S. Haliiure B TEKCTE OTBETHI Ha CIIEAYIOLIUE BOIIPOCHI:
1. What is the function of the brakes?
2. What types are brakes divided into?
3. What brakes do you know according to their mode of operation?
4. What braking systems are used today?
5. By what are brakes controlled?
6. When are brakes applied?

Ynpascnenue 6. Boinnumre u3 npaBoii KOJIOHKH PYCCKHE CJI0BA U
CJIOBOCOYETAHUS, COOTBETCTBYIOIIME AHTJIUCKUM M3 JIeBOM
KOJIOHKH.

1.performance a. 3aBUCETh OT

2.the safety of passengers . 6apabanHbIe TOpMO3a
3.to depend upon C. TOpMO3a CpadaThIBAIOT
4.namely d. TopmMO3a ¢ rupaBINYEeCKUM
5.drum brakes MPHUBOZIOM

6.disc brakes . pabora (neicTBue)
7.brakes are applied f. uMeHHO

8.hydraulic assisted brakes |g. Topmo3a ¢ ycunuTenem
9.power assisted brakes h. mox naBneHMeM

10.to press down on the brakeji. Ha)xaTh Ha TOPMO3HYIO I1€
pedal mab




. 6€30MacCHOCTh MACCAKUPOB
Yupaxknenue 7. [Tonbepute U3 npaBoit KOJIOHKU
COOTBETCTBYIOIIECE OKOHYAHUE JUIS IPEUI0KEHUN U3 JIEBOU

11.under pressure h JMCKOBBIE TOPMO3a

KOJIOHKH.
1.Brakes are used for... a. disc brakes and drum brakes
2.Brakes are one of ... b. the driver pushes down on the

pedal

3. Brakes may be of 2 types:...|c. the brake pedal

4. Brakes are applied by d. stopping the car
5. Brakes are applied when |e. the most important mechanism of

the car

Ynpaxuenne 8. [lepeBeaure cienyronue NpeagoKeHNs Ha aHNIMHACKUN
SI3BIK.
1.Topmo3a sBISIFOTCSL HanOOJIee BaYKHBIM MEXaHU3MOM aBTOMOOWIIS.
2.0HH UCTIONB3YIOTCS JUIs 3aMEJUICHHS IBHKCHUS WIH OCTAaHOBKHU
aBTOMOOMIIS.
3. TopMo3a MOKHO pa3/IeNuTh Ha JjBa THUIA, @ UMEHHO: OapabaHHbIe
TOPMO3a U JUCKOBBIE TOPMO3a.
4.Ha 60bIIMHCTBE aBTOMOOMJICH NCIOIB3YeTCs THAPABINYECKUN
NPUBO/JI WJIM THEBMAaTHYECKUH TIPHBOI.
5. Topmo3a cpabaThIBaIOT, KOT/Ia BOAUTENb HAKUMAET Ha TOPMO3HYIO
neab.
YupaxHenue 9. [Ipournre 1MaJI0T, a 3aTeM BBINOJIHUTE CJIeAYIOIIHe
32 HUM YIPaKHEHHS.

DIALOGUE
Alex: Why are brakes used?
Boris: They are used to stop or to slow the car.
A.: Well, it is one of the most important mechanisms of the car, isn't it?
B.:Of course, the safety of the passengers depends upon their proper
performance.
A.:What types of brakes are used today?
B.:Drum brakes, disk brakes and others.
A.:And in what way are they applied?
B.:They are applied by the brake pedal. When the driver pushes down on
the pedal they are applied.



A.:Thank you. It was very nice of you to tell me this information.
B.:Don't mention it. I was glad to serve you.
Ynpaxunenne 10. 3anummuTe Ha Ay THOKACCETY PEeIIMKH AJIeKCa H
NMOBTOPANMTE B IIay3ax permku bopuca.
Ynpaxunenne 11. 3anummre Ha aynguokaccery peniuku bopuca n
MOBTOPANTE B Nay3aX PeIIMKH AJIeKca.
Ynpaxnenue 12. Pacckakure HAa aHTVIMIICKOM fI3bIKE, 0 YeM HAeT
peyb B AuaJjore.
Ynpaxnenne 13. Haiigure ad3anpl, B KOTOPBIX HET pedb O
ClUeINJIEHHH ¥ 0 TOPMO03aX M 3alUIIUTE UX B JIBe KOJOHKH.
Two stories — in one

1. Brakes are the most important mechanism of the car. They are used to
slow or stop the car where it is necessary.
2. The clutch is a friction device. It connects the engine to the wheels in
the gearbox. It is used for freeing the engine from the gearbox, for starting
the car and for releasing the engine from the car wheels.
3. It is fixed between the flywheel of the engine and the gearbox.
4. They are divided into 2 types, namely: drum brakes and disc brakes.
5. Most cars of today use hydraulic or power assisted brakes.
6. They may be of 2 plates: friction disc and pressure disc. The friction
disc is situated between the flywheel and the pressure disc.
Ynpaxnenue 14. [lepeBenure TEKCT, NOJIB3YSICh CIIOBAPEM.

Troubles in Braking System
The basic troubles of the braking system are as follows:
1. poor braking action;
2. sticking brake shoes which would not return to the initial position after
a brake pedal is released;
3. non-uniform braking of the left and the right wheels on a common axle;
4. leakage of brake fluid and air leakage in the hydraulic brake;
5. poor air tightness of the pneumatic brake control.
What to do:
1. Check the action of the foot and hand brakes and leak proofness of the
brake hoses connections, components of the hydraulic and pneumatic
controls of the brakes, as well as of the vacuum- power system.



2. Inspect the friction linings, wheel-brake springs, master and wheel
cylinders of the hydraulic brake and the air compressor of the pneumatic
brake using a test manometer to check it.

Ynpaxuenne 15. [lepeBeaure npennoxkeHus Ha aHITIMNACKAN A3bIK.
1.TopMo03a UCHOAB3YIOTCS ISl 3aMEICHUS! IBUKCHHUS WM OCTAaHOBKH

aBTOMOOWJIA.

2.B 3aBHCHMOCTH OT MPUBOJIA TOPMO3a KJIACCU(PULIUPYIOT HA
MEXaHMUYECKHUE, THIPABINYECKIE, THEBMAaTHUYECKUE U AIICKTPUUYECKHE.
3.Topmo3a yrpaBisitOTCsl TOPMO3HOU MEJANbIO.

4. Topmo3a cpabaThIBarOT, KOTJa BOAUTENb HAXKUMAET Ha TOPMO3HYIO
neaiab (TOPMO3HBIE KOJIOAKH MPHKUMAIOTCS K TOPMO3HBIM OapabaHam).
5.B mHeBMaTHYECKUX TOPMO3axX JJIsl CO3JaHUsI TOPMO3HOTO YCUIIHS

UCIIOJIb3YETCS CKATBIA BO3AYX.

6.B anexTpuyecKuX TOpMO3ax sl CO3/4aHNs TOPMO3HOTO yCUIIUS

HCIIOJIB3YCTCA SJICKTPOMATrHUT.

7.B coBpeMEeHHBIX aBTOMOOMIISIX UCTIOIB3YIOTCS TOPMO3a C IPUBOIOM Ha

BCE KoJieca

CJIOBAPb YPOKA

air brakes - nHeBMaTHuecKkne
TOpMO3a

bund brake - 1eHTOUYHBIN TOPMO3
brake drum — Topmo3HOI
Oapaban

brake fluid — Topmo3Has
KHUJIKOCTb

brake pedal — Topmo3nas nenane
brake shoe — Topmo3Has konoaka
brakes are applied - Topmo3sa
CpabaThIBatOT

braking effort — ropmo3noe
ycunue

common axle — o61mas och
control - ynpasiienue

disk brakes — nuckoBbie TopMO3a
drum brakes — GapabanHbIe
TOpMO3a

electric brakes — anexkrpuueckue
TOpMO3a

fluid — xuaKOCTH

foot brake — HOXHOI1 TOPMO3
force (cause) — 3acTaBIsITh

hand brake - pyynoi Topmo3
(CTOSIHOUHBII)

hydraulic brakes —
TUAPABINYECKHE TOPMO3a
leakage — yreuka

left wheel — neBoe koneco
master cylinder — rinaBHbIi

005 R107030110)

mechanical brakes -
MEXaHU4eCKue TOpMo3a

poor — TUIOXOM, CIIa0bIN
proofhess — cToitkocTh

release — oTmyckaTh, pa3beAUHATh
right wheel - npasoe xoneco



sticking - 3aenanue, npunnnanue
tightness — repmeTHYHOCTb
troubles — HeucnpaBHOCTH
wheel cylinder — xonecHblit
TOPMO3HOM LUIIMHIP



Unit Nine

Text: Steering System
Dialogue

IIpearexcroBble ynpakHeHHUA
The exercises to be done before reading the text
Ynpaxuenue 1. [IpouruTe cj10Ba U CJI0BOCOYETAHUSA U
3allOMHHTE UX PYCCKHe IKBHBAJICHTBI.

guide the car — ynpaBnsaTh
aBTOMOOMIIEM

means of turning — cpeznctso
II0OBOpPOTa

front wheels - nepennue
KoJeca

steering wheel — pyneBoe
KOJIECO

steering column — pyneBas
KOJIOHKa

for this purpose — as sToit
neian

pivot — mapHup

swing (swang, swung) -
IIOBOPA4YMBATHCSA

steering knuckle arm - peruar
IIOBOPOTHOTO KyJIaKa

tie-rod — nonepeynas tara

in turn — B cBOIO oYepeib
pitman arm - pyyieBas COIIKa

rack and pinion assembly —
PYJIEBOMMEXAHU3M C PEMKOU U
LIECTEPHEN

ball joint — mapoBoii mapHup
leverage — pbryakHbIN
MEXaHU3M

hose — mnanr, pykas

steering gear assembly —
PYJIEBOI MEXaHU3M

rack and pinion type -
pEEUHO-IIECTEPEHYATBIN TUIT
(pyneBoro MexaHus3ma)
recirculating ball steering -
PYJEBOI MEXaHU3M C
LIaPUKOBOM IaKOi
worm and sector — 4epBsK U
CEKTOP

injury - noBpexeHue

steering box - xaprep pysneBoro
ME€XaHHU3Ma

Yupaxxnaenue 2. [Ipournre cj10Ba H CONOCTABbTE UX C

PYCCKHMH 3HAYEHUSIMM.

column, spindle, system, hydraulic, pump, reservoir, popular, type,
effective, effectiveness, effectively, energy, function, to deform,

deformation.

Yupaxuenue 3*. IlepeBeaure cioBa, oopamasi BHUMaHHe HA

cyppuxcol H npeuKchl.



Rotate — rotation, apply — application, move — movement, de-
velop — development, drive — driver, form - reform - deform -
deformation, guide — guidance.
IIpoumume mexcm, a 3amem 8bINOAHUME CLEOYIOUjUE 30 HUM
YAPAdCHEHUSL.
TEXT
Steering System

To guide the car, it is necessary to have some means of turning the
front wheels so that the car can be pointed in the direction the driver
wants to go. The steering wheel in front of the driver is linked by
gears and levers to the front wheels for this purpose. The front
wheels are on pivots so they can be swung to the left or right. They
are attached by steering knuckle arms to the rods. The tie-rods are,
in turn, attached (o (he pitman arm.

When the steering wheel is turned, gearing in the steering gear as-
sembly causes the pitman arm to turn to the left or right. This
movement is carried by the tie-rods to the steering knucle arms, and
wheels, musing them to turn to the left or right.

Puc. 4. Steering System

1.steering wheel - pyneBoe 4. sleering arm, steering lever,
KOJIECO (steering) pitman arm —
2.steering column, steering mast pyneBasi COIIKa

— pyJneBasi KOJIOHKa 5.steering knuckle —
3.sleering gear - pyneBoit MOBOpOTHAA Handga,

MEXaHU3M IIOBOPOTHBIN KyJIaK



6. sleering knuckle lever, 8. steering knuckle lever,
steering knuckle arm — peruar  steering knuckle arm — psryar

MIOBOPOTHOTO KyJIaKa MOBOPOTHOT'O KyJIaKa
7. single tie-rod - Hepa3pe3Has 9. drag link, steering gear
MoNepeYHast pyjieBas Tsara connecting rod, steering drag rod

— MIPOJOJIbHAS pyJIeBas TAra

The steering system incorporates: the steering wheel and column,
steering gear, pitman arm, steering knuckle arm, front axle,
steering knuckle pivot, tie-rods.

There are several different manual steering gears in current use,
such as the rack and pinion type and the recirculating ball type. The

rack and pinion steering gear is widely used. Another manual
steering gear which is popular in imported cars is the worm and
sector type.

The steering wheel and column are the source of injury to the
driver, air bags and other devices being developed now to safe the
life of a driver.

Energy-absorbing columns must stop the steering wheel and col-
umn from being pushed to the rear as the front of the car is crushed
in an impact.

Energy-absorbing columns must also provide the driver with a
tolerable impact as he moves forward and strikes the wheel with his
chest.

IMocieTekcToBBIE YIPAKHEHUS

The exercises to be done after reading the text
Ynpaxunenne 4. Haiignute B TeKcTe OTBETHI HA BONPOCHI.
1.What mechanism is necessary to guide the car?
2.How is the steering wheel connected to the front wheels?
3.Why can the front wheels be swung to the left or to the right?
4.What does the manual steering system incorporate?
5.What types of manual steering gears in use do you know?
Yupaxknenue 5*. [lepeBenure Ha pycCKuil sI3bIK, 00pamas
0c000¢ BHUMAaHHE HA TePYHAUM.
1.To guide the car it is necessary to have some means of turning the
front wheels.



2.The steering wheel in front of the driver is linked by gears and

levers to the front wheels for turning the car in the direction the

driver wants to go.

3.Without using the steering system the car moves only in the direct

position.

4 .Manufacturers can use rack and pinion type steering gear without

choosing another type because "rack and pinion" type steering is

very dependable.

5.Energy-absorbing columns must stop the steering wheel from

being pushed to the rear when the front of the car is damaged in an

impact.

Ynpaxuenne 6. IlepeBeaure TeKcT, He MOJIB3YSICh CJI0BapeM.

To turn the car you must have some means of turning the front

wheels. For this purpose the steering wheel and steering column are

linked to the front wheels. The front wheels are on pivots and can

be swung to the left or to the right.

When the driver turns the steering wheel and column the front

wheels (being on pivots) attached by the steering knuckle arms to

the lie rods are also turned.

Yunpaxkuenue 7. IlepeBenure TeKcT, MOJIb3YACH CI0BApPEM.
Troubles of Steering Gear Components

Steering gear and linkage may have the following basic troubles:

excessive steering-wheel free play, bending of steering rod, oil

leakage from the steering-gear case, disadjustment of steering gear.

What to do

1.Check the steering-wheel free play and steering gear performance

while the car is running.

2.Check the steering-gear case for oil leakage by visual inspection.

3.Adjust the steering gear. Steering gear of the worm and roller

type is adjusted by end playing in the steering worm shaft bearings.

Ynpasicnenue 8. 3akoHuure npeasio:keHus, BbIOpaB

COOTBETCTBYIOIIlee OKOHYAHUE U3 MPABOIl KOJIOHKH.

1.The front wheels are on pivots| a. by the tie-rods.

SO... b. rack and pinion type, recir-
2.When the steering wheel is culating ball type, warm and
turned... sector type.

3.The steering wheel is linked.




4.Most manufacturers use... d. gearing in the steering system

5.Steering gear may be... causes the pitman arm to turn.

6.Steering knuckle arms and e. rack and pinion type.

wheels are turned... f. they can be swung to the left or
right.
g. by gears and levers to the front
wheels.

Ynpaxunenne 9. IlepeBenure npeanoKeHNsl HA AHTTHICKUI
SI3bIK.
1.Jlns ynpaBieHust aBTOMOOMIIEM HE00X0IMMa CUCTEMa PYJIEBOTO
yIIpaBJICHUSL.
2.PyneBoe ynpaBiieHUE BKIIOYAET B ceOs: PyJIeBOE KOJIECO U
PYJIEBYIO KOJIOHKY, 3y04aToe COeTUHEHUE, PYJIEBYIO COIIKY,
pbIYaryd IOBOPOTHOTO KyJlaKa U IIAPHUPHBIC COCTUHEHHS, PhIUaru
U TIOTIEPEYHBIC TSTH.
3.Cy1miecTBYIOT pa3iMuHbIE TUIIBI PYJIEBBIX MEXaHU3MOB, a
MMEHHO: PECYHO-IIECTEPEHYAThIN TUII, MEXaHU3M C IIApOBOMI
raiKot, MEXaHU3M C YEPBSIKOM U CEKTOPOM.
4.Koraa BoIUTENb IOBOPAYUBACT PYJIb BIEBO WJIH BIIPABO, TO
PYJICBOI MEXaHU3M 3aCTaBIISCT PYJICBYIO COLIKY TOBOPAYHBATHCS
BJICBO MJIM BIIPABO.
DTO IBM)KEHUE NIEpEIacTCs MONEPEYHBIMU TSATaMHU K phlyaraM
MOBOPOTHBIX KYJIAKOB H K KOJ€caM, 3aCTaBJIsIsA KX TOBOPAYNBATHCS
BJICBO MJIM BIIPABO.
Ynpaxunenne 10. [Ipouture quanor, a 3aTeM BBIIIOJIHUTE
CJICAYIOIINE 32 HUM YIPasKHEHHS.

DIALOGUE
Stas: Look here. I have some troubles with the steering system.
Vlad: What troubles?
S.: The first is excessive free play of the steering wheel.
V.: You should check free play of the steering wheel and steering
gear performance.
S.: The second problem is oil leakage from the steering gear case.
V.: Check the steering gear case for oil leakage visually. Anything
else?



S.: Sure. It is disadjustment of the steering gear. And I don't know
what to do.

V.: You see, in this case it is better for you to go to a repairing shop.
Good specialists should do this job.

S.: Thank you very much.

V.: Not at all.

Notes:

look here — nocuymaii;

troubles — HencnpaBHOCTH, HEMOJIAJIKY;

excessive free play — upe3mepHbIli CBOOOJHBIN XOI;

check — nposepsTs;

performance — pa®oTa, XapaKTEepUCTHKH;

steering gear case — xapTep KOpoOKH mepeaad,

anything else — uto emne

in this case — B 3TOM caydac.

Ynpaxunenne 11. 3anuinrte Ha ay1uokacceTy peruku Biana u
MOBTOPSINTE B May3ax peruku Craca.

Ynpaxunenne 12. 3anummre Ha aynquokaccery pensiuku Craca
U NOBTOPHAITE B Iay3ax pelmuku Biaana.

Ynpaxunenne 13. Paspirpaiite nuanor B nape.

CJIOBAPH YPOKA

absorb — nornomars means of turning - cpeicTBo
air bag - noxymka IIOBOPOTA

0e30macHOCTH pitman arm - pyseBas COIIKa
bending — u3ru6 pitman shaft - pynesoit Ban
excessive - Ype3MepHbIi pivot — mapHup

for this purpose — nus sToi rack and pinion assembly -
LEH pEEUHO-ILIECTEPEHYAThIN

guide the car - ynpasisth MEXaHU3M

aBTOMOOHIIEM rack and pinion type steering
hydraulic pump — gear - pyJeBOM MEXaHU3M C
TUAPABIMYECKUIHACOC PENKON U IIECTEPHEN

leakage — yreuka recirculating ball type steering
lever — pbruar gear - pyJIeBOM MEXaHU3M C
leverage - pblyaxHbIN LIaPUKOBOM TaKoOi

MEXaHU3M steering box — kaprep

linkage — coequnenue PYJEBOTO MEXaHU3Ma



steering column - pyneBas swing (swang, swung) —

KOJIOHKa IIOBOPA4YMUBATHCA
steering knuckle arm — psiuar tie-rod — nonepeunas tsra
IIOBOPOTHOI'O Kyjaka worm and sector type —
steering wheel — pyneBoe PYyJIEBOM MEXaHU3M C YEPBIKOM
KOJIECO U CEKTOPOM

Unit Ten

Text: Using Computer
Dialogue
IIpearexcroBble ynpa:kKHeHUs
The exercises to be done before reading the text



Ynpa:xknenue 1. [Ipoutrure c10Ba ¥ CJI0BOCOYETAHUS U
3alIOMHHMTE UX PYCCKHE IKBUBAJICHTDI.

invent — n3o0perarthb

a breaker point ignition —
IIPEPHIBUCTOE 3aKUTAHNE
advanced —
YCOBEPLIEHCTBOBAHHBIMN

fire the spark plug —
BOCIUIAMEHATH CBEYOMN
3aXXKHUI'aHUA

meet emission control levels —
0TBEYaTh TPEOOBAHUSAM I10
OTPaHUYCHHUIO YPOBHA BPCAHBIX
KOMIIOHCHTOB B BbIXJIOIIHBIX
razax gas mileage - npoGer B
MUMJIAX Ha I'aJUIOH TOIIJIMBaA
smooth operation — miaBHas
pabota

provide — oGecrieuuTh
onboard computer system —
00pTOBOI KOMITBIOTEP
hardware - annmaparHas Jactb
KOMIIBIOTEpA

software - nporpamMmmMmHoOe
oOecrieueHue

CPU — Central Processing
Unit - neHTpasibHbIN Mpo1eccop
integrated circuit —
MHTErpajbHas cxema

semiconductor —
IIOJIYTIPOBOJIHUK

silicon — xpemuwMii

until - moka e

specific sequence —
crielMajibHas 1o-
CJIEIOBATEIBbHOCTD

permanent memory —
MOCTOSIHHAS TaMSITh

ROM — read only memory —
MOCTOSIHHAS IAMSTh,
IIOCTOSIHHOE 3allOMUHAIOLIEEe
ycrpoiictso, [13Y

RAM - random access
memory - onepaTUBHas NaMsTh,
OIEpaTUBHOE 3alIOMUHAIOLIEE
ycrpoiictBo, O3Y

PROM — programmable
read only memory -
IIPOrpaMMHUPYEMOE TIOCTOSIHHOE
3allOMUHAIOLIEE YCTPOMCTBO,
[I13Y

trouble code — HeucnpaBHbIl
KOJ

expensive — OpPOTOCTOSIIUI
adaptive memory —
aJlanTUBHAS NAMSATh

YnpaxHenue 2. [Ipoutute ciioBa U CONOCTaBbTE UX C PYCCKUMHU

3HAa4YCHUSAMU.

transform, battery, voltage, regulation, system, computer, micro-
processor, transistor, diod, chip, material, electricity, magnetic,
program, defective, limit, compensate, variation, code.



Ynpaxnenne 3*%. IlepeBenure cjioBa, od0pamasi BHUMAHHE HA
cyppuxcol 1 npeuKChl.

ignite — ignition, transform — transformation, regulate — regula-
tion, break — breaker, conduct — conductor, process —
processor, specify - specific, adapt — adapter — adaptive, expense
-expensive, adjust — adjustment, connect — disconnect, learn -
relearn.

Ilpoumume u nepegedume mexcm, a 3amem 6bINOJIHUME
cnedyrouue 3a HUM YRpa3cHenus.
TEXT
Using Computer

Ever since the car was first invented, a breaker point ignition has
been used to transform battery voltage into 20,000 volts to fire the
spark plugs. With government intervention and regulation, more
advanced system was needed. This system had to meet emission
control levels, gas mileage, and provide a smooth and continuous
operation. The answer was found in an on-board computer system.
The computer mounted on modern cars has two components. One
is the hardware and the other is the software.

The computer hardware on an automobile uses a Central
Processing Unit (CPU), which, when made in an integrated circuit,
is referred 1 o as a microprocessor. The integrated circuit (IC)
combines transistors, diodes, and capacitors, which are placed on a
tiny chip of semiconductor material that is smaller and thinner that
an eraser on a pencil. The material used most of the time is silicon.
Silicon, like any semiconductor, does not conduct electricity until
either voltage, a magnetic field, heat, or light is directed to the
semiconductor. A program instructs the microprocessor what to do.

The computer software on a car carries a program. The program
(ells the computer what to do, and when to do it in a specific
sequence. The program is stored in a permanent memory, which is
referred to as Read Only Memory (ROM).The computer knows
only what is placed in its memory.

There is another variation, which is called the Programmable
Read Only Memory (PROM), which can be readily removed und
replaced, while the ROM cannot. This makes it less expensive if
the memory becomes defective. Only the PROM has to be



replaced, not the entire microprocessor. The microprocessor
contains a ROM (or PROM) and a RAM. RAM stands for Randon
Access Memory, which can be accessed without going through a
specific sequence. The technician interfaces with the RAM
whenever trouble codes are accessed. Not all computerized ignition
systems have trouble codes, however. Some computers have the
ability to learn. This is referred to as an adaptive memory. When a
value falls outside of a specified limit, due to engine wear, the
adaptive memory makes a slight adjustment in the program to
compensate. The car must be driven from 20 to 30 miles, as it takes
the computer this long to learn. Any time that power is
disconnected from the computer, it will have to relearn everything.
IMociieTekcToBBIE YIPAKHEHUS

The exercises to be done after reading the text
Ynpaxuenne 4. Hailigure B TekcTe OTBETHI HA BONPOCHI.
1.How many components has the computer on modern cars? What
are they?
2.How do we call the computer hardware on the automobile?
3.What does an integrated circuit combine?
4.What material is used in the integrated circuit? Why?
5.What does the computer software do?
6.Why is the computer used on board the car?
7.What does the program tell to the computer?
8.Where is the program stored?
9.What is ROM?
10.What is PROM?
11.What is RAM?

Ynpaxuenue S. [lepeBenure Ha aHTJIMHACKUN S3BIK.

1.MHorue coBpeMeHHbIE aBTOMOOUIIM 000pyI0BaHbBl OOPTOBBIMU
KOMIIBIOTEPHBIMU CUCTEMAaMU JJIS JIydIeil paboThl aBTOMOOHIIS.
2.IIporpamma Takoro KOMIIBIOTEpPA MMEET TOJBKO JIBa 3allOMU-
HAIOIIUX YCTPOHCTBA: MOCTOSHHYIO aMaTh ([13Y) u oneparuBHyIO
namsaTh (O3Y).



3.KommnbroTepHast mporpaMMa cooOIIaeT KOMIBIOTEPY, YTO HAI0
JenaTh W KOTJIa HEOOXOAMMO BBINOJHHUTH JaHHOE JCHCTBHE B
COOTBETCTBYIOIIEH MMOCIEI0BATEILHOCTH.
4.IIporpamma XpaHUTCSl B IOCTOSIHHOM MaMsTH KOMIIbIOTEPA.
5.Mukpomporieccop COIEpXKHUT B cebe MOCTOSHHYIO W Omepa-
TUBHYIO NTAMSITh.
6. Hekoropeie kKoMmMmblOTEpHl  00JaNAIOT  CHOCOOHOCTHIO
3alIOMUHATH (3ay4MBaTh). ITO OTHOCUTCS K aJaTUBHON MaMSITH.
Ynpaxuenue 6. [Ipourure quanor, a 3aTeM BBIIIOJIHUTE
CJICAYIOIINE 32 HUM YIIpa’KHEHHUSL.

DIALOGUE
Anton: What is the purpose of using computers on board the car?
Vlad: You see. As I know computer is used to advance the engine
operation as well as the performance of other units.
A.: What components does the on-board computer consist of?
V.: It consists of two components. One is the hardware and the
other is the software.
A.: What is hardware?
V.: The computer hardware uses a Central Processing Unit (CPU)
which is referred to as a microprocessor.
A.: What is software?
V.: The computer software on a car carries a program. The program
tells the computer what to do and when to do it.
A.: And where is the program stored?
V.: It is stored in a permanent memory which is called Read Only
Memory (ROM).
A.: And what is Programmable Read Only Memory (PROM)?
What is the difference between ROM and PROM?
V.: In case the memory becomes defective PROM can be readily
removed and replaced, while ROM cannot.
A.: And what is RAM?
V.: RAM is Random Access Memory (main memory), which can
be accessed without going through a specific sequence. The
technician interfaces with RAM whenever trouble codes are
accessed.
A.: Thanks a lot for your explanation.
V.: You are welcome. See you later.



A.: Goodbye.

Ynupaxnenune7.. 3aunTe Ha ayIHOKACCETY PEIUNINKH AHTOHA U

MOBTOpSITE B May3ax permku Brana.

Yupaxnenue 8. 3anummure Ha ayTMoKacceTy peniauky Braana u
MIOBTOPSITE B May3aX PEIUIMKA AHTOHA.
Yupaxuenne 9. Pazpirpaiite nuasuor B nape.

CJIOBAPH YPOKA
access — 1. moctynars 2. focTyn
adaptive memory - aganTuBHas NamsITh
adjustment - perynupoBka
breaker - npepriBaTens
breaker point ignition — npepsiBucTOE
3aKUTaHHE
capacitor — KoHAeHcaTop
carry a program — BBIIIOJHATE IPO-
rpammy
defective — nedexTHBIH, HenCIPaBHBINA
due to — u3-3a, 6marogaps
engine wear — M3HOC JBUTATEINS
eraser — JIaCTUK
expensive — JOpOroCTOSLINI
fall — magate
fire the spark plug — BocriiaMeHATH
CBEYOH 3a)KUTaHUs

BPEIHBIX KOMIIOHEHTOB B BBIXJIOITHBIX
razax

on-board computer system — 6opToBoii
KOMITBIOTEP

permanent memory — IOCTOSTHHASI
MaMsTh

PROM - Programmable Read Only
Memory -nporpaMMHpyeMoOe TOCTOSHHOE
3aroMHHaromee ycrpoicrso, I3V

RAM — Random Access Memory —
onepaTHBHAasg  NaMATh,  ONEPAaTUBHOE
3amoMHUHaloIee ycrpoiicrso, O3Y

ROM - Read Only Memory -
MOCTOSIHHAS namsIThb, MOCTOSTHHOE
3amoMHUHaloIee ycrpoiictso, [13Y
semiconductor — MOITYIpOBOTHUK
Sentral Processing Unit (SPU) - 1en-

gas mileage — npoOer B MIJISIX Ha TaJUIOH TPaJIbHBIH MPOLIECCOPHBIN y3e

TOIINBA
hardware — nporpaMMHas 4acTb KOM-
MBIOTEPA

heat — temuio

however — ogHako

ignition — 3axuranue

silicon — kpemHuit

since — c Tex mop

spark plugs — 3anansHbIe CBEUU

specific sequence - ompenencHHas I0-
CIIENOBATEILHOCTD JEHCTBUH

the ability to learn — cnocoGHOCTE 3a-

integrated circuit — uHTErpanbHas cxeMa MOMHHATH (3ay4UBATD)

invent — n3o0perartpb
light — cBer (¢papsr)

tiny chip — ManeHbkuii yun
trouble codes — xonpl, coOOILIAIOIIHE O

meet emission control levels — oTBeuaTts HencnpaBHOCTH

TpC6OBaHI/I$IM IO OrpaHUv4CHHUIO YPOBHA

PART 11
Ynpasxkaenus 1y pa3BUTHA HABBIKOB YCTHOM pe4u



Ynpaxuenne 1. Haligure Ha puc. 5 MecTONOJI0KeHH e MepevH CIeHHbIX
HUKe T HOB W 3aNMIIIMTE UX B TETPaJb M0 0003HAUeHHBIM HOMePOM. 3aTeM
BBINUIINTE AHTJINHCKHE HA3BAHUS ITHX Y3JI0B.

JlBuraTens, clueruieHue, Kopooka nepeaay, KapAaHHbINA BaJl, 33lHUN MOCT,
riaBHas nepenaya, nudepeHIrai, peccopsl, Kojeca, CUCTEMa PYJIEBOTO
yIIpaBJICHUS, TOPMO3a.

Engine, clutch, gearbox, propeller shaft, rear axle, final drive, differential,
springs, wheels, steering system, brakes.

Ynpaxuenne 2. IIpourure guasor, a 3areM pa3pirpaire ero, HcroJb3yst
pHc. S B KayecTBe ONOPbI.

Teacher: Can you tell me English equivalents to: nBurarens, cuernienue,
KOpoOKa nepezay, TopMo3a U pydHOe yrpaBiieHHe?

Student: Yes, I can. They are the engine, clutch, gearbox, brakes and steering
system.

: Do you know what main units the automobile consists of?

: Yes, I do. They are the chassis, the body and the engine.

: What is the source of power?

: The engine is. It makes the car wheels rotate and the car move.

: What unit of the car carries the power to the wheels?

: The transmission does.

: What mechanisms does the transmission consist of?

.. It consists of the clutch, gearbox, propeller shaft, rear axle, final drive and
differential. It also includes brakes and steering system.

T.: And what is the clutch used for?

S.: It is used for disengaging the engine from the car wheels.

T.: What is the function of the brakes?

S.: They are necessary to slow or stop the car.

T.: And what about the steering system?

S.: It is used to turn the car in the direction the driver wants to go.

T.: That is right. You know the subject very well.

SR N
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Puc. 5.

1. dapa, cOnokupoBaHHas ¢ ykazaTeneM 15. amopTu3aTop 3aHel MOABECKH;

IOBOPOTA; 16. 3aaHMit MOCT;

2. panuaTop CUCTEMBI OXJIaXAEHUs;  17. kapiaHHas nepenaya;

3. akKyMyIsTOpHas OaTapes; 18. mepenHee cUACHbE;

4. pacnpenenuTeNb 3aKUTaHuS; 19. HapyxHOE 3epKajlo 33AHETO BUA;
5. BO3AYLIHBIN QUIBTD; 20. ppr4ar CTOSSHOYHOTO TOPMO3a;

6. ABUTATENb; 21. ppryar nepexIoYeHus Nepenay;

7. BakyyMHBII YCUJIMTENb C IJIaBHBIM ~ 22. KopoOKa 1epeay;
LWINHAPOM I'UAPOINIPUBOIAa TOPMO30B; 23. mefanb ruApONpPUBO/A CLETIIICHMS;
8. TmaBHBIM LUIMHAP TUAponpuBoga  24. meaanbs TMAPOIPUBOJA TOPMO30B;

BBIKJTFOUEHHSI CLICTUICHUS; 25. mexanb akcenepaTopa;
9. pyneBoe koJjeco; 26. pysieBOil MEXaHU3M;
10. BHyTpeHHEE 3€pKajo 3aHEr0 277. nepegHuil TOpMO3;
BHUJQ; 28. npyKUHA NepeHeN TOIBECKHU C
11. 3amHee culeHbE; aMOPTU3aTOPOM;
12. 3amacHoe K0JIeco; 29. TOIIMBHEINA HAcoC;
13. 3agHuit TOpmMO3; 30. MacnsHbIi GUIBTP.

14. npy>xuHa 3aHe#l OJIBECKU;

1. cornering lamp; 2. cooling system radiator; 3. accumulator battery;
4. ignition distributor; 5. air filter; 6. engine; 7. vacuum-power with master
cylinder of hydraulic drive brakes; 8. master cylinder of hydraulic drive of clutch
disengagement; 9. steering wheel; 10. inside (interior) mirror; 11. back seat;

12. spare wheel; 13. rear wheel brakes; 14. rear suspension spring;

15. rear suspension shock absorber; 16. rear axle; 17. cardan shatft;



18. front seat; 19. outside mirror; 20. parking brake lever; 21.gear change lever;
22. gearbox; 23. clutch pedal; 24. brake pedal; 25. accelerator pedal;

26. steering mechanism; 27. front wheel brake; 28. front suspension spring with
shock absorber; 29. fuel pump; 30. oil filter.

Ynpaxknaenue 3. I'1a151 Ha puC. 5 ¥ MCNIOIb3YS MOJAPUCYHOYHBIE NIOANNCH,
BBINUIINTE HA3BAHNUS arperaTos, y3J10B H MEXaHM3MOB AaBTOMOOMJISI HA
PYCCKOM U AHIIMICKOM fI3BIKaX.

Ynpaxaenue 4. 3aKoHUNTE NPeIJI0KEHUS, HCIOJIB3Ys CJI0BA H CI10BOCOYe-
TaHUHA, JAHHbIE HUIKE.

1.The automobile is made up of.... a.engine, chassis, body.

2.The engine is .... b.hood, fenders and accessories.

3.The chassis consists of .... c.the engine to the wheels.

4.The transmission carries the power  d.clutch, gearbox, propeller shaft, rear
from .... axle, final drive and differential.

5.The transmission consists of.... e.the source of power.

6.The body has ... f.transmission and running gear (frame,

wheeels and springs).

Yupaxuenue S. Ilpourure TeKCT, a 3aTEM, IJIAAA HA PHUC. S, OTBETHTE
Ha TTPOCHI, IPUBEJAEHHbIE HIKE.

The automobile is made up of three basic parts: the engine, the body and
the chassis. The engine is the source of power and makes the car move.

The chassis consists of the transmission and running gear (frame, springs
and wheels). The transmission carries the power from the engine to the
wheels. It consists of the clutch, gearbox, propeller shaft, rear axle, final
drive and differential. The transmission also includes the steering system
and brakes.

The body has the hood, fenders, the heater and so on.
1.What main components is the automobile made up of?
2.What is the source of power?
3.What units does the chassis include?
4.What duty is performed by the frame?
5.What does the transmission do?
6.What mechanisms does the transmission consist of?
7.What is the function of the steering system?
8.Why are brakes necessary?
9.What is the function of the clutch?
10.What is the function of the gearbox?



11.What types of gearboxes do you know?
12.What is the function of a differential?
13.What purposes do brakes serve?
14.What parts has the body?
15.How is the car body attached to the frame?
Ynpaxknenne 6. Haliqure B TeKCcTE SKBUBAJIEHTHI CAEAYIOMIUX MTPEITIO-
KECHUM.
1.ABTOMOOMIIb COCTOUT U3 TPEX OCHOBHBIX YacTEH: IBUTATEIS, IIACCH U
KYy30Ba.
2./lBuraresb — UCTOYHUK SHEPTHH.
3.Ilaccu cOCTOMT U3 TPAHCMUCCHH U XOJ0BOM 4acTH.
4.TpancMuccus epelacT SHEPTUIo OT ABUraTells K KoJecaM aBTOMOOWIIA.
5.0Ha cOCTOHT U3 CLEIJICHHs, KOpOOKHU Tepenay, KapJaHHOTO BaJa,
3aJJHET0 MOCTa, IJIaBHOM nepenauu u quddepeHnuana.
6.Ky30B nMeeT Karnot, Kpbllbsl, OTOIUTEND U T. 1.
YupaxkHeHus AJis1 iepeBoga
Ilepesedume na pycckuii A3bik Mukpomekcmol. Obpamume HuManue Ha
8blOeIeHHble 2PAMMAMUYEcKUe CmpyKmypel.

Texer Ne 1
The automobile is known to be made up of three basic parts: the engine,
the body and chassis, the engine being the source of power. We know
the body to include the hood and fenders and accessories. The body
should provide protection to the passengers from wind, cold and rain.
Thus to shape a car means to do it in such a way that it offers small
resistance to the air.
Brakes are necessary for stopping the car.
Most braking systems used today are hydraulic.

Texer Ne 2
The engine is known to be attached to the frame in three or four points.
Noise and vibrations are inherent in engine operations. To prevent this
noise from passing to the frame, the engine should be insulated from the
frame by washers. We know the frame to provide support for engine,
body and power train, the body providing protection to the passengers
from wind and rain. The frame is made of channel sections welded
together.

Texct Ne3
We know the clutch to consist of two plates: the driven plate and the
pressure plate. The driven plate is known to be situated between the



flywheel and the pressure plate. The clutch used for engagement the en-
gine and the gearbox is incorporated within the flywheel housing.
To guide the car it is necessary to have some means of turning the car,
the steering wheel being linked to the front wheels for this purpose.

Texct Ne4
The frame is known to be the structural centre of the car. It is made of
channel sections welded together, cross-members providing support
Tor the engine and wheels. We know the frame to be rigid. Noise and
vibrations are inherent in engine operation. To prevent this noise and
vibrations from passing to the frame and to the passengers of the car, t lie
engine should be insulated from the frame by rubber washers.

Texct Ne5
We know the chassis to be one of the most important units of the car. The
chassis is known to consist of a power train, a frame with axles, wheels
and springs. It should be noted that the chassis includes the brake and the
steering systems as well. Brakes are necessary to stop the car. Springs are
used with additional devices called shock absorbers. The front wheels
are attached to the rods by steering knuckle arms, the same wheels being
on pivots.

Texct Ne 6
We know the power train to include the clutch, gearbox, propeller shaft,
rear axle, final drive and differential. The clutch is used for engaging the
engine with the gearbox, the gearbox being located between (he clutch
and the propeller shaft. The clutch is known to consist of two plates
incorporated within the flywheel housing.
To shape the car means to make it in such manner that it offers small
resistance to the air.

Tekcr Ne 7
We know the engine to be the source of power. In some types of engines
a V-type fan belt is utilized to drive the fan, the same belt being used for
driving the generator pulley and the water pump. The engine is known to
comprise the fuel, cooling, electric and lubricating systems. It should be
noted that the gasoline pump is operated from the cam-
shaft by the engine, called also the power plant. To guide the car means
to turn it in one direction or the other.



Teker Ne§
Brakes are known to be one of the most important mechanisms of the
car. They are necessary for stopping the car. Most braking systems used
today are hydraulic, many vehicles using power brakes. We know the
brakes to be applied to four wheels.
In order to stop the car, the driver should press down on the pedal. When
the pedal is pressed down the brakes are applied and the car is stopped.

Texct Ne9

In order to drive the car, the driver should have some means of turning
the front wheels. We know the steering wheel to be located at the front
of the driver. It is linked by gears and levers to the front wheels, these
wheels being on pivots. The front wheels are known to swing to the
left or right when the steering wheel is turned in one direction or the other.
The front wheels are attached to the rods, the rods are, in turn, attached to
the pitman arm.

Teker NelO
We know the automobile to be made up of three basic parts: the engine,
the chassis and the body. The body should provide protection to the
passengers of the car. The chassis is known to consist of a power train,
frame with axles and wheels. The chassis includes the brake and the
steering systems, the brakes being the most important mechanism of
the car. To provide a satisfactory smooth ride, an additional device,
called a shock absorber, is used with each spring.

Teker Ne 11
Brakes are known to be used for stopping the car. Most braking systems
used today are hydraulic, many vehicles having power brakes. To stop
the car, the driver should apply the brakes. We know the brakes to have
been applied to the front wheels. At present the brakes are applied to all
four wheels. The brakes are controlled by a pedal. When the driver presses
down on the pedal the brakes are applied and the car is stopped.

Tekcr Ne 12
The clutch is known to be the part of the power train. Besides the clutch,
the power train also includes the gearbox, propeller shaft, rear axle, final
drive, differential and axle shafts. The gearbox named transmission is
located between the clutch and the propeller shaft. We know the clutch to
consist of the driven plate and the pressure plate, the driven plate having



fabric linings on each side. To connect the engine with the gearbox, the
driver should engage the clutch.

Texer Ne 13
The frame in considered to be the structural centre of any vehicle, us it
should provide support for the engine, body and power train members.
The frame is made of sections welded together.
We know the frame to be reinforced by cross-members. To provide
support for the engine and wheels, the frame should be rigid and strong.
Noise and vibrations being inherent in engine operation, the engine is
insulated from the frame by rubber washers.

Tekcr Nel4
The automobile is known to consist of the engine, the body and the
chassis, the engine being the source of power. The body has a hood and
lenders and accessories: heater, lights and radio. It should provide pro-
tection to the passengers from wind and rain. The chassis is known to
include the power train, frame and wheels.
Streamlining is an important factor. To streamline a car means to shape it
in such a manner that it offers small resistance to the air.

Teker Nel5
We know the steering system to be one of the most important
mechanisms of the car. The steering system is known to consist of a
steering wheel, gears, tie-rod, pitman arm and other units. The steering
wheel is attached to the front wheels by gears and levers, the front wheels
being on pivots. In order to turn the car in one direction or the other, the
driver should turn the steering wheel. The steering wheel connected to
the front wheels turns the car.

PART III
MaTtepuaJibl 1J15 JONOJTHATEIHLHOT0 YTEHUs
Section 1
1.IIpoumume mexcm u Hatloume omeemvl Ha 80NPOCHI, NOMEUEHHbLE
nepeo mekcmom.
2.Kpamxo nepeckasicume mexcm.
QUESTIONS



1.What Russian experts in mechanics must be remembered in the history
of automobile engineering?
2.Who was the first Russian inventor of the automobile?
3.What did Mamin designed?
4.What did Blinov constructed?
TEXT
From the History of Russian Automobile Engineering

The automobile industry in our country has been developed since 1916.
Before that time Russia had no automobile industry at all, technical
schools had no departments to train specialists in automobile engineering.

But in the history of the automobile such names as Shamshurenkov,
Blinov, Mamin and other Russian experts in mechanics must be re-
membered.

The first automobile built by Shamshurenkov, a Russian inventor, was
put into motion by the pedalling of the driver himself.

Blinov designed and constructed tractor driven by steam engine. Mamin
was one of the pioneers in Russian internal combustion engines.

Today Russian automobiles are engineered and built in such a manner
that they are able to withstand heavy loads for long periods of operation.

The modern automobile is much more than a means of riding from one
place to another. The passenger's safety and comfort must be considered as
much as the car's reliable performance and ability to travel on the
highways.

The modern automobile must have a steel body and a steel roof and this
roof must be insulated against the summer's heat and winter's (old.
Ventilation is also of great importance. The comfort and convenience of
the driver must be taken into consideration too. The automobile must have
a heater with special defrosting devices which insure clear vision to the
driver.

The automobile must have great power for riding, have dependable
clutch and brakes, have good riding qualities, good lights, dependable
starting and ignition systems, low fuel consumption, as well as long
service life.

Section 2
I.Hpoqmume mexKcm u ozazjiasbme e2o.
2. Kpamxko uznoscume cooepoicanue mexcma Ha pyCCKOM UL AH2ULCKOM
SI3bIKE.



TEXT

Benz, Karl (1844 — 1929) was a German inventor of the automobile,
who devoted his life to making a horseless vehicle. When Benz's
three-wheeled engine-driven machine (the first "car") appeared on I lie
streets in 1885, people couldn't believe that it moved without the aid of
horses. It was a great triumph to him because Benz built a new engine that
was lighter and more powerful than any other. He put it onto a chassis and
got power from the engine to the wheels. Benz's first car was a great
achievement for him. Everything — the engine, fuel transmission, controls
— had been developed and designed by him. The wheels were driven by
means of a chain, and there were two speeds.
In his early days the speed limits were 12 kilometers an hour outside the
city, six — inside. Benz realized that he would never be able to improve
his cars if this rule were not changed. He thought up a plan. He invited the
Minister to ride in his car and agreed with a milkman that the latter would
wait with his horse for them on a certain place. When Benz, with the
Minister in his car, passed the milkman, the latter started off, passed the
car at a good speed and laughed at them. The plan worked perfectly. The
Minister ordered to go faster. But Benz referred to speed limit. "Never
mind", said the Minister. Thus Benz won the day.

Section 3

1.Ilpoumume mexcm 1.
2.Haiioume 6 mexcme a63ay, 8 KOMOpoM 2080PUMCs 0 KOHCMPYKYUU
oguecamens.
3.Hatioume 6 mexcme npeonodicenus, 8 KOmopwvix peub uoem o
npeuMyujecmeax Ou3enbHbix 0gueamenel, u nepegeoume ux.
4.Kpamxko nepeckaxcume mekcm.

TEXT 1
Internal Combustion Engines

The first internal combustion engine light enough in weight was the
gasoline engine, invented by a German named Otto.

At the same time Dr. Rudolph Diesel was working on the diesel engine.
The Diesel engine is similar to the gasoline engine in many ways. There
are many variations in engine arrangements, but the basic parts of most
4-stroke cycle engines are similar.



A

in fine

Horisontally opposed
Puc. 6

In the in-line arrangement the cylinders are lined up in a single row. The
V-type engine is called so as the cylinders form 2 rows or "banks", set at an
angle to each other to form the letter V.

The diesel engine gets its power from the expansion of burning gases.
The diesel engine depends on the heat of compression for ignition of the
fuel.

Liquid fuel that contains more heat energy than gasoline is diesel

oil.

Diesel oil is slower burning, but it produces more power. Diesel engines
also must be heavier than gasoline engines, but they are more efficient
when working under heavy loads at low speeds.

The advantages of the diesel over the gasoline engine are as follows:

a).more economic operation;

b).higher compression ratio;

c¢).reduced maintenance costs;

d).good pulling power.
1.IIpoumume mexcm 2 u omgeemuvme HA 60NPOCHL.

a. Kaxoswl npeumywecmsa 6ensunogulx osueameneti?
0. Kaxoswl npeumywecmsa ousenvHulx osucameneti ?
2.Kpamko uznoscume cooepoicanue mekcma Ha pyCcCKOM A3bIKe.



TEXT 2

Engines
The two most common types of engines for cars are the petrol engine and
diesel engine.
Petrol engines are usually lighter and smaller than diesel engines. This
makes them cheaper, and this is why most cars use petrol engines. Petrol
engines are also less noisy than diesel engines. They usually go foster. On
the other hand, diesel engines use less fuel than petrol engines, and this is
why trucks use them. They are also safer than petrol engines, because there
is less danger of fire.
There are two main types of petrol engine - 4-stroke and 2-stroke. All cars
use 4-stroke engines. But most motorbikes use 2-stroke engines. They are
lighter and smaller than 4-stroke engines, and are therefore cheaper.

Section 4
1.Ilpoumume mexcm u omeemvme HA BONPOCHI, OAHHbIE NOCIE MEKCMA.
2.Cocmagbme nepeuerb OCHOBHbIX XAPAKMEPUCUK A8MOMOOUIL.

TEXT
The "UAS" Model

This model designed as "go anywhere" vehicle is built by the Ulyanovsk
Plant. It gives high performance under all conditions. All the four wheels
of this model are driving ones. Roadless is easily overcome at medium
speeds. Stable suspension gives great riding comfort even under off-road
conditions.
To protect passengers and the driver from sun rays, winds and rains the
UAS is equipped with a weather proof hood. In cold weather an effective
heater system may be switched on.
This model possesses excellent road stability and is easy in control.
Well-balanced, synchromesh gearbox, effective brakes provide additional
conveniences for the driver. Maintenance of the car is extremely simple, as
all points, which are frequently lubricated and adjusted are easily
accessible. The body is an all-metal, two-door, eight - seater construction.
The clutch is of a single dry plate type.
The transmission has three forward and one reverse speeds. The lower
gear can be put in only when the front axle is engaged.
1. At what plant is the model built?
2. Does it give high performance under all conditions?
3. At what speeds is roadless overcome?
4. What is done to protect passengers from wind and rain?



5. What may be switched on in cold weather?
6. Why is maintenance of the car extremely simple?
7. How many speeds has the transmission?
Section 5
1.IIpoumume mexcm u o03aenagvme e2o.
2.Hatioume 6 mexcme npeonodxcenus, 20e 2060pUmMcs 0 paz0amoyHoll
KOpobKe nepedad.
3. Kaxue mopmo3a ucnonv3yiomcs 86 OaHHOU MOOeau asmomoouns ?
TEXT

The new vehicle was designed and built by the General Engineering
Division. A conventional chassis, rigid axles and leaf spring suspension
are used in this car. However, the frame has been modified to improve the
angle of turning. The rear suspension incorporates rubber spring washers.
There are telescopic shock absorbers all around. This car has four-wheel
drive, it is fitted with larger tires. The wheels are driven through a
four-speed gearbox, third and the top gears being synchromesh. The car is
also fitted with a transfer gearbox with a 1.148:1 high ratio and a 2.4:1 low
ratio. This gives the car eight forward and two reverse speeds. Both front
and rear axles incorporate spiral bevel differentials. Brakes are of drum
type with servo assistance and the steering system is modified. The car is
powered by a six-cylinder engine, which resulted in a maximum average
speed of 55 miles per hour. It should be noted that ventilation is provided
by means of a standard air system.

Section 6

1.Ilpoumume mexcm.
2.Hanuwume oCHOBHble XapakmepucmuKky agmomoouis 6 nopsioke ux
8ADICHOCMU NO 8ALUEMY MHEHUIO.

TEXT
What Motor-Car Buyers Want
In answer to a questionnaire sent out by the General Motors Corporation
relating to the general characteristics considered most important in cars,
211000 replies were received. According to the Automobile Daily News,
car users specified the following characteristics, listed in order of their
importance:

6. ecase of control;



l.reliability; 7. smoothness;

2.operating economy; 8. low first cost;
3.safety; 9. pick-up;
4.appearance; 10. speed.
5.comfort;

It is very significant that pick-up and speed, frequently stressed in
automobile advertising, are, according to the answers of this question-
naire, considered of least importance by the car buyers.

Section 7
1.Ilpoumume mexcm.
2.Haiioume 6 mexcme npeonodicenue, 20e 2060pumcst 0 cnocooe
nepexnoueHus KopooKku nepeoau, u nepegeoume e2o.
3.Kaxoe ocrosHotl hedocmamok smoeo y3na ? Haiioume 6 mexcme 3mo
npeoodcerue u nepegedume e2o.
4.Kpamko uznodxcume cooepircanue mekcma Ha pyCccKOM A3blKe.
TEXT
Automobile Synchromesh Transmissions

This automated transmission provides effective two-pedal motoring,
with the standard four-speed all synchromesh gearbox, a hydraulically
operated diaphragm spring clutch and a low ratio torque converter. A
microswitch in the gear lever knob initiates clutch disengagement when
the knob is touched, thus making normal gear changes despite the absence
of the clutch pedal. Although the torque converter can start in any gear, it
is desirable that the converter should start in the first or second gear from
the point of view of acceleration requirements. Any gear ratio may be kept
in engagement to suit the driver's wishes and road and traffic conditions.
This transmission makes driving in the city traffic easier and has good
characteristics even when the car is moving on snow and ice. The only
drawback of this synchromesh transmission is its cost.

Section 8
1.Ilpoumume mexcm.
2.Ilepesedume mexcm Ha pyccKull A3bIK 6 NUCbMEHHOU (opme.
3./{na kakozco Knacca asmomoobunell npeonasHavena (Haioume 8 mexcme)
makas mopmosnas cucmema?

TEXT
Super Stoppers



Disk and drum brakes are conventional ones. Improved hydraulic
systems and anti-lock devices are designed to make brakes more effective.
But they don't improve the brakes themselves.

Recently a clutch-type brake of extreming simplicity was created. Most
brakes are cooled by air, like an air-cooled engine. But like a car engine
they could be liquid-cooled, a water tank cools the brakes with its water
when the brakes reach a certain temperature. That method should be used
only for sport cars, but not for conventional passenger-cars.

The inventor became interested in liquid cooling of brakes and
developed several systems.

In passenger cars the engine's water and radiator were used to cool (he
brakes. The idea is that both the engine and the brakes will not be
generating peak heat at the same time.

Radar-controlled brakes are being studied now. In such cars radar is used
for measuring the distance to the next car, printing that information into a
simple computer, which points the accelerator, and brakes what to do.

Section 9
IIpoumume mexcm u omeemovme Ha ciedyouyue 60NPOCyHI:
a.What elements does the electric gear change control system consist of?
b.Where is the system used?
c.What does the control system provide the driver?
TEXT
Electric Gear Change Control System

This electric gear change control system is for large vehicles. It consists
of three basic elements: a controller located near the driver, an

electric cable to the transmission, and a solenoid actuated valve on the
transmission that receives the signal from the driver to change gear
selection.

The system is used in large trucks where the transmission is mounted far
from the engine. The control system provides the driver a high degree of
operation flexibility. The system also incorporates an inhibitor which
prevents accidental down changing at high vehicle speed.

Section 10
I.Hpoqmume mekKkcm c 146]Zb10 061/14820 NOHUMAHUA Canp.?fCClHuﬂ.



2. [atime onucanue 0CHOBHbIX V37108 A8MOMOOUIAL.
3.Kpamxo uznodcume cooepicanue mekcma Ha pyCCKOM sA3blKe.
TEXT
Lotus Elan Car

Lotus Elan is a car, capable of carrying four person and their luggage at
great speed and in comfort. It is the finest sport car.

In construction, it is very similar to the two-seater Elan car, with a steel
chassis, at the front of which the 16-litre engine is installed and at the rear
the differential is located. The body is a glass-fiber unit, carrying no
chassis stresses. The whole car is just 2 ft longer and 10 inch wider than the
previous version.

With such a light and aerodynamic car the driver can reach maximum
6500 rpm easily. Despite its high power output and two carburettors the
engine always started easily. An engine is a smooth unit with a high
torque.

Section 11
1.Ilpoumume mexcm 1 ¢ yenvio 006uje20 NOHUMAaHUA COOEPHCAHUSL.
2.Ilepesedume mexkcm, nonb3ysacy Cl08aAPEM.
TEXT 1
Autotest of Volvo

Since previous tests of the car the engine capacity has been increased
from 1.778 to 1.986 c.c.

Earlier Volvos had some real difference in appearance but the current
series have international look, but with considerably more space for
passengers and baggage than the earlier models. Technically, they are
conventional, with the 2-litre 4-cylinder engine mounted in front, and
rear-wheels drive through a 4-speed gearbox and coil-spring live axle.

Brakes are servo-assisted discs, the rear brakes incorporating small
drums for the parking brake. Twin hydraulic circuits unite both front
brakes to one rear brake, so that when one circuit fails only one brake is
lost.

The synchromesh gearbox is satisfactory. In average conditions the car
rides well.

IIpoumume mexcm 2 u nepesedume e2o 6e3 cio8aps.
TEXT 2
Finding a Fault in the Car

If your car doesn't start in the morning, you should check three things

first: the battery, the fuel level and the spark plugs. It is easy to repair these



faults. If the battery is flat, you should recharge it. If this doesn't work, you
should replace it. If the petrol tank is empty, fill it up. If the spark plugs are
dirty, clean them, and if the gap in a spark plug is too narrow or too wide,
adjust it to the correct width.

Section 12
1.Ilpoumume mekcm c yenvio 0ouje2co NOHUMAHUSL COOEPIHCAHUSL.
2.0meemvme Ha 60npoChl, NOMeUjeHHbLE NOCIe MEKCMA.

TEXT

Let's look closer at the engine components that operate together to
generate power. The basic unit of the engine is the piston which moves up
and down inside a cylinder. As air is compressed in the cylinder, fuel is
injected on top of the piston. Under high pressure the fuel mixes with the
hot air end self-ignites causing combustion. The force of the combustion
pushes the piston and connecting rod down turning the crankshaft and
flywheel which drive other components.

During engine operation the piston goes through four strokes: intake,
compression, power and exhaust. During the four strokes, the piston
moves down and up to complete cycles.

Intake: During the intake stroke the piston moves down in the cylinder
pulling air past an open intake valve into the combustion chamber.

Compression: During the compression stroke all valves are closed, and
piston moves up in the cylinder compressing the air. As the air molecules
are compressed the air temperature increases dramatically to about 1000°
F (537° C). As the piston nears the top of its stroke, fuel is injected into the
combustion chamber on top of the piston. The fuel mixes with the hot
compressed air and causes combustion.

Power: During the power stroke the valves are closed as the forces from
combustion push the piston and connecting rod down, thereby turning the
crankshaft. The heat energy has now been converted into mechanical
power.

Exhaust: During the exhaust stroke the inertial force of the turning
flywheel helps continue the rotation of the crankshaft to push the piston up
again in the cylinder forcing the burned gases out the open exhaust valve.
This completes the four strokes of the piston. These four strokes are
repeated over and over as the engine operates.

Diesel engine offers the following advantages over automotive-type
gasoline engines:

Fuel economy



Diesel engines have higher compression ratios and therefore burn fuel
more completely and efficiently.

Reliability

Diesel engines have no electrical ignition system to fail or be maintained.
They are built with heavy-duty parts to withstand the higher compression
ratios and to operate for long periods with minimum breakdown. In
on-highway trucks for instance, diesel engines have a projected service life
of many hundreds of thousands of miles.

Power

It depends on engine size, but diesel engines generally produce more
torque and power output than gasoline engines.

QUESTIONS
1.What takes place in the combustion chamber during the intake stroke?
2.What takes place in the cylinder during the compression stroke?
3.What takes place in the combustion chamber during the power stroke?
4.What takes place in the combustion chamber during the exhaust stroke?
5.What advantages do diesel engines offer?
Section 13
1.IIpoumume mekcm ¢ yenvio ooujeco NOHUMAHUSL COOEPIHCAHUSL.
2.Hanuwume, umo oenaemcsi 07 mozo, 4mo0bbl COKpamums nomepu
ompabomanHozo 2asa.
TEXT
The Car and the Environment

Most of us know that cars cause air pollution. Scientists tell us that if we
don't do something soon, we will be unable to repair the damage that we
are causing to our planet. What are some of the things we can do to help?
1.Buy a fuel-efficient car and keep it that way
Good gas is a way to stop pollution. Choose a car that is friendly to the
environment when you buy one.
2.Keep your car tuned up
A car that badly tuned releases more pollutants into the air. If you keep
track of your gas mileage, you'll know when something is wrong. A badly
tuned car uses almost 10% more gas than a well-tuned car. Other ways to
waste gas are:
Idling your car unnecessarily. 1f you are stopped for longer than a minute,
it is more fuel efficient to turn off your engine.
Using dirty fuel filters. Dirty fuel filters waste gas.



Air Conditioner Maintenance. Of course, this causes a big problem for
both us and our mechanics. Our mechanics will have to make sure that
there are no leaks, and fix them if there are, before they can add any R-12
(freon) to our air conditioning systems. Naturally, this cost will be passed
along to us.
Section 14
1.IIpoumume mekcm ¢ yenvio 0ouje2co NOHUMAHUSL COOEPIHCAHUSL.
2.Hatioume 6 mexcme npeoiodicenus, 6 KOmopulx 2060PUMCSL O MOM, 4e20
He criedyem 0enams.
3. Kpamko nepeuuciume, umo Heobxo0uMo npeonpuHsamy 015 yay4uleHus
9KONO2UYECKUX YCTIOBUI.
TEXT
Gas Ecology

There are many ways that we can reduce pollution by observing good gas
ecology — that is using our cars in fuel efficient ways.

Don't move the car unless you are going somewhere. Plan ahead. Starting
the car up just to move it a short distance produces more pollutants than
hours of driving on the freeway.

Don't use your heater until the car is warmed up. The engine will start
more quickly, because it won't be losing heat to warm you.

Try to drive within 35-45 miles per hour when possible. Driving at
slower speeds reduces engine efficiency and causes more pollutants.

Don't make fast starts or stops. Fast starts can burn more than 50% gas
than regular acceleration (as well as cause 50% more emissions). When a
big burst of gas enters the engine, much of catalytic converter's job is
bypassed and the unburned gas comes out the tailpipe or is sent into the
converter. Rapid acceleration is only called for in emergency or passing
situations. Stopping rapidly also leaves the engine with a lot of unburned
gas to deal with. This results in damage to the converter and pollution.

Try not to idle. At bank lines and fast food places with over thirty second
waits, turn the engine off, and restart it. It is more fuel efficient, and causes
less pollution. The only time that idling is a good thing is after a long, fast
run. Idling the engine for a minute or so after one of these helps get rid of
any hot spots and fuel vapors.

Keep to steady speeds on the highway. Changing speeds produces more
pollution and uses more gas. Don't use the air conditioner unless you have
to. It makes your engine work harder, uses more gas, and causes more
pollution. Most evaporative emissions get into the atmosphere when we



put gas in our cars. Make sure your gas cap is the right one, and in good
working order. Gas caps don't cost that much, but are very important in
anti-pollution.

Since gasoline expands, never overfill your tank. It will wind up leaking
out.

Use known brands of gas. Poor quality gas will not save you money.
Instead, it will foul your engine and cause it to function badly. Try several
different brands and octane ratings to find out which makes you car the
happiest, and stay with it.

Section 15
1.IIpoumume mexcm c yenvio 06uje20 NOHUMAHUSL COOEPHCAHUSL.
2.Hatioume 6 mexcme ab3ay, 8 Komopom uoem pedvb 0 munax
CMOJIKHOGEHUI.
3.Kaxosa ocnosnas ynkyus pemueti bezonacnocmu ?
4.Kaxoevl 0cHO8Hble Npasula nN08eOeHUs: neulexo006 npu nepecedeHuu
npoe3soiceti yacmu yauyvl?
TEXT
Road Safety

Every year several thousand people are lolled on the roads. Every year
hundred thousand people are injured. These people are killed and injured
in road accidents.

Accidents are often caused by carelessness of the people. There are rules
that help to make the roads safe, but people do not follow the rules.

In our country as in most other countries traffic keeps to the right, but in
Great Britain traffic keeps to the left. While driving the car you can get
into trouble. The data indicate that in road accidents the passengers who
use different kinds of safety belts suffer from the impacts less than the
passengers who don't use ones. It was shown that safety belts had reduced
the risk of serious injuries.

Accidents can be divided into three types as follows:
1.Head-on impacts between cars;
2.Side impacts caused by accidents at intersections;
3.Rear impacts in which the car (often stationary) is struck from the rear by
another car.

Head-on accidents are the most numerous in which the driver and the
front seat passenger suffer head injuries. That is why the most important
function of safety belts is to protect the driver and passenger from head
injury.



In up-to-date cars various types of safety cushions are used to protect the
lives of those sitting in the car. But the gold rule is to be careful on the road
while driving the car.

As far as the pedestrians are concerned they should obey the following
rules: before crossing the road, stop and look both ways. Look right, look
left, and then look right again. If the road is clear, it is safe to cross it.

IIPH/IO/KEHHE
Cnpasounbvie mamepuanbvl
HenpaBuibHble (HeCTaHIAPTHBIE) IJ1ar0JIbl.

Tab6mmma 1

Infinitive | Past Indefinite| Participle II Ilepeson
(I dopma) (IT popma) (III popma)
be 'was, were been OBITE
become became become CTaHOBUTBHCS
begin began begun HaYUHATD (CsT)
break broke broken lmomMatb
bring brought brought [IPUHOCUTH
build built built CTpOUTD
burn burnt burnt rOpeTh, )Ke4b
buy bought bought MOKYTIaTh
choose chose chosen BEIOMpATh




come came come MIPUXOJNUTH
cut cut cut pe3aTh
do did done nenaThb
draw drew drawn TAIINTh, PUCOBATH
drink drank drunk [UTH
drive drove driven BE3TH, €XaTh
eat ate eaten €CTb
fall fell fallen majgaTh
feel felt felt 4yBCTBOBATh
fight fought fought OOpOTHCS
find found found HAXOIUTh
fly flew flown meTaTh
forget forgot forgotten 3a0BIBaTh
get got got MOJIy4aTh, CTAHOBUTBCS
give gave given ITaBaTh
g0 went gone M/ITH, eXaTh
grow grew grown [pacTH, BBIPAIIUBATH
hang hung hung BEIIaTh
have had had MMETh
hear heard heard CIBILIATh
hold held held Inep>kaTh
keep kept kept XpaHNTb
know knew known BHATH
lead led led BECTH
Tabnuma 1 (Ilponomxkenne)
Infinitive Past Participle II [TepeBon
Indefinite
(I popma) | (II popma) | (III popma)
learn learnt, learned |[learnt, learned  |[yaurs(cst)
leave left left OCTaBJIATH
let let let [103BOJIATD
light lit lit 3a)KUTaTh
lose lost lost TepSTH
make made made enartb
mean meant meant 3HAYNTH
meet met met BCTpCYATh
put put put KJIaCThb
read read [red] read [red] YUTATh
ring rang rang 3BOHUTH
ran ran ran 0exKaTh




say said said CKa3aTh, TOBOPUTH
see saw seen BU/ICTH
sell sold sold [poaBaTh
send sent sent [OCBHLIATH
set set set nmoMeniaTh, KJIacTh
show showed shown [TOKa3bIBATh
shut shut shut 3aKpHIBATH
sing sang sung [eTh
Sit sat sat CUICTH
sleep slept slept criathb
speak spoke spoken TOBOPHTH
spend spent spent TPATUTb, IIPOBOJIUTh
stand stood stood CTOSITH
swim swam swam [1aBaTh
take took taken Opathb
teach taught taught Y4uTh, 00y4aTh
tell told told CKa3aThb
think thought thought IyMaThb
throw threw thrown Opocarb
understand understood understood [TOHNMATh
win 'won 'won BBINTPHIBAT
write wrote written caTh
CaoBooOpa3zoBanue
OcHoBHbBIE cyQPUKCHI CYIIECTBUTEIbHBIX
Tab6mmna 2
Cypdukc [K xakoit yacti peunt  [OcnoBHoe 3Hauenue |([Ipumepsr  ([lepeBox
moGaBIsteTCs 00pa30BaHHBIX CIIOB
-ance K TJIaroiam nelicTBre maintenance [TeXHHYECKOE
00CITy>)KHUBaHUE
-ant/-ent |k riraromam MIPUHAUISKHOCTE K [assistant ACCHCTEHT
npodeccnn student CTYIEHT
-ency K npuiiaraTeabHbIM  [KadecTBO mim cocto  [efficiency  pddexTrBHOCTD
SHHC
-er/-or K TJIaroiam nericTByromiee Mo [reader YUTATENh
TN MEXaHU3M, Ipo  (worker pabounit
M3BOJLINIMI IeHCTBHE |Visitor [TOCETUTENb
-dom K CYIICCTBUTEIBHBIM, [COCTOSIHHE, KauecTBO |freedom cBOOOIA
pHUIaraTeabHbIM
-er K CYIIECTBUTEIBHBIM [MMS CYII., 0003HA Londoner  [moHmoHen
Yaroree JKUTEIs




~hood K CYIICCTBUTEIHHBIM |COCTOSHHE childhood |mercTBO
-ian K CYIIECTBUTEIBHBIM [rIpodeccus technician  [TexHHMK
physician __[Bpa4
-ics K CyLIECTBUTEIBHBIM |[HA3BAHUE HAYKH physics (ur3mKa
-ing K Tyaroiam npouecc, aeiicteue, [reading YTCHHE
COCTOSIHUE smoking KypeHUe
-ion K Tyaroiaam nporuecc, AeicTere, [revolution  |peBoIOIMS
-tion COCTOSIHUE solution [pacTBOp
-ation aviation aBUALINA
-ism K CYIIECTBUTEJIBbHBIM, [ydCHHE, TEOPHS, HA  [marxism MapKCH3M
MprtaraTeJbHbIM npaBieHue, kadyecTBo |heroism reponsm
-ist K CYIIECTBUTEIBHBIM (MM CYIIECTBHTENb  [communist |[KOMMYHHCT
Hoe, oOo3Hauatomee (darwinist TapBHHUCT
[1OCIIe10BATENS
yaeHHst
-(i)ty K NpUIaraTeJbHbIM  (KAYECTBO MIIM CO legality NIeraJbHOCTh
cTOsIHUE
-ment K Tyaroiaam pe3ynbTat AeiicTBusl  jequipment  |0OopyaoBaHue
settlement  |[mocenenue
-ness K NpUIaraTeJbHbIM  (KAYECTBO HMIIM CO softness MSTKOCTh
CTOsIHME darkness TEMHOTA
-ship K CYyLIECTBUTEIILHBIM |COCTOSIHHE friendship  |[nqpyx6a
-ence K Tiaroiy KauecTBO excellence  [mpeBocxoncTBO
difference  |pasnmune
OcHoBHbIE cy(pPUKCHI NPHIATATEJIbHBIX
Tabmumma 3
Cyddukc| K kakoit uactu OcHoBHOE ITpumepsr IlepeBon
peun 3HAYCHHE
Jo0aBsIeTCs 00pa3oBaHHBIX
CIIOB
-able K CYIICCTBUTEN |HNCIIBITBIBAONTMI  [workable IPUTOAHBII
st
HBIM U TJIaroiaMm |neiicTBue [padoThI
considerable [3HauuTENBHBIN
-al K CYIIECTBUTENb [HaJM4Me KadecTBa |electrical PIIEKTPHYECKH
i,
HbIM sentimental |ceHTHMeHTaTb
HBII
medical MEIUIIUHCKUIHA
-ant K TyIaroiam HaJM4ue Ka4ecTBa, [resistant CONPOTHUBIISIO
CBOWCTBA uifcs
-ent K [J1aroiam Hanuaue Kadectsa, |different [Pa3IIMYHBIN




cBOIiCTBA
-ary K CYIICCTBUTENb |HATMYKE KAa4ecTBa, [revolutionary [peBOIIOIMOH
HEIM CBOMCTBA BIN
-fill K CYIICCTBUTENb |[HamH4uue kadectBa [useful [10JIE3HBII
HBIM
-ish K CyIIeCTBUTENb |[Hammuaue npu3Haka |childish IMETCKUH
B
HBIM U Tippara  |cnaboii crerenn  [feverish ITUXOPaI0UHBI
151
TCITHLHBIM reddish KPACHOBATBII
-ive K IJIaroiam HAJIMJHe KayecTBa, [creative co3uIaTEeIHHBI
151
CBOICTBA
-less K CYIICCTBUTENb |OTCYTCTBHE Kade  [useless 0eCTIOIe3HBII
HBIM cTBa
-ous K CYIIICCTBUTENb |HAJIMYUC KadecTBa [famous M3BECTHBIN
HBIM
OcHoBHoI1 cyppukc Hapeunit
Tab6muna 4
Cydduke K kakoit vactu  |OcHOBHOE [Ipumep [lepeBon
pean 3HaYCHUE
imobaBIseTCs 00pa30BaHHBIX
CITOB
-iy K n3Mensier yactb  |badly [J10XO0
[prIaraTeIbHBIM
pean
OcHoBHbIE cy(pPHUKCHI IT1ar0JI0B
Tabmmma 5
Cyddukc  |K xaxoit gactst peun  [[Ipumepst [lepeson
imobaBseTCs
-ate K CYIICCTBUTEIEHBIM, [activate AKTHBU3UPOBATH




MIpIaraTeIbHbIM
-en harden 3aKainBaTh
-fy intensify yCUIIUBATb
-fee summarize CyMMHPOBAThH
OcHoBHbBIE IpeuKChI
Tabmuma 6
pedukc | K xakoit vacra OcHoOBHOE [IpumepbI ITepeBon
peun nobasisiercs 3HAYCHHE
anti- K CYIIECTBUTENb [aHTHU-, IPOTHBO-  [antisocial QHTHOOIIECTBEH
HBIM U TIpUJIara HBIIA
TEJIEHBIM
co- K CYIIECTBUTEIb  |cO-, OOIIHOCTH Aeki|cooperate COTpyaHNYATh
HBIM M IJIarojiaM  [CTBHS
counter- [K CyIIECTBHUTENb [KOHTp-, MPOTHBO- |countershaft |kKoHTpHpuBOA
HBIM
dis- K rimaroiam, ¢y  [pas-(pac-), ne3-, [disorganize |ne30praHm3oBaTth
[ICCTB. ¥ IpwIar. |00e3-
ex- K CYIICCTBUTENb  [OBIBIIHI ex-champion PKC-4eMIHOH
HBIM
extra- K IpriIaraTelbHBIMPKCTpa-, CBepX-  [extraordinary pKcTpaopanHap
HBI
inter- K TJarojaM M py MEXIy-, B3auMo- |(Interaction  [B3ammopeiicTBue
JIaraTeabHbIM
rais- K TJ1aroiam u oTpumarensHoe  [misunder- HETIpaBHIIEHO
cyie
CTBUTEIILHBIM 3HAUYCHHE stand MOHSTH
non- K CYIIECTBUTENb  [HE- noninterferen- [HeBMeaTenb
HBIM | [IpUJIara ce CTBO
TEJIEHBIM
out- K TJIaroiam repe-, MpeBocXxo-  joutbalance  [mepeBemMBaTh
IIUTH YTO-T100
over- K TJIarojaM | Ipu- [iepe-, CBepX- overdo repecrapaTbest
araTesbHBIM YpEe3MEPHO
T




post- K TJIaroiam, cy-  [oce- postaccelera- [mocieyckopenne
[IECTB. W IIPUJIAT. tion

in- K CYIIECTBUTENb- (OTPULIATEIILHOE incorrect HETPaBHIIEHBIN
HBIM U TIpUJIaTa-  3HAYCHUC
TCITBHBIM

il- K CYyLIECTBUTENb- (OTPULATEIBHOE illogical HEJIOTUYHBII
HBIM U TIpUJIaTa-  3HAYCHUC
TCTBHBIM

im- K CYILIECTBUTENb- |OTPULATENBHOE impossible  |HEBO3MOXHEII
HBIM U TIpUJIaTa-  3HAYCHUC
TCITBHBIM

ir- K CYIIECTBUTEIb- (OTPULIATEIILHOE irregular HEpETYIISIPHBINA
HBIM U TIpUJIaTa-  3HAYCHUC
TCTBHBIM

pre- K Tyarojam, cy-  [1o-, mepen-, panpiueprehistoric  |momcropudeckuit
IIECTB. W IIPUJIAT.

re- K TJIarojaM M Cy- (CHOBa, BHOBb rewrite MepETUCHIBATD
[CCTBUTEITHHBIM

sub- K TJIaronam, cy-  [Cy0-, HiKe-, moa- [subtropical  |cyOTpommyeckuii
IIIECTB. W IIPUJIAT.

super- K TJIarojiam, cy-  [CBEpX Iepe - superheat reperpes
IIIECTB. ¥ MIpHIara-
TCITBHBIM

trans- K TJIarojam, cyme [nepe -, TpaHc - transplant  |[mepecaauTh
CTBUTEBHBIM U transforma  [rpanchopmarms
MprIIaraTeIbHBIM tion

ultra- K CYIIECTBUTENb- [peBOcXofsmiee  [ultrasonic  |yabTpa3sBYKOBOH
HBIM U TIpUJIara-  |0OBIYHOE, CBEPX-
TCTBHBIM

un- K rjaarojiam, cy-  |He- unkind HETOOPHIH
[IECTB. ¥ Mprara-
TCITBHBIM

under- [k TJIaroliaM | IIpH- [HIKE HOPMBI, HeJo-underestimate[HeT00ICHUBATh
L‘laraTeJ‘IbHLIM

Heinnunsbie ¢gopMbl ri1arosa
Nupunntus (Infinitive)
Tab6mmna 7

Active

Passive




Simple

I CBMO.

to write | want to write him a
letter. 51 Xxouy HanmucaTh eMy

to be written
The letter to be written will be
posted at once.
[lruceMO, KOTOpPOE HYKHO
HANUCATD, OY/ICT MTOCIIAHO

cpasy.

Continuous  |to be writing

TMKTaHT celJac.

The students seem to be
writing a dictation now.
Kaxxercst, CTyJeHTHI U IILYT

Perfect

dictation.

HAIMMUCAJIN JUKTAHT.

to have written The students
seem to have written their

[lo-BuarMOMY, CTYJEHTBI

to have been written
The dictation seems to have
been written.
JIMKTaHT, Ka)XeTCs, HATMMCAH.

Perfect
Continuous

to have been writing

2 hours. CtyneHTsl,

4acCoOB.

The students seem to have
been writing their dictation for

MMO-BUIUMOMY, ALY T
JIMKTAHT YK€ B TCHCHUC IBYX

DOyHKIUHY HHPUHUTHBA B NIPEeJIOKCHUH.
Cnoco0bI nepeBoga MHGPUHNUTHBA

Tab6mmna 8

OyHKLIHA

ITepeBon

1. Iomnexkarmee
To read books is useful. To smoke is
bad for health.

CyIIECTBUTENBHOE WU
HeonpeenenHas Gpopma riarosma.
Urenue (4MTATH) KHUT (1) ITOJIE3HO.
Kypenue (KypuTh) BpeHO AJIs
310pOBBSL.

2. Jononuenune I want to read this
book.

Heonpenenennas gopma rimaromna. 5
XOUy MPOYMTATH Ty KHHTY.

3. HacTh COCTAaBHOrO CKa3yeMoro.
Our task is to speak English.

Heonpenenennas gopma riaroia.
Hama 3aaya — roBopurts




MO-aHT TN CKH.

4. Onpenenenue ['maron B HacTosieM min OymynieM

IA thermometer is an instrument to showBpemeHnn mim ¢ MOATBHBIM 3HaYEHHEM|

the temperature. OIIPEACITUTCIILHOIO IPUAATOYHOI O

The text to be translated is very [IpeITI0KEHHUSL.

interesting. TepmoMeTp — 3T0 NPHUGOP, KOTOPBIiA
MOKa3bIBAET (TOJDKEH MOKA3hIBATH)
[TEMIIEPATYPY.

TexeT, KOTOpBI HYKHO (OyzneT)
[epeBecTH, O4eHb HHTEPECHBIH.

5. OOCTOSATENHCTBO CyIiecTBUTEIBFHOE € IIPETIOTOM HIIH
'We went to the station to meet them. [HeonpexneneHHas ¢popma riarona c
COI03aMH «YTOOBI», «JUISI TOT'O YTOOBD».
MBI TTOeXajii Ha CTAHIHUIO, (/I TOr0)
4TOOBI BCTPETUTH UX (/1S BCTPEYH C
HUMHM).

CioxHoe moajiexaiiee

(Complex Subject)
Ta6muna 9

I'maronel-ckazyeMsle, ¢ ITpumepsr Ilepeson
KOTOPBIMH yHOTpeOIsieTcst
CJIOKHOE MOIIEKAILEE




1. B cTpagatensHOM
3ajore:
to know — 3HaThH

to think — mymarts to
consider — cunTats to
believe — moxaraTs to

expect — 0KUIaTh to
report — coo0mIate to
state — yTBepIKIaTh to
suppose - IpeArnoIarath

arrive soon.
bate arrived.

be arriving now.
He is believed to have

there.

The delegation is said to
The delegation is said to

The delegation is said to

been working for 2 years

TI'oBopsT, yTO Neneranys
ckopo npuenaer. 'oBopsrT,
YTO JeJieranus npuonna.
TI'oBopsT, yTO NEneranys
ceifyac IpHObIBAET.
INonaratot, uTo OH padoTaJ
TaM B TEUEHUE JIBYX JIET.

2. B neicTBUTEIHLHOM 3a-
itore:

to seem — Ka3artbcs to
appear — OKa3bIBaThCS
to happen — ciygaThcs
to prove — OKa3bIBaTbCsA

well.
He seems to have known
English well.

He seems to know EnglishOmn, kaxkercs, 3HaeT Xxopomo

anriuiickuii. OH, KaxeTcs,
3BaJI XOPOIIO aHTIMHACKUI.

3. Co cnoBocodeTaHUAMU
to be likely — BeposiTHO
to be unlikely — mamnose-
[POSITHO

to be certain — ompe-
InesIeHHO

to be sure — 006s13aTeTBHO

:\She is likely to come here

In time.

Omna, BEepOSITHO, IPUAET
BOBpEMSI.

CJ10:kHO€ T0T0JTHEHHE
(Complex Object)

Ta6mmma 10




I'maromnel-ckazyeMsle, no- ITpumepsr
CcJIe KOTOPBIX YIoTpeOs-
eTcsl CIIOKHOE

ITepeBon

X0oTeTh to wish — skenats [the truth.
to like — HpaBUTHCA tO
dislike — He HpaBUTHCH tO
lhate — HeHaBUIETH

JIOTIOJTHEHN
1. Belpaxatoniue I want him to read this |fI xou1y, 4T0OBI OH ITpOUEN
pkeraHue: to want — book. I like people to tell pTy kauTY.

Mue HpaBUTCA, KOl JIFOAU
TOBOPST IIpaBay.

2. Beipakaromue 'We know him to be a
[YMCTBEHHYIO good engineer.
nesTenbHOCTD: to expect |We suppose him to have
— OXKHIATH tO done his work.

think—mymaTh to suppose
— mpeyrarath to know —|
BHATH tO suspect -
Mo103peBaTh

MbI 3HAa€M, YTO OH XOPOLIMUI
MH)KEHED.

Mz npeanonaraem, 410 on
BEITIONTHA CBOIO PadoTy.

3. Beipaxatomue uyB-  [[ saw him cross the street.
crBennble Bocnpustus: to|l felt somebody touch my
see — BHIETH to watch —arm

HaOmronats to feel — (Mndunutus ynorpe-
yBCTBOBATH to hear —  |6ysieTcst 6€3 YacTHIIBI
CITBIIIATH "to").

51 BUAEJI, YTO OH TIEPEXOANIT
YITHILLY.

¥1 mouyBCTBOBAJI, YTO KTO- TO
ITOTPOHYJICH 10 MOEU PYKU.

4. Beipakaronue nmooyx- [He made us wait for him.
neHue: She let me do it.

to make — 3actaBmnsars to (UaduanTHB yrorpe-

let — mo3BomsATS to force |Gnsiercst 6€3 YacTUIIbI

— 3acTaBiATh (cuioir)  |'to").

On 3acTaBuiI HAC JKIATh €ro.
Omna 1o3BoImIa MHE caejarTrb
OTO.

I'epynanii (Gerund)

Tab6mumal 1

Active

Passive




Simple asking

questions.

The students like asking

CTymeHTHI TI00SIT 321aBaTh

being asked

Some students don't like being
asked.

HekoTopble CTYAEHTHI He

Te0st 00 ITOM.

BOITPOCEL. ITFO0SIT, KOT/1a UX
CHpalnBaT.

Perfect having asked I know of his having been asked I
having asked you remembered having been
about it asked
f1 3Hat0, uTO OH cnpaumBaa [about it.

51 BCITIOMHWII, 9TO MEeHS CIIPa-
IMBAJIH 00 3TOM.

@YHKINU FepYHIHS B PeIJI0KEeHUH

Tabmmma 12

DyHKuus

IepeBona

1. Hoanexamiee
Driving at a high speed is dangerous.

(CyLIeCTBUTENBHOE WU
HeolpeeneHHas (popMa riaroma.
E3quTh (€31a) Ha OONBIION CKOPOCTH
oracHo (omacHa).

2. JlononHenue
My brother likes riding at a high speed.

(Cyl1eCTBUTENBHOE WU
HeolpeeeHHast popMa riaroma.
Mot Opat Tr00UT e3AuTh (e31y) Ha
OOITBIIION CKOPOCTH.

3. HacTh COCTAaBHOTO CKa3yeMoro
His favourite sport is racing.

(CyLIeCTBUTENBHOE WU
HeonpeseneHHas Gpopma riaromia.
Ero 1r00MMBI BUJT CTIOPTA - FOHKH.

4. Onpenenenue
The idea of designing gas engine was
given by specialists long ago.

CyIIeCTBUTENBHOE.

Mnest co3maHus Ta30BOr0 ABUTATEIS
ObLTa TIPEITIOKCHA CIICITHATUCTAMU
ITaBHO.

5. OOCTOATENHCTBO
'We can reduce pollution by observing
good ecology rules.

/leenpuuactHbIii 000poT MBI MOXKEM
[TOHU3UTH 3arPsI3HEHHUE OKPYKaIOIIen
cpenbl, co0IK01as MIPABHUIIA SKOJIOTHH.

IIpuuactue (Participle I, II)

Tab6mmna 13

Pariciple I Active

Passive




Simple

reading

The girl reading a book is my
friend.

/leByIIKa, YNTAIONIASK KHHTY,
MOSI TOZIpYyTa.

Reading a book he made some
notes.

UuTasi KHUTY, OH AeNa
KaKHe-TO 3aIIHCH.

being read The book being
read now is very interesting.
Knura, xotopyro ceigac
YHATAIOT,

OYeHb MHTEpECHAS.

Perfect having read Having read the having been read Having
book he put it aside. been read the book was
IMpounTas kuuUry, oH oTioxuireturned to the library. ITocite
€€ B CTOPOHY. TOT0 KaK KHUTY MPOYHMTAJIH, ee
BEpHY/IN B OMOINOTEKY.
Participle I [The book read by him is on the|

table.
Kuura, npounTaHHas UM,
UIEKUT HA CTOJIE.

IIpuyacTHbIE 000POTHI

(Participle Constru

ctions)

Tabmmma 14



OnpenenuTtenbHbIA NPHYACTHBIN 000pOT

The translation done at home by
the students was of great
importance for them.

[IepeBoJ, BBINOJIHEHHBIN
(KOTOPBIi ObLI BBINOJTHEH)
1IOMa CTyJEHTaMH, MIPeICTaBIsII
111 HUX OOJIBITYIO BaXKHOCTb.

OO0cToATEILCTBEHHBII NPUYACTHBINA 000pOT

Translating the text the
students used the dictionaries.
Having translated the text the
students began to answer the
questions.

[lepeBos TekCT (BO BpeMsi
MEePeBO/Ia TEKCTaX CTYAEHThI
M0J1b30BATUCH CI0BAPSIMU.
[lepeBos TekcT (mocie
MEepeBo/ia TEKCTA), CTYAeHThI
HAYaJId 0TBEYATh HA BONPOCHL

He3aBucumbliii np

HYACTHBII 000pOT

The students having translated
the text, the lesson was not over.
The lesson was over, the students
having translated the text before
the bell rings.

Korna cTtyneHTs! nepesenu
TEKCT, YPOK elle He ObL1
OKOHYEH.

Ypox ObLI 3aKOHYEH, IPHYEM
CTYIeHTBbI NepeBeIH TeKCT
paHbIIe 3BOHKA (10 TOTO, KaKk
MPO3BEHEJ 3BOHOK).

®opMBbI HAKJTIOHEHUA

Tabmmma 15

Haxkno-
HEHUE

[HeiictBue

ITpumep IlepeBon

N3b9BU-
TEeJILHOE

BeIpaxxaeT
peanbHOE
NICHCTBUE B
HACTOSIILEM,
MIPOLIEALIEM U

Oymymiem.

He goes to the
office every day.

OH xXoauT B 0uc
CKETHEBHO.




neiicTBus (B mpo-
1JI0M).

I wish you had
been present at
the conference
yesterday.

IloBenu- [Beipakaer Come up to me. [Tomoiinu xo mHe!
TEJIbHOE [IPUKAa3aHUeE, Open the window, |[OTKpoii 0KHO,
npockOy; mody- [please. MOXKATYHCTA.
PKIAET K Let's go to the JlaBaiiTe molgeM B
el CTBUIO. cinema. Don't go [kuHO.
there. He xonure Tyna.
Cocunara-Beipaxxaer If I knew him \Ecu 6u1 1 3HAT €70
TEIBHOE [OMyCTUMOCTh,  |better, I should give [TydIIie, si Jaut 6u1
BO3MOHOCTh him advice. emMy
coBepieHus nei- | suggested that  |coBer.
cTBUS (B Wwe should go to the S npednoarcun,
HACTOALLIEM HUIIU country tomorrow. I [UTOOBI MBI noexain
Oymymiem). wish you were 32 TOPO/I 3aBTpa.
present at the 51 xomen OB,
conference today. [dTOOBI BBI
MPUCYTCTBOBAIIN
CErOHS HA
KOH(epeHI M.
Bripaxaet If 1 had known  |Ecnu 6w s 3uan €ro
HEpEaJIbHOCTD, him better, 1 UTydILIE, S aamn 6b1
HEeBO3MOXXHOCTH  [should have emy coseT. (S ero
COBEPLICHMUS given him advice. |He 3Ha1, coBeTa HE

nan). Sl xomen ow,

4TOOBI BBl BUEpa
MPHUCYTCTBOBAJIM HA

KOH(EpEHIHH.
(>Kanb, 4To BBI HE

[IPUCYTCTBOBAJIN.)




dyaknuu riaaroJa ""should"
Yy

2.BcrioMorarenbHbIi

If I had free time, I

Ecnu Ob1 y MeHsI ObLII0

Tabmmma 16

DyHKIUA IIpumep IlepeBon
1 .Bcriomorarensubiii| He thought that I OH aymaJ, 4To s
[J1aroJ st should go NMOMIY Ty/1a MEUIKOM.
oOpazoBaHus there on foot.
Future-in-the-Past
(cormacoBaHue
BPEMEH)

rJIaroJ1 JUis should have gone |cBOGOIHOE Bpems, s
oOpazoBaHus there on foot. OBl momIes Tyaa
coCJIaraTeIbLHOro [TCIIKOM.
HaksioHeHus (1 -ro
nuIa). Bawm caenyer uaru
3.MopaneHbii riaaros You should go there TyZJa MELIKOM.
(cmemyer). on foot.
®dyuknum raarojaa “would”
Ta6muna 17
DyHKIUA ITpumep IlepeBon

1.BcriomoraTtensHbIH
TJIaroi Jiis 00pa3oBaHUs
Future-in —the-Past
(cormacoBaHue BpEeMEH )

She said he would take
exams in physics.

Omna cka3zajia, 4To OH
Oyner caaBaTh
AK3aMEHBI 110 (PU3MKE.

2.BcromorarenpHbIH
TJIaroi Jiis 00pa3oBaHUs

If you asked for help, he
would do it with great

Ecnu 6b1 TBI IOIIPOCHIT O
TIOMOIIN, OH C/IeJIAJ ObI

COCJIaraTelIbHOr0 pleasure. 3TO C BEINYAUIINM
HaKJIOHEHUS (2-r0 1 3-T0 yIOBOJIGCTBHEM.
JIUIa MH.YHCTIa)

3. Monanehsnii rinaron (B | He asked her for help but | Or  nompocunn  ee o
orpunatenbHoil Gopme - | she wouldn’t listen to | momom, OH oOHa H
HEXeNaHue YTO-TO him. CIylIaTh He XoTeJa.

Je7aTh)

4.IloBTOpeHue nehcTBUS
B MPOILIOM

In summer we would go
to the country.

JleroM MBI OOBIYHO

€31IUM 3a I'OpOJ.




Coro3bnl
CounHHUTEIbHBIE COI03bI

Tabmmma 18
Coro3 IIpumep
and-u, a He came to the library and we
began to do our hometask.
but-nHo, a The train has arrived at the station

but there was no delegation in it.

both...and-kak...Tak H...

Both my brother and my sister
want to drive the car.

neither...nor-uu..Hu...

Neither my brother nor my sister
can drive the car.

either...or-mim(au6o0)...nan
(1u00)

I don’t know who could do it,
either my sister, or my brother.

as well as
(as well) -Tak ke, Kak u ...a
TaKKe

We can read, write as well as speak
English.

also-Taxxe There are two departments at our
college: the day department and the
evening department. Also the
college provides distance
education.
IoxuuHHMTEILHBIE COIO3BI
Tab6mmma 19
Coro3 IIpumep IlepeBon

that — uT0 It is possible that he will |Bo3moxxHO, 4T0 OH TIpUJET.

come.
He said that he would  |OH cka3ain, 4To0 puaeT.

come.

what —uTo I don't know what will  |5I He 3HAIO, YTO U3 3TOrO I10

come of it.

true.

'‘What he told us is not

ITY4HTCS.
To, uTO OH HaAM cKa3zal —
HEIpaB/a.

who — xoTOopBIii

The man who is sitting by|YenoBek, KOTOpbIHA CUANT Y
the window is my friend.

OKHA, MOH JPYT.




whom — 0 xom
(komy)

I don't know whom you
are
speaking about.

51 He 3HA10, O KOM TBI
TOBOPHILID.

whose — uen,
(dbs1)

Do you know whose book
it is?

Tl 3HACIIb, Ybs OTO KHHra?

when — xornma

'When I came home my
daughter was sleeping.

Koraa st npuiiia 1oMoi, Mosy
TOYb CITaja.

where — re

The city where he was
born is very beautiful.

['opon, rae oH poaucs,
OYEHb KPACHUBBII.

how — kak

I don't remember how 1
oot there.

5l He MOMHIO, KaK 5
o0Opaiics Tyja.

why — mouemy  |We didn't know why he [Ms1 He 3HanH, moyemy ero
was absent. HET.

if—ecin If you come we shall go to[Ecim TbI puaenb, Mbl
the theatre together. MOJiIEM B TEaTp BMECTE.

if (whether) - tu  |We didn't ask if MpbI HE CIIPOCHIIH, TIOCTYITUI
(whether) he had VIM OH B YHUBEPCHUTET.

entered the University.

while — B TO Bpems|
KaK

'While I am reading an
interesting book I notice
nothing around me.

B 1O BpeMs Kak sl YNTAK0
MHTEPECHYIO KHUTY, s HE
3aMe4ar0 HU4ero BOKPYyr

ceOst.

as Soon as — Kak
TOJIBKO

shall ring you as soon as
I have free time.

51 mo3BoOHIO TeOe, KaK
TOJBKO Oyay cCBOOOICH

since — c Tex mop
KaK, TaK KaK

I haven't seen him since
May.

Since I was very busy, |
couldn't come to see you.

91 He BUEI ero ¢ Mas.

Tak Kak s ObLI OYCHb 3aHST,
51 HE CMOT IIPUMTH K BaM




before - nepexn tem,
Mpexae 4eM

Before going to some
foreign country you

[Ipexne ueM exaTh (nepen
TEeM Kak I0eXaTh) B

KaK

the University, | became a|
post graduate at once.

should read about the KaKyI0-TH00 3apyOekHYIO
customs. CTpaHy, BaM CJIeIyeT
MOYHUTaTh 00 ee 0ObIYasX.
after — nocnie ToroAfter I graduated from [Tocne Toro kak st

3aKOHYMJIA YHUBEPCUTET,
cpasy e crajna
ACIIUPAHTKOM.

because — 110-
TOMY YTO

I didn't come because 1
was 1l

41 He mpuILIes, IOTOMY YTO
ObL1 OOJICH.

as — TaK KakK

We returned to the camp
as it was very cold.

MBI BEpHYJINCH B J1areps,
TaK Kak ObLIO OYCHb
X0JIOTHO

though — xots
(although)

I recognized him by his
photograph though I have
never seen him before

41 y3Hau ero no
(dotorpadum, XoTss HUKOTJQ
HE BHJIEN €ro IpexIe.

as if—xkax ecii Obl

He spoke English so
fluently as if he were an
Englishman.

OH roBOpHUJI NO-aHIJINICKU
TaK Oeryio, Kak ecliv Obl OH
ObLII AaHTTTMYAHUHOM

Cnucox HanboJiee ynoTrpeOuTeJbHBIX NPEAJI0roB,
COI030B M HApPEYHii, COBNAJAIOLIMX 110 (popme
about — 0, Ipo, OTHOCUTENBHO; OKOJIO, TPUMEPHO
above - BrIIIIE, HAJT
above all — npexae Bcero
across — IOIEPEK, Yepes3, Ha APYroil CTopoHe

after — mocie, 3a,

IIOCJIC TOT'O KaK

after all — B KOHIIE KOHIIOB

against - mpotus




along — B0JIB, TIO
among - cpeau
around (round) — Bokpyr
at — B, Ha, y (0O03HaueHHe Mecta — at the table), B (0603HaueHNE
BpemeHn —at 5 o'clock) at last — Hakonen
at least - o kpaitHel mepe
before - nepexn (vecmo), no (6pems); npexe 4em (cors)
behind — no3agu, 3a
below — Huxe, BHU3Y
besides - momumo, KpoMe TOTO
beside — psziom ¢
between — mMexy (AByMs peaMeTaMu)
by — vy, 0KOJI0; MOCPEACTBOM; MUMO; K OIIPEACIICHHOMY MOMEHTY
by the way - MexXy IpoUYNM, KCTaTH
by means of - nocpeactsom
by no means - HuUKOHM 00Opa3om
by all means — 110061M crioco60omM
down — BHU3
during — Bo Bpems (4ero-ymdo)
for - 3a, pagu, 11d; B TCUCHHUE
from — u3, ot
in this way — takum o6pazom
in spite of (despite) — HecMoTps Ha
in front of - Biepeau; nepen
into — BHyTpb
of — (s 0003HaUCHUS TTaeKa)
of course — KoHEYHO
on = upon — B (C JHSIMH, YUCJIIaMH ); Ha, 110
out — u3; HApYXKy
over — 4epe3; HaJl; CBBIIIE
since — ¢ TeX MOp Kak; Tak KaK
through — uepes
throughout — o Bcemy; NoBCIOIY
till = until — 10; 10 TEX Mop moxa...
towards — mo HampaBieHHIO K under — TOJI; HIXKe; COTJIACHO
up — BBEpX 110
up to — BILIOTH 110
with —c



within — B npenenax, BHyTpu
without — 6e3
CocraBHble IpeyIoru
CocTaBHBIC TPEJIOTH MPOU3OIIUTH U3 COUETAHUS KAaKOU-TMOO0 YaCTH pedun
(B OCHOBHOM CYILIECTBUTEIBHOTO) C MPOCTHIMH MPEIOTaMU.
OCHOBHBIMH U3 HUX SIBJIIIOTCS CIIEIYIOIINE
(pacmoJioskeHbI B an()aBUTHOM MOPSIIKE
0 TIEPBOMY BJIEMEHTY MPEAJIora):
according to — cornacHo
as to, as for — oTHOCHTENEHO
because of — u3-3a
by means of - mocpencteoM
by reason of — o npuunHe, B cuiy, U3z-3a
by virtue of — B cuity, Giaromgaps
by way of - paau, c uensto, yepe3
due to — Omaronaps, B cuiy, u3-3a
for the sake of - pagu
in accordance with — B cooTBeTCTBUY C
in addition to - kpome
in consequence of — BciieICTBUE, B PE3YJIbTATE
in front of - nepex, HanpoTUB
in relation to - oTHOCUTENBHO
in spite of - HecmoTps Ha
in respect of — oTHOCUTENBHO
in view of — BBUly TOT0, YTO; B CHILY, H3-3a
in virtue of — Gnaronaps; mocpencTsom
instead of — BmecTO
on account of - Mo npuuuHe, U3-3a
out of - u3, U3HYTpH, BHE
owing to - u3-3a, Gnarogaps
thanks to - 6imarogaps
with regard to OTHOCHUTEJIBHO, IO OTHOILIEHUIO K,
(as regard of) B OTHOIIICHUH K
with respect to
with reference to



CHMBOJIBI M MX UTEHHE

CumBon AHIIIMHACKHUI BapUaHT IlepeBon
+ plus TUTEOC
- minus MUHYC
+ division sign 3HAK JICTICHUS
X multiplication sign 3HAK YMHOKEHHUS
= equal 3HaK PaBEHCTBA
~ approximately equal NpUOIIN3UTEIBHOE

PaBEHCTBO

> more than OoJblIe YeM
< less than MEHBUIE YEM
0 parentheses KpYrJible CKOOKH
[] brackets KBaJIDaTHBIE CKOOKH
{} braces ¢burypasie ckoOKu
# number YHCIIO0
o0 infinity sign 3HaK OECKOHEUYHOCTH
\ root KOpEHb

EnnHuusl udmepeHus
(Units of Measurement)

Mepsi nnunbl (Linear Measures)

Mepa, pycckuit Mepa, Mepa, Mepa, B cM/M
BApHUAHT AHTJIMMCKUAN oOrienpuHsToe
BapUaHT COKpaleHNE

IIFONM inch In. 2.54 cm

byT foot ft.(12in) 30.48cMm

ApA yard yd.(3ft) 91.44cm
MUJISL mile mi.(1760yd.) 1609.33m
MUJISL MOPCKast nautical mile naut.mi. 1853.18m

(6080ft.)




Mepsb1 Beca

(Measures of Weights)
Mepa, pycckuit Mepa, Mepa, Mepa, B I/Kr
BapHUAHT AHTJIMICKUAN oOrienpuHsTOe
BapUaHT COKpaIllCHUE
¢byHT pound 1b 453.59r
LIEHTHED hundredweight hwt (112 1b) 50.8kr
TOHHA ton t (20hwt) 1016.048kr

Mepbl 00béMa KUAKUX U CHITYYHX TeJ
(Measures of Volume)

MUJIA

Mepa, pycckuit Mepa, Mepa, Mepa, B nurpax
BApHUAHT AHTVIMICKUAN oOrIenpuHsTOe
BapHaHT COKpallEHHE
MUHTA pint pt. 0.57n
KBapTa quart qt.(2pt) 1,14 n
rajuioH(OpuT.) gallon gal.(4qt) 4,55 n
raJuloH(amep.) gallon gal. 3,78n
Oymienn bushel bsh. (8 gal.) 36,37 n
Mepsl miiomaau
(Square Measures)
Mepa, pycckuit Mepa, Mepa, Mepa, B M,
BapuaHT AHTJTUMCKUM oOienpuHaToe | M 2 , M’ ,ra, KM®
BapHaHT COKpaleHUE
KBaJpaTHBIN square inch sq.in. 6.45 cm”
JTIONMM
KBaJIpaTHbIN square foot sq.ft... 9,29 am”
byr (144 sq.in)
KBaJIpaTHBIN sSIpJ square yard sq.yd. 0,836 M°
(9sq.t)
akp acre ac. 0,4 ra
(4840 sq.yd.)
KBaJlpaTHasI square mile $q.mi.(640 ac) 2,59 kM”




Bpems

(Time)
Mepa, pycckuit Mepa, anrnuiickui Mepa,
BapUaHT BapUaHT oOrienpuHaToe
COKpaIlleHHE
CeKyHJa second S.
MUHYTA minute min.(60s.)
gac hour hr.(60min.)
JICHb day day(24hr)
HEeJEeIs week week (7days)

Can you read this table?

There are 12 inches in 1 foot.

1 centimeter=0.394 inches (1 centimeter equals 0 points three nine four
inches).

1 inch=2.54 centimeters. (One inch equals two points five four naught
centimeters).

Haunbosee ynorpedoure/ibHbIe COKPaIIeHHUS
a.m. - ante meridiem (zam.) — BO CTOJILKO-TO YacOB JI0 MOy THS
C - centigrade - o crorpanycHoi mkaine Llenbcust (o memnepamype)
e.g. — exempli gratia (zam.) - HanpuMep
etc. — et cetera (ram.) — U T. 1.
hr. — hour — gac
i.e. —id est (zam.) — 10 ecTb
kg. - kilogram - kuiorpamm
Ib. — pound — ¢yHT
L — litre — nutp
m. — metre — MeTp
mi. — mile — muns
mill. — minute — MuHyTa
NB - nota bene (zam.) - pay attention— oOpaTuTe BHUMaHUE, 3aMETHTE
p-m. — post meridiem (zam.)nONOTYAHH
s. — second — cekyH/a
t. - ton - TOHHA
VS$ - Versus (1am.) - IpOTHUB




W. — watt — BarT

X-rays — Roentgen rays - peHTT€HOBCKUE JTy4U

a.c. [alternating current] — mepeMeHHBIN TOK

amp. [ampere] — amnep

B.D.C. [bottom dead centre| - HuXHsS MepTBasg TOUKa

b.h.p. [brake horsepower]| - 3¢ dhexruBHast TOPMO3HASI MOIITHOCTH
C.-I. engine [compression-ignition engine] — nBuraress c
BOCIINTaMCHCHHUECM OT CXKaTus, 11U3€JIb

c.c./cu. cm. [cubic centimetre] — xKyOHuecKuii caHTUMETP
cu. in. [cubic inch] — kyOuueckuii qroiim

cu. ft. [cubic foot] - kyOuueckuii ¢yt

wt. [hundredweight] — nieaTHEp

d.c. [direct current] — MoCTOSIHHBIN TOK

F. [Fahrenheit] — no mkane ®@apenreiita (o memnepamype)
f.p.m. [feet per minute] — ¢yToB B MUHYTY

f.p.s. [feet per second] — dyTOB B cekyHay

ft.-1bs. [foot-pounds] — ¢dyTo-pyHTEI

gal. [gallon] — ranion

g.p.m. [gallon per minute]| - raJuIoH B MUHYTY

hp [horsepower] - nomanaunas cuna

in. [inch] - groiim

k.p.h. [kilometers per hour]| - kuroMeTpoB B yac

Ib [pound] — ¢yHT

Ib.-ft. [pound-foot] - byrTo-dyT

m.p.g. [miles per gallon] — guncio Muib MpoOera Ha TaJUIOH TOIUTHBA
m.p.h. [miles per hour] - muib B yac

n.h.p. [nominal horsepower| — HOMHHaJIbHAsT MOILIIHOCTb B JI.C.
n.t.p. [normal temperature and pressure] — HOpMaJIbHBIE
TeMIlEpaTypa U JaBICHUE

o.a.d. [overall dimension] — raGaputHslii pazmep

psi. [pounds per square inch] - pyHTOB Ha KB . IFOIM

r.p.m. [revolutions per minute] — 060pOTOB B MHHYTY

sq. ft. [square foot] — xBaapartHsbIii ¢yt

t.d.c. [top dead centre] - BepxHssa MepTBast TOYKa

v. [velocity] — ckopocTh

vol. [volume] — 00bem



KJIIOYU K YIIPAYKHEHUSAM PA3JIEJIA 1
Unit One

Ynpaxuenue 8
1-b; 2-c; 3-b; 4-a; 5-b.
Ynpaxnenue 18
1-14; 2-18; 3-23;4-7;5-17;6-21;7-1; 8-12; 9-10;10-2;11-19;12-3;
13-4;14-15; 15-6; 16-13;17-5;18-16;19-8; 20-22; 21-9; 22-20;23-11.
Ynpaxnenue 22
1. I study at the automobile department of a technical college.
2. After graduating from the college I’ll become a specialists un
automobile industry.
3. In my opinion every specialists should know that the automobile must
undergo laboratory and road tests.
4. These tests are needed in order for the automobile to meet up-to- date
demands.
5.The modern automobile must have the following qualities: rapid
acceleration, smooth-acting clutch, silent gearbox, dependable braking
and steering systems, ease of driving.
6. The automobile engine must also have low fuel consumption and be
ecological.

Unit Two
Ynpaxuenue S
1-4;2-6;3-7;4-1;5-2;6-5; 7-3.
Ynpaxuenue 6
1.The automobile consists of three basic parts: the engine, the chassis and
the body.
2.The engine is the source of power.
3.The engine includes fuel, lubricating and electrical systems.
4.The chassis comprises the power train, running gear, steering and
braking systems.
5.The power train(power transmission), in turn, consists of the clutch,
gearbox, cardan shaft, final drive, differential, rear axle and axle shafts.
6. The running gear includes frame with axles, wheels and springs.
7.The body had hood, fenders and accessories: heater, windshield wipers,
stereo type recorder, conditioner and so on.
Ynpaxuenue 13



1-13;2-19;3-25;4-2;5-8;6-5;7-16;8-1;9-11; 10-20;11-3;12-21;13-7;
14-14;15-4; 16-17;17-6;18-24;
19-10;20-9;21-23;22-12;23-15;24-18;25-22.

Ynpaxnenue 15

1-b; 2-d;3-a;4-c;5-d;6-c.

Unit Three
Ynpaxuenue 6
1-a; 2-a; 3-b; 4-a; 5-d; 6-b.
Ynpaxnenue 7
1-b; 2-a;3-b;4-c;5-a.
Unit Four

Ynpaxaenue 8
1-1; 2-b;3-g;4-h;5-f; 6-d; 7-¢; 8-a;9-c.

Unit Five
Ynpaxuenue 9
1. The frame provides support for the body: engine and power train
members.
2.1t consists of longitudinal and cross members that reinforce the frame.
3.The frame has to withstand vibrations, twists and other strains.
4. The frame may be of two types: conventional frames and unibody
constructions.
5. Conventional frames are made of steel channel sections welded or
reverted together.
6. Frameless constructions are made integral with the body.
7.The frame is insulated from the body by rubber pads in order to prevent
noise and vibrations from passing to the passengers of the car.

Unit Six
Ynpaxaenue 6
1-c; 2-b; 3-b;4-b; 5-b.
Ynpaxuenue 12
1-9; 2-16; 3-1; 4-41; 5-11; 6-3; 7-2; 8-15; 9-4;10-7; 11-12;
12-6;13-10;14-8; 15-13; 16-5.
Ynpaxuenue 14
1. The clutch is a friction device.
2.The clutch connects the engine and the gearbox.
3. The clutch is located between the flywheel and the gearbox.



4.As arule the clutch consists of two discs: the driven disc and the pressure
one.

5. The clutch is controlled by the clutch pedal.

6.When the clutch pedal is at the clutch discs are engaged and the running
engine is connected to the gearbox and wheels.

7. When the driver pushes down on the clutch pedal the discs are apart, the
clutch is disengaged and the engine runs idly.

Unit Seven

Ynpaxuenue S

1-3; 2-4; 3-1; 4-2; 5-5.

Ynpaxuenue 6

1. The gearbox is designed for changing the speed of the car movement.
2.The gearbox provides for forward speeds and one reverse.

3. Gearboxes can be as follows: sliding-mesh type, constant —mesh type
and epicyclic (planetary) type.

4.The sliding-mesh type is the simplest one.

5.The constant —mesh is the most widely used type.

6. The sliding gears on the gearbox shaft are designed for providing the
forward speeds and the reverse drive.

Unit Eight

Ynpaxaenue 6

1-5; 2-11; 3-1; 4-6; 5-2; 6-10; 7-3; 8-4; 9-7; 10-9; 11-8.

Ynpaxnenue 7

1-4; 2-5; 3-1; 4-3; 5-2.

Ynpaxnenue 8

1.Brakes are the most important mechanisms of the car.

2. They are used to slow or stop the car.

3. Brakes can be divided into two types, namely: drum brakes and disc
brakes.

4. Most cars use hydraulic or pneumatic driving system.

5. The brakes are applied when the driver pushes down on the brake pedal.
15

1. Brakes are used to slow or stop the car.



2. Depending on the drive brakes are classified as: mechanical, hydraulic,
air, or electric brakes.

3. Brakes are controlled by the brake pedal.

4.Brakes are applied when the driver pushes down on the brake pedal
(brake shoes are pressed against the brake drums).

5. In air brakes compressed air is used to apply the braking force.

6. Electric brakes use electromagnets to provide the braking effort.

7. Up-to —date cars are equipped with all-wheel brakes.

Unit Nine
Ynpaxaenue 8
1-5; 2-3; 3-6; 4-4; 5-2; 6-1.
Ynpaxuenue 9
1. To guide the car it is necessary to have the steering system.
2. The steering gear assembly incorporates: steering wheel, steering
column, gearing, pitman arm, steering knuckle arms and ball joints, levers
and tie rods.
3. There are different steering gears, namely: rack and pinion type,
recirculating ball type, and worm and sector type.
4. When the driver turns the steering wheel to the left or right, the steering
mechanism causes the pitman arm to turn to the left or right.
5. This movement is carried by the tie-rods to the steering knuckle arms
and wheels, causing them to turn to the left or right.

Unit Ten
Ynpaxuenue S
1. Many modern automobiles are equipped with onboard computer
systems for better automobile operation.
2. The program of such a computer has only two memories: read only
memory (ROM)and random access memory (RAM).
3.The computer software tells the computer what to do, and when to do it
in a specific sequence.
4. The program is stored in a permanent memory.
5.The microprocessor contains a ROM and a RAM.
6. Some computers have the ability to learn. This is referred to as an
adaptive memory.



AHTJIO-PYCCKUM TEPMUHOJIOTMYECKUI
CJIOBAPL-MUHUMYM

Aa

accelerate - yckopsATb, pa3roHsThH
acceleration — yckopeHue, pa3roH
accelerator pedal - negans nogaun
TOIUIMBA, NI€JaNb YIIPaBICHUs
JPOCCENBHOM 3aCIIOHKOM

access — JIOCTYIl

accessories — BCIIOMOTaTEIbHbIE
YCTPOMCTBA

achieve - nocturarp

achievement - foctuxeHue
adjustment - peryiupoBka, HaJIaJKa
aid — nomopb

all-wheel drive — noaHbIii IpuBOJ
angle — yroun

anti-lock device — anTu6I0KHpO-
BOYHOE YCTPOKUCTBO

assemble — coGupats,
MOHTHPOBATh

assembly — cOopka; arperar;
KOMILJIEKT

axial thrust — oceBas Harpy3ska
axle — ocb; MOCT

axle shafts - monyocu

Bb

back axle — 3agnuit Mmoct
balanceweight — npotuBoBeC
ball bearing cams - Kynauku

IaPUKOIOAIIUITHAKA
band brakes — jeHTOUHEBIE
TOpMO3a

bearing - o IIMITHUK
blower - xoMIpeccop, HarHeTaTeINb
body — ky30B

brakes are applied — Topmo3a
CpabaThIBalOT

brake free-wheel — Topmo3Has
MydTa cBOOOIHOTO X0/1a, OOrOHHAs
MydTa

brake pedal - Topmo3Has nenane
braking effect — Topmo3HOE
IeUCTBUE

braking force — Topmo3Hoe
YCUJINE,CUJIa TOPMOKEHHUS

bring into contact - coeuHITH
bring into operation — npusectu B
IeUCTBUE

bring the shoe into
contact—coeIuHUTH

KOJIOJKY

by means of — nocpeznctsom

Cc

caliper — n3mepsTh ITaHrEH-
LUPKYJIEM WIH HyTPOMEPOM

car wheels - Koyieca aBTOMOOMIISI
carry out — OCYILECTBIIATD,
MIPOBOJIUTD, BHITIOTHATh

catalytic converter —
KaTaJIMTUYECKUI
npeoOpasoBareib

centrifugal clutches — cuemnenue
[EHTPOOEKHOTO THIIA
centrifugal forces —
[EHTPOOEIKHBIE CHIIBI

change gear(box) — kopoOka
nepegay

chain — uensn

chassis - maccu

clutch - cuerenue



clutch pedal — nenane cuenenus
coasting - IBI>KEHHUE HAKATOM,
JBUKEHUE 110 UHEPIIUHU
coil spring live axle — Bexymuii
MOCT C IPY>KHHHBIMH peccopamu
complete — 3aBepiiaTth
component — cocTaBHas 4acTb,
y3el, OJIOK
comprise — BKIII0YaTh B ceOs
conical shape — xonuueckas
dopma
connect — COCIUHATH
consider - cuuTath, oJjiaraTh; pac-
CMaTpUBATh
consist of — cocTosTh U3
control lever - peruar ynpaBjieHUs
conveniences — yno0cTBa
conventional design —
CTaHJIapTHAS
KOHCTPYKIUs conventional
splitter — pa3garounas kopoOka,
CTaHJApTHBIN MEPEKITI0YaTEINb
nuana3oHa nepeaad
cOnveyor - KOHBeNep, TPAHCIOPT
cooling system — cucrema
OXJIAXKACHUS
couple - coequHATD, CHCILIATh
crane carrier - aBTOKpaH
crankshaft — koneHnuaThIii Bas

Dd

deal (with) - umeTh mem0 C
de-clutching - pasbenunenue
CICTUICHUS

deliver - mogaBaTh, JOCTABIATh
demands — TpebGoBaHus

dependable brakes - HaznexHbIe
TOpPMO3a

design — poeKTUPOBATH
designing — npoexkTupoBaHue
develop — pa3pabareiBathb,
COBEPIIICHCTBOBATH
development - pa3paboTka
device — ycTpoiicTBO
diaphragm spring — npyxuHa
nuahparMEHHOT O THIIA
differential - tuddepernman
disc brakes — nuckoBbie TOpMO3a
disengagement — OTKJIIOYCHHE
dog clutch - kynaukoBas my¢dra
drawback - HegocTaTok

drive — npuBoj

driven plate — BeoMbIi TUCK
driving safety — Ge3omacHocTh
BOXJCHUS (ABUKEHUS)

drum brakes - 6apabaHHbIC
TopMmo3a due to — Omarozapsi, 3a
cder

dumper — camocsan

Ee

ease of maintenance - 1erkocTtb
TEX00CTYy>KUBAHHUS

electric motor—anexkrpudecKkuit
MOTOD

electric switch — snexkrpuueckuii
[IEPEKIIIOYATEND

electric system - anexTpuueckas
cucTema

emergency situation —
aBapuitHas

CHUTyaIus



enable — nemaTh TOAHBIM,
MO3BOJISITH engage — COEJUHATD
engaged position — npu

YCTPOMCTBO
friction disc - ppuKIMOHHBIN TUCK
friction material - ppukimoHHBI

BKJIIFOUEHHOM COCTOSAHUHN

engine — /BUraTesib

engine capacity - MOIIIHOCTb
ABUT ATCIIA

engine output - BEIXOIHAs
MOIITHOCTh

ABUTATCIIA

evaporative emissions - BbIXJIOI
ra30B HCIAPEHUS

Ff

fan belt — pemens BeHTUIISITOpA
fenders - kpbuIbs

final drive - rnaBHas nepenaua
fine finish — uncroBas
00paboTKa,

JIOBOJIKA

finger - manen, mTudT

fire crash tender - noxxaphnas
texHuka first cost — HavanpHas
LIeHa

flat position — rockoe

nonoxxenue flexibility — rudkocTsb

flexible — ruOkwmii

flow of air — moTok Bo3myxa
foul the engine - 3arpsa3HaTH
ABUT'ATCIIb

four-wheel drive — nosinblit
npuBoj frame — pama

free (disconnect, disengage) -
OTCOCANHATD, Pa3bCAUHATH
friction clutch — ¢ppuxuronnoe
CILIETIJICHHE

friction device - ¢ppukimoHHOE

MaTepHuan
friction pad — ¢puxmonnas
HaKJIaJIKa

front suspension — nepenHss
M0JIBECKA

fuel consumption - pacxos TormBa
fuel system — TomIMBHAsg cucTEMAa

fuel vapors — maps! ToruBa
fulcrum - Touka onopsl, och
[mapHupa

Gg

gas (oil) mileage — mpoGer B
MUJISIX HA TaJUIOH
M3paCcX0JOBAHHOTO TOTUIHBA
gas cap — KpBbIIIKa HATUBHOM
TOPJIOBUHBI TOTUTUBHOTO Oaka
gearbox — xopoOxka nepenau
gears — IIECTePHU

generator - reHeparop

get rid of - m36aButhcs (0T
4ero-auoo)

Hh

head lamp flasher -
po0OJICCKOBBIT

MpephIBaTellb CBETa (apbl
heat-dissipation - paccesHue
(otBOJ)

Teria

heater — otonuTens

heavies - 6osbIIErpy3HBIE ABTOMO-

ounu



high efficiency — Boicokuii KII[I  input shaft — nepBuunbIii Ban

highway — tpacca, mocce installation — ycraHoBka,

hoist — 1o beMHEIN MEXaHH3M, MOHTaX, cCOOpKa

MMOJTbEMHUK instrumental panel - npuGopHbIit
hood - kanot LIUTOK, IYJAbT YIPABICHUS

horn — cupena, 3ByKOBOM CUTHaJ integral clutch and brake unit -
horseless vehicle — Oe3nomannoe  00beIUHEHHBIH OJIOK U3

TPAHCIIOPTHOE CPEICTBO CUEIJICHUSI U TOPMO3a
hydraulic pressure — intend — npegHa3zHayaTh
TUAPaBINYECKOE JaBJICHUE intercity bus - ropoackoi
hydraulic pump - rugponacoc aBTOOYC internal combustion
hydraulic system — engine — ABUraTe)b BHYTPEHHETO
TUApPABIMYECKAs] CUCTEMA CropaHus
hydromantic converter - inventor — u3o0peraTens
TUIPOTpaHCHOpPMATOP

Kk
Li

kick — ymap, Toyruok
ignition system — cucrtema kick down - ynap, Touok
3aKUTAHUS knob — kHomka
impeller - HacocHOE KOJIECO
improve - ynydinars, LI
YCOBEPILIEHCTBOBATh
improvement - laboratory test - cTeH10BBIC
YCOBEPILIEHCTBOBaHUE in UCIIBITaHUS
conjunction with — B coueranun  leading shoes — Benymue
C ... in other words — npyrumu TOPMO3HBIE KOJIOIKU
CJIOBaMH leaf spring - nucroBas peccopa
include — BxirO4YaTH level — ypoBeHb
increase - yBeJIM4MBaTh, lever — pykosiTka (pbryar)
noBeimath indicator lever - peraar  lights — dapsr
WHJIMKATOpA, lining - Hakanku, oOMBKa
yKazaTels link - coequuaTh
inhibitor - uarn6urop, load deflection - mporu6 non
3aMeJTuTeNb inner portion - JICICTBUEM Harpy3Kku
BHYTpEeHH:A 4yacThb inner shaft - loader — aBTOnOrpYy34MK
BeJlyLIUH (IIPUBOIHON) Ball lock-up clutch — G10kupoBOUHAs

Mydra



long service life — nonruii cpox
CITYKOBI

lose of clamp load — noreps
(ociabneHne) CKUMAFOIICH
Harpysku loss - nmorepst

low road noise - He0OIBILION TITYyM
npu

€3/1€ 10 Jopore

lower gear — noHwxaromas
nepegayda

lubricate — cma3biBatTh
lubricating system — cucrema
CMa3KH

lubrication system - cucrema
cMa3Kku lug — KpOHIUTENH, 3aKUM,
KyJaK

Mm

machine tool — cranok
maintenance - TEXHUYECKOE
00CITy’)KHBaHUE U PEMOHT

manual override - pydaHoe
yHrpaBJICHUC aBTOMAaTHYCCKHA
YIPABJISEMON CUCTEMOM
manufacture — Ipon3BOAUTH
manufacturing — mpou3BoACTBO
manufacturing processes —
IIPOU3BOJICTBEHHBIE ITPOLIECCHI
mass manufacturing — maccosoe
IIPOU3BOJICTBO

meet up-to-date requirements —
OTB€YaThb COBPCEMCHHBIM
TpeboBanusM multi-disc device —
MHOTOJHMCKOBOE

YCTPOMCTBO

multiple-speed gearbox —
MHOTOCTYIIEHYaTasi KOpoOka
CKOpOCTEH

Nn

natural bias — ectecTBeHHbBIE
cMenieHus (CIBUTH)

Oo

obtain - moay4ars, TOOUTHCS
octane rating — OKTaHOBOE YHUCJIO
off-road travel - e31a no
0e310poxkbIo oil circuit —
3aMKHYTBIM IOTOK Maciia one-way
free-wheel - mydTa cB0OO0IHOTO
X0Jia operating

cylinders - paboune IUIMHAPHI
operation

flexibility - ru6kxocTs B padote
outer shaft - BeixomgHon
(BTOpUUHBIIT) Bal

overload safety valve -
MIPEeIOXPaHUTENBHBIN KIIaNaH Py
neperpysKe overrun —
IIPEBBIIICHUE HOPMATIbHON
CKOPOCTH

Pp

park brake — mapkoBouYHBII
(CTOSIHOYHBIN) TOPMO3
performance - paGouas
xapakrepuctuka, KI1J]
permit — 1o3BoJIATh, 1aBaTh
BO3MOKHOCTb



pivot — ocb BpallleHus, apHUp,
IMOBOPOTHBIN IKBOPEHB

possess — o0J1agaTh, IMETh
power output — BbIXOJHAas
MOIITHOCTb

power plant — cuitoBoii arperat
power train — cujoBas nepenaya
(TpaHCcMHCCHS)

power-shift gearbox — kopoOka
MEePEKITIOYEHUs ITepeayd
pre-determined engine speed -
pacueTHbIe 000POTHI JBUTATEIS
pressure plate — Ha)XUMHOM AUCK
prevent — peaoTBpallaTh
propeller shaft - kapraHHBI Baj
propulsion output — MOIIIHOCTH
CUJIOBOW YCTAaHOBKH (JIBUTATEIS)
provide — oOecneunBaTh

push down on the pedal —
Ha)KMMaTh Ha Meaalib

Qq

questionnaire — onpoc
quiet-running power unit —
OecIIyMHBII CUIIOBOH arperar

Rr

racing car - TOHOYHBIU
aBTOMOOMIH rack and pinion
steering - pyJIeBOI MEXaHU3M C
PEUKOM M IECTEPHEN, pEEUHOE
yIIpaBJICHUE

rapid — ObICTpBII

ratio — cooTHoOIIIEHHE,
MepeaTOYHOE YHUCIIO

reaction member - peakTUBHBII

AJIEMEHT
rear axle — 3agHuii MOCT rear
suspension - 3aJ{Hss TTOJIBECKA
reduce — cokpalaTrh, IOHHUXKAThb
release - pasbeIMHEHUE,
pacuenseHue

release lever - ppryar OTKJIIOYEHUS
(oTcoeauHEeHMs)

release ring — pasbenuHsIOLIEE
KOJIBLIO

relief valve —
IIPEJOXPAHUTEIIbHBIN

KJIanmaH

require — TpeboBaTh
requirements — TpeOoOBaHM
restrict — orpaHM4YMBaThH
retaining ring - yaepusaroniee
(cTomopHOE) KOJBIIO

retard — 3aMeIATh, TOPMO3UTH
reversing gearbox - kopoOka
nepeaay 3aiHero Xo/a,
PEBEPCUBHBIN MEXaHU3M

rigid — xectkuit

rigid quality control - xecTkuit
KOHTPOJIb Ka4eCTBa

rim — 0001, 3y04aTbIii BEHEI]
road travel - e31a o gopore
rotary motion - BpaiaTejibHOE
JBIX)KECHUE

Ss

separating clutch -
paszpeauHsIomas MyQra

shock absorber — amopruszarop
shoes - kos0Ku (TOPMO3HEIE)
silent gearbox — OecirymHas
KOopoOka nepeaay



single row engine - psaHbIi
JBUTATENb (PAIHOE PACTIONOKEHHUE
LUJIUHIPOB)
skid-steer drive system - cucrema
yIIpaBJIeHUs, IPeIycMaTpPUBAOLIAs
IIPOCKaJIb3bIBAHUE KOJIEC
slot — ma3, kaHaBka
smooth-acting clutch - nnaBHOe
CLIEIIEHHE
smooth engagement-ruiaBHoe
BKJIFOUEHHUE
spare wheel-3anacnoe xomneco
spiral bevel
differential-muddepen-
1[MaJl ¢ KOHUYECKUMHU LLIECTEPHAMU
Springs- peccopbl, IPyKUHBI
steering system- crcrema pyjieBoro
yIIpaBJICHUS
steering wheel-pyieBoe koiieco
suit requirements-oTBe4aThb
(cooTBETCTBOBATH) TPEOOBAHUSAM
synchromesh gearbox-xopo0Oxa
nepesad ¢ CHHXpOHU3aTOPOM

Tt

tailpipe-xBocToBas yacThb;
BBIXJIONTHAs TpyOa

take advantage-BocCIIonb30BaThC
[IPEUMYILECTBAMU

trust assembly- TsaroBsIi y3en
torque-kpyTAIKUi MOMEHT
torque capacity-Hecymas
CIOCOOHOCTH Nepeiaun 1o
KpyTAIIEMY MOMEHTY

torque converter-npeo6pa3oBareib
KpYTSILETO MOMEHTA,
THIPOTpaHCHOpMATOp

tracked-ryceHn4HO€E TPAaHCIIOPTHOE
CPEACTBO

tractive effort- Tsarosoe ycunue,
CHJIA TATH

tractive unit-TArosslii arperar
traffic lights- ceetodop

trailing shoes-senymnue BTopuunsie
TOPMO3HBIE KOJIOJIKH

transfer gearbox-pasnarounas
KOpoOKka

transmatic torque converter
—aBTOMATHYECKHI ITpeoOpa3oBarTenb
KpYTAILIEro MOMEHTa
truck-rpy3oBuk

two-speed wipers-IByXCKOPOCTHbIE
CTEKJIOOYHUCTUTENIN

Uu

units and mechanisms-y3ibl
(arperatbl) 1 MEXaHU3MBbI

Vv

valve-kiamnaH

vehicle -TpanciopTHOE CpPEACTBO
V-type engine-V-00pa3Hblit
JBUTATEIb

Ww

wear-u3HoC, aMapTu3alus
wheeled vehicle-konecHoe
TPAHCIIOPTHOE CPEICTBO
wheels-koneca

windshield wipers-
CTEKJIOOUHUCTUTETU BETPOBOTO
cTeKIIa

work out-pa3pabaTbiBaTh
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